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 �� ��

��  �
� /�����A0 1����
0 ��� '��-*4

/����� �" ����!#��

��� �	��
	����� �� *������� 8 ���
	�� : ��� ��������� �� ���  
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A��� ��� ���� 
  ��� �	��
	����4

1	��
�� ��� 	�� 
  ��� �	��
	����4

����� 1
���� ��� ����� �
���� �
 ��� �	��
	����4

������
� ��� ����
�.555 ������
� 
���	��� ��

��� ��+	����  
� ���� ����� �
���4  B�C
��� B'C �������� ��� �� ��� '����������4

/�����A � ��������� 
� !������ 
� �
� ��� �	��
	���� �� ��

��
� �� /�����A�>>4

1����
 � ��������� 
� !������ 
� �
� ��� �	��
	���� �� ��

��
� �� 1����
4

1��������� �� �6�
�����
� 
  ��� �����������  
�� ��� ,�
	�4

���	
� ��� ���� 
  ���	
� ��� ��� ��������� 	��� 2�  ���3 !���� ��� ���	
� �� ���	����4

���
�� � �	����� 
  ��� ���
� �
�����
�� ���
���� �� ��� �	��
	����4  ���
�� ������
���� �� �6�����
 �� ������� ��� �
� ���������4  �� �� �
 ��� #$����% && �
��

�
��
 ������0 ���� �	���� =7?8��=555.0  
� � �
�� �
��
��� ����	���
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	����� ���� ��� ��
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	����4
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A
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��" ������ ��� �
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  ��� �� ��� '����������  �
� ���� 
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���	����4

����� 
1
����" �'��D

������
�" JSB ABREG 
DEF *+3 
DEF IA 
DEF IB 
<Return>

/�����A" CALL ABREG (IA,IB)
IA <–– AREG 
IB <–– BREG

1����
" *�

��
�

���
��" A
��

�6�����
 
�� �������" A
��

A
�� ���� ��� /�����A �
���
�� 2�� 
  ��,���
� :5.53 ���
���M�� �'��D ��� ����� ��� -�
��� ��' -' �������4  -� ��� -' �	�� �� ������ ��������� 2���� ����
� �� �	��������� �����
�
������34
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1
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������
�" EXT ER0.E
.
.
.
LDA LU TO CHANGE THE LU, USE THIS CODE
STA ER0.E 
<Return>

/�����A" A
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��
�
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" A
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��" A
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� ��������4

�����
1
����" ���%<

������
�" JSB ERRLU 
DEF *+2 
DEF NEWLU

/�����A" *�

��
�

1����
" *�

��
�

���	
�" A
��

���
��" A
��

�6�����
 
�� �������" ��54�

A
���" -  ���%< �� ��

�� !��� � �	���� V 50 ��� %< �� �
� �������4  -  ��� %< ��
������� �
 50 ��� ������ �������� ���
� ��������4  2A
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����� 

1
����" ���5

������
�" LDA nn
LDB xx
JSB ERR0
<Return>

/�����A" A
� ��

��
�

1����
" A
� ��

��
�

���	
�" 1������

���
��" A
��

�6�����
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1	��
��" ����� /�����A �	����� ���
�� �
 	��� �� ���� �	��
	�����4

�����

1
����" /���10 ����1

������
�" EXT TRAP 
EXT FTRAP 
JSB FTRAP 
DEF *+2 
DEF TRAP 
<Return> A,B,=old TRAP value

/�����A" *�

��
�

1����
" �6�����
 ���� 

Call FTRAP(TRAP)

���	
�" /
� � �	����� ���
� �
���

 ����� ��� �
 � 	��� �� ���� �	��
	���� ���14
)� ��� ���1 ��  



!�"

SUBROUTINE TRAP (ABREG,PREG) 
INTEGER ABREG(2),PREG(2) 
   : 
   :   TRAP handling code   

!����"

\\\�'��D �� � �!
�!
�� ���
� �
�� ���� �
������ �� ��*--
������ 
� �	���� 2��� ��

!34

\\\1��D2.3 �� ��� 

����
� 
  ��� ���
� 21���������34

\\\1��D273 �� ��� �
�� ������� �	���� 2�. �  ���
� ��  
	��
�� ���� �����34

��� ���	�� ,�
	�� ���  �
� ��� ����;4  ��� ���� ��� 
� ��� 1��D2.3 ���������
���� ��� 

����
� �� �
� �� ��� �	����� �������4  ��� ����; ,�
	�  
� ��� �
��
������� ��  �
� G@8 ��� �� �� ��� ���� ? ���� 
  1��D2734

A
���" &
	 ��,� �!
 
���
�� !��� �
	� ��
���� �6��� ���� �	��
	����4  &
	 ��� ������
���	�� �
 
�� ��� �������� ���
� ��� � �	����� ���
� ������� 
� �
	 ��� ���� �
�
�� ��� �	����� ���
� �� ��
���� �� �� ]�'��D�4  2���
�� ��� ������� 
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��54�43
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D�
	�� . ��� 8 �'��D �
������ ��� ��*-- ������ 2	� �
  
	� ����������3 
 �
� ��� 
������ �	��
	���� ���
� ���
� �� �������6 � 
  ��� 
#$����% && �
�
�
��
 ������4

D�
	� 7 �'��D2.3 �
������ �� 	��
�,����� �	����4  �� �� �
 ��� 
�	����� ���
�� ���
� �� �������6 � 
  ��� #$����% && 
�
�
�
��
 ������4

!����"

^D�
	� . N ��� 
������ ���
��4

^D�
	� 7 N ��� -�� ��� ������ ���
��4

^D�
	� 8 N ��� ��/ ���
�4

�������� ���
� ����
��� 	���� ���5 �
����	� ��� ��
���� � ��� D�
	� .
���
��0 ������� �N'N54

D�
	� 7_8 ���
�� �
���

� ��������� ��� ��
���� � ��� ��� ���
� �� �������4

�
�� D�
	� 7_8 ���
�� ��� �� ������� �� 
�� ���� ��� �
 ���1 �� 	���� ��� 
��� ��� ��/ 
���
�� 
  ��� /�����A ���)�H�-�� ����������4

&
	 ��� ������ ��� ���1 ������� �� 
 ��� �� �
	 ������4  &
	 ��� !��� �
 
��,� �� 
� ����� �
 � �	��
	����0 ��� � ��  ����� �������0 ��� ���� ����
�� ��� 


� �������4  2��� ����1 ��

!43

��� ��K�� �
	����  
� �
�� �����
� 
� �
! �
  
���� ��� ����� � �	������ 
���
�4

���
��" A
��

�6�����
 

�� �������" ��54�

�=�����K

External TRAP 
INTEGER*4 FTRAP,RTRAP,intrap ! RTRAP is the restore
  :                          ! TRAP routine. 
itrap=FTRAP (trap)           ! Old TRAP is saved in
  :                          ! itrap (a double integer)
CALL RTRAP (itrap)           ! Restore the old TRAP
Return
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 ����1 25F34
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� ��� �
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*�	��
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����� ��� ���1 �
	����0 ��� �
	���� ���� ��

� /���10 ��� ���
�
	���� ���� ���
���� ���1 �� �E���A�% �	�� �

 �� �� ��� ���� �����0
������ *
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� � ��
����� �
����� ������ ��
���� ����4

����� 

1
����" D����

������
�" JSB GETST 
DEF RTN 
DEF IBUF 
DEF ILEN 
DEF ILOG 
RTN 
.  
.  
.  
IBUF BSS  n 
ILEN DEC  n 
ILOG NOP 
.

/�����A" *�

��
�

1����
" *�

��
� 2��� ����
������ 1����
 	����� ���	�
  
� ���������
��43
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�� �������" �E�*0 4�A�10 4L1��
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�
" D���	������� 2���� ���	�
3S �E�* .9 2�
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��	
����
��� �
�
�
��
 ������0 ���� �	���� =75>>�=555>'S �*1�� 
2�
�	������ �� ��� #$����% && �
�
�
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 ������0 ���� �	���� =7?8��=555.'4
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  � ���
�� �������4  -ED�� 	��� ���
������ ���4

����� 

1
����" -D��0 -ED��

������
�" JSB IGET        
� JSB IXGET 
DEF *+2 DEF *+2 
DEF IADRS DEF IADRS 
<Return> (results in A) <Return> (results in A)

/�����A" *�
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� �� �  	����
�

1����
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���	
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  ���
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A
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� �
�� �������4
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����� 

1
����" -A���

������
�" JSB INAMR 
DEF *+5 
DEF IPBUF 
DEF OUTBUF 
DEF LENGTH 
DEF ISTRC 
<Return>

/�����A" *�

��
�"
if (INAMR (IPBUF,OTBUF,LENGTH,ISTRC) .LT. 0) GOTO 10

1����
" *�

��
� Z

1���������" -1'</ �� ��� ����!
�� ���	� ��������� �	  ��4  ��� ��� !
��� ��� ��������� 
��  
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��� �����2�3 �  ���� N 84

H
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� .S 
����� : ��� � 
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H
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A
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-1'</4

IPBUF W1   W2  W3      W4  W5   W6  W7  W8   W9    W10   OTBUF 

  1  12345  0   0  00001B   0    0   0   0    0      0 = 12345, 
  2   DO   UG      00037B  DB  –10   0   0    0      0 = DOUG:DB:–10,
  3    0    0   0  00000B   0    0   0   0    0      0 = , 
  4   GE   OR  GE  00017B   A    0   0   0    0      0 = GEORGE:A, 
  5   &P   AR  SE  12517B  JB    0   4  –1 1775 –22738 = &PARSE:JB:: 

                                                             4:–1:1775: 
                                                             –22738,

������ �������

FTN,L 
     PROGRAM testi 
     DIMENSION ib2(18),ib1(36),ipbuf(100) 
     CALL RMPAR(ib1) 
     lu = ib1 
     IF (lu.EQ.0) lu = 1 
   1 WRITE (lu,100) 
 100 FORMAT (”Input ASCII namr’s to parse ?”) 
     READ (lu,101) ib1 
 101 FORMAT (36A2) 
     CALL ITLOG(len) 
     IF (len.EQ.0)STOP 77 
     ISTRC = 1 
     NCHRS = 0 
 200 IFLG1 = NAMR(ipbuf,ib1,len,istrc) 
     IF (IFLG1.LT.0) WRITE (LU,206) 
 206 FORMAT (”namr out of data”) 
     IFLG2 = INAMR(ipbuf,ib2,36,nchrs) 
     IF (iflg2.lt.0) WRITE (lu,207) 
 207 FORMAT (”inamr out of buffer”) 
     IF(iflg1.LT.0.or.iflg2.LT.0) GO TO 1 
     CALL EXEC (2,lu,ib2,–nchrs) 
     GO TO 200 
     END 
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�" EXT IND.E 
LDA LU 
STA IND.E 
<Return>
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�" JSB ISSR 
DEF *+2 
DEF n 
<Return>

/�����A" CALL ISSR(n)
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JSB ISSW 
<Return> (result in A)
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JSB IEOF ���	��� � ������,� ,�
	� �� � �  �� ����
 � �
� !�� 
DEF *+2 ���
	������ �	���� 
��� ���� 
������
� 
� ��� 
DEF unit 

����
 	��� ����� ���4 
Return

JSB IERR ���	��� � ������,� ,�
	� �� � �  � ������ 
� ������ 
DEF *+2 ���
� !�� �
� �
����� � ��� ����� ���� �������� 
DEF unit �	���� ��� 
��� 
������
� 
� ��� ����� ��� 	��� 
Return 2����
� 
��	� �  ��/ 
��	��34

JSB IEOT ���	��� � ������,� ,�
	� �� � �  �� ����
 ����� !��
DEF *+2 ���
	������ �	���� ��� 
���  
�!��� �
,����� 
  ���
DEF unit ����� ��� 	���4
Return

JSB ISOT ���	��� � ������,� ,�
	� �� � �  ��� ������
 ����� 
DEF *+2 ���;�� �� 	���� ��� ���� ���� 
  ��� ����� ��� 	���4
DEF unit
Return

JSB LOCAL ���	��� � ������,� ,�
	� �� � �  ��� ����� ��� 	��� 
DEF *+2 �� �� 

��
 �
��4
DEF unit 
Return

JSB RWSTB ��!���� ��� ����� ��� 

����
 	��� ��� ���� �� �
 %�*�%4
DEF *+2
DEF unit 
<Return>

/�����A" *�

��
� �� � �	��
	����

1����
" *�

��
�

���	
�" A
� ���
����
�

���
��" ���	��� 
� �

���
 ��



�6�����
 
�� �������" 4�A��0 �E�* 
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	���

1	��
��" ���� �� ���	� �	  �� 
  ��� 
�����0 ����� ��� �	  �� ��
������ �� �


�� �� �� �
 �
� ����0 ��� ��
�	�� � ��������� �	  �� 
  .5 !
���4

�����
1
����: A���

������
�" JSB NAMR 
DEF *+5 
DEF IPBUF 
DEF INBUF 
DEF LENGTH 
DEF ISTRC 
<Return>

/�����A" *�

��
�"
If (NAMR (IPBUF,INBUF,LENGTH,ISTRC) .LT. 0) GOTO 10

1����
" *�

��
�

1���������" -1'</ �� ��� .5�!
�� ���������
� ��������� �	  ��4  ��� ��� !
��� ��� 
��������� ��  



!�"

H
�� . N 5 �  ���� N 5 2��� ��

!3S
.����� �	���� �  ���� N .S ��� 
����� . ��� 7 �  ���� N 84

H
�� 7 N 5 �  ���� N 5 
� .S 
����� 8 ��� 9 
� ����
��� �����2�3 �  ���� N 84

H
�� 8 N 5 �  ���� N 5 
� .S 
����� : ��� � 
� ����
��� �����2�3 �  ���� N 84

H
�� 9 N 1�������� ���� 
  �

 ��,�� ���������� �� �!
���� �����4
A
�� ��� ��  ������ ���!��� -A��� ��������� ����� ���
��
��  
� ��� ������ 
������ �
	���� 1����4

5 N A	

 ���������4

. N -������ �	����� ���������4

8 N %� � T	��� ��� � ��*--���������� ���������4

'���  
� /A��� " 1. " 17 " 18 " 19 " 1: " 1�0 

50.   708  90:  �0>  ?0=  .50.. .70.8   

H
�� : N /���� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4

H
�� � N ���
�� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4

H
�� > N ����� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4
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H
�� ? N /
	��� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4

H
�� = N /� �� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4

H
�� .5 N ��6�� �	����������0 �� ��
������ �� �


�� ��� ���
��������������� 
  !
�� .4

-A'</ �� ��� �������� ������� 
  ���	� �	  �� �
�������� ��� ���� �
 �� 
������4

%�AD�$ �� ��� �	���� 
  ���������� �� -A'</4

-���* �� ��� �������� ��������� �	���� �� -A'</4  ���� ��������� �� 
	������  
� �
����
� ��6� ��

 �
 A��� ��� ��� ����� ��������� 
�� -A'</4

	��� -���* �� �
�� ��� �� ���� �
	����S �� �	�� �� ������ �� � ,�����
� 2�
� � �
��
�����3  �
� ��

�� 2/�A34

���	
�" A��� N O. -  �
 ���������� ��� �� -A'</4

A��� N  5 -  ��� ��������� ������ ��� ���� ������4 2��� A
��43

���
��" A
��

�6�����
 

�� �������" 4�A��
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A
���" �6���
�� ���� ��� �� ������ �� �	������,� ��

� �
 A���"

    +12345, DOUG:DB:–12B:,,GEORGE:A,&PARSE:JB::4:–1:1775:123456B

!����"

    NAMR#   W1   W2   W3      W4  W5   W6   W7   W8   W9    W10
     1    12345   0    0  00001B   0    0    0    0    0 
     2      DO   UG       00037B  DB  –10    0    0    0      0 
     3       0    0    0  00000B   0    0    0    0    0      0 
     4      GE   OR   GE  00017B   A    0    0    0    0      0 
     5      &P   AR   SE  12517B  JB    0    4   –1  1775  –22738

������ �������

FTN7X,L 
        PROGRAM testn 
        DIMENSION ib(36), ipbuf(10) 
        WRITE(1,’(”Input ASCII namrs to parse?”)’) 
        CALL EXEC(1,401B,ib,–72) 
        CALL ABREG(a,len) 
        iscr = 1 
        DO i=1,10 
           IF (namr(ipbuf,ib,len,iscr) .LT.  0) GOTO 999

           WRITE(1,220) iscr, ipbuf, ipbuf
        END DO 
   220  FORMAT(” ”/I3,10(X,I6)/” ”3A2,7(X,O6))
   999  STOP
        END

��� �
�
 $�L1���� ��� $�L)1����4
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��/

1	��
��" ���	�� ,�
	� 
  
,�� 

! ��� �� ��� .: 
  ��� ���������� ��� �
��� ��� 
,�� 

!
���4

����� 

1
����" ��/

������
�" JSB OVF 
DEF RTN 
<Return> (result in A)

/�����A" *�

��
� 2��� A
���3

1����
" *�

��
�

���	
�" -������ �� �

���
��" A
��

�6�����
 
�� �������" A
��

A
���" Logical *2 OVF
IF (OVF( )) Then
  overflow was set
Endif

/�����A �
�� �
� �
��� ��� 
,�� 

! ��������0 �
 �� 
�� 	���� ���� �
	���� �

����  
� 
,�� 

!0 �� ��
	
� �� ��

�� ���
� �
 ��� �
�� !���� ��� ��� 
,�� 

!0
	�
��� ���� �
�� !�

 �
�
 �
��� ��4  2�� �� �
 �
	� *1< �� ������ ���	�
��
���������
�  
� ��� �����	���
�� ��,

,��43

A
�� �
�
 ���� ��� ����
� �������
� ������� �1& �����	���
� ��,�� ���� 
,�� 

!0
2�	� ���	��� � P9 �������3S �
� �
�� ��� �
���
�� ����;  
� 
,�� 

! !��� ��
��	������ P9 �������� �
 P7 ��������4
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�*>�

1	��
��" <��� �� 41�<� ��� 4���1 �
	����� �
 ��
��� %< 
� !���� �
 
	��	� ��	��
�������4  )� �	
� �� %< .S � 5 �������� ������� 2�
� ���
�������34

����� 

1
����" 1�<4�

������
�" EXT PAU.E 
LDA LU 
STA PAU.E 
<Return>

/�����A" A
� ��

��
�

1����
" A
� ��

��
�

���	
�" A
��

���
��" A
��

�6�����
 

�� �������" A
��
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	���

1	��
��" *
���� ��� �	����� ���� 
  ��� �	�����
� �6��	���� ��
����  �
� ���
��
������ -) ������� �
 � ����� !
�� �����4

����� 
1
����" 1A���

������
�" JSB PNAME
DEF *+2 
DEF IARAY

V���	��Y

IARAY    BSS 3

/�����A" CALL PNAME (IARAY)

1����
" *�

��
�

���	
�" ��*-- ����������

���
��" A
��

�6�����
 
�� �������" 4�A��0 #�1�&

A
���" ��� ��6�� ��������� �� ���	���� �� �� ��*-- �����4

������ �������

PROGRAM prnam 
DIMENSION iaray(3) 
CALL PNAME (iaray) 
WRITE (1,100) iaray 

100 FORMAT (”  Program ”,3A2,”executing”)
     STOP 
     END
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�
�

1	��
��" 1
����
� � �������� ���� 	��� �� �������  
�!��� 
� ���;!��� � �	���� 
   �
��
����
� ���
���4

����� 

1
����" 1��1�

������
�" JSB PTAPE
DEF *+4
DEF logical unit
DEF file count (see notes)
DEF record count (see notes)
<Return>

/
� �6���
�"

5 N ��;� �
  �
� �
,������4
O. N '��;����� �
 ��� ��������� 
  ��� �	�����  �
�4

. N /
�!��� ����� �
 ��� ��������� 
  ��� ��6�  �
�4
O7 N '��;����� �
 ��� ��������� 
  ��� ���,�
	�  �
�4

���
�� �
	��" 1
����,�  
�  
�!���0 ������,�  
� ���;!���4

���  �
� �
	�� �� �6��	���  ����0 ���� ��� ���
��
�
	�� ��/ ���;� �
	�� �� � ���
��4

/
� �6���
�"

50O. N �
,� ���; 
�� ���
��4

O.05 N '��;����� �
 ���  ���� ���
�� 
  ��� �	�����  �
�4

��� A
���4

/�����A" CALL PTAPE (LU,file count,record count)

1����
" *�

��
�

���	
�" A
��

���
��" A
��

�6�����


�� �������" �E�*0 4�A��

A
���" � ��� 	���� 1��1�0 �
!��� ����; ����	� !��� ��D�14
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��
��

1	��
��" �
,�  �,� ����������  �
� ��� ��
������ -) ������� ���
 � �	  �� !����� ���
��
���� ���
�� �����4  <��� �
 ������,� 	� �
  �,� ���������� ������ �
 �
��
���� �� ��� 
�������� ������ 2��� A
���34

�����
1
����" ��1��

������
�" Suspend call or program entry point
JSB RMPAR 
DEF *+2 
DEF ARRAY 

V���	��Y
ARRAY BSS 5

/�����A" *�

��
�

1����
" *�

��
�

���	
�" -������

���
��" A
��

�6�����
 
�� �������" #�1�&

A
���" .4 ��� 
�������� ������ ������� ���������� ���
 � ��
������ -) ������� �� �
���	
� 
 "

�4 �A0 D�0 ��� 
����  	����
�� �� ��� 2�� �� �
 ��� ����
������ ��� 
���	�
  
� 
����  	����
�� 
  ���� ��

34

�4 1�
���� �6��	��
� 
  �� �E�* �����	
� ��

4

74 ��� ��1�� ��

 �	�� 
��	� �� 
�� ��� �E�* ��

 
� 
���� �	��
	���� ��


���� ��

� �E�*4

84 �
�
 	��� �
 ������,� ���������� � ��� � �
� ��
���� ����������0 ��� �
 ���
��� �6������ ����	�  



!��� -�� ��

�4  �� �� �
 ��� ����� 
�  ��������
��	
����
��� �
�
�
��
 ������(

�������

                FTN7X,L 
                      PROGRAM test 
                      DIMENSION ibuf (5) 
                      CALL RMPAR (ibuf) 
                             or 
                      PAUSE 
                      CALL RMPAR (ibuf) 

��� �
�
 �E�* .9 ��� 1��A �� ��	
����
��� �
�
�
��
 ������0 ���
D���	������� �� ���� ���	�
4
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�
���

1	��
��" �
  
���� ��� ����� � �	������ ���
�4

����� 

1
����" ��K��

������
�"

/�����A" CALL RT_ER (ABREG,PREG) 

                  
� 

CALL RT_ER (ABREG)

<�� ��� ���
��  
�� �
 ����� � �	������ ���
�  �
� ��� �	����� 

����
�4  ���
/���1  
� �
������ 
  �'��D ��� 1��D4

1����
" *�

��
�

���	
�" 1����� � ]�<A �-��� ���
� ������� 
� ]��54��4  �� �� �
 �������6 � 
  ���
#$����% && �
�
�
��
 ������  
� ��� �������  
����4

���
��" ��� /���10 ����1  
� �����
�4

�6�����
 

�� �������" *)� �����
�"  4�A��0 ��54�0 `���50 *�)�U)���K�A�A

A
��*)� �����
�"  4�A��0 ��54�0 ��54*0 1A���0 �E�*0 ��54�
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+��+6 
+���

1	��
��" ����� �!
 �	��
	����� ����	�� ��� ���	�	
���� ��  ������� ���!��� ���
������� ��� ����
	� ��

�4

����� 

1
����" ��4-A0 ��4�<0 �-��-0 �-���

������
�" JSB TM.IN 
DEF TMARY 
<Return> (All registers preserved) 
:                       ! routine to be timed goes here

JSB TM.OU 
DEF TMARY 
<Return> (All registers preserved) 
: 

TMARY DEC 0,0,0,0,0

/�����A" INTEGER *4 TMARY(3) 
: 

TMARY(1)=0J 
: 

CALL TIMEI(TMARY) 
:                       ! routine to be timed goes here

CALL TIMEO(TMARY3

1����
" *�

��
�

���	
�" � ��� ���� ��� 
  ��

� ���  ���� �
����� 
  ����&0 � �!
 !
�� ������� ����
�����0 ��,����� �� ��� �	���� 
  .5�� 
  ��

����
��� ���!��� ��� �!
 ��

�4

���
��" A
��

�6�����
 

�� �������" 4�A��0 #�-��

A
���" &
	 ��� ��

 ����� ���� 
  ��

� �� 
 ��� �� �
	 
�;�0 �	� �
	 ��
	
� ��

 ���� ��
��� 
���� ��,��4  '� ����� ���� ��  ����� ]����&� ������0 �
	 ��� ;��� ���� 
�
��,���
 �,���� �� 
���4

������
� ��

� ������,� �

 ���������S /�����A ��

� �
 �
�4

��� ��� �
���������0 �����0 ����������0 ��� �-��/ �
	����� �� *������ > 
 
���� ���	�
4
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>�	
� �#5 >�	
	

1	��
��" ����� �� ��� ��	� ������� 
  ����������  �
� � ��

��� ��+	���� ���
 �
�	��
	���� ��� ��T	�� ���	�� ��������� �
 ��� ��	� ���	�� �
���4

�����

1
����" 4�A�*0 �A�A

������
�" .ENTN same as .ENTR
.ENTC same as .ENTP

/�����A" *�

��
�

1����
" *�

��
�

���	
�" �������

���
��" A
��

�6�����


�� �������" 4L1��

A
���" ���� �
	���� ���	��� ��� �	��
	���� ��

 �� 
  ���  
��"

JSB SUB
DEF �. 2 ���� ���������3
4
4
4
DEF ��

��� �	���� 
  ��������� ��������� ���	�

� ������ �� ��� ��

��� �
	���� �	��
����� !��� ��� �	���� ��+	����� �� ��� �����,��� �
	����4

��� ��� 4�A�� ��� 4�A�1 !����	��  
� ��

��� �
�,����
��4
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>�	

 �#5 >�	
�

1	��
��" ����� �� ��� ��	� ��������� 
  ��� ����������  �
� � ��

��� ��+	���� ���
 �
�	��
	����S ��T	�� ���	�� ������� �
 ��� ��	� ���	�� �
���4

����� 

1
����" 4�A�10 4�A��

������
�" /
� �

 	��
��� �
	�����"

             EXT .ENTR

PARAM1 NOP
PARAM2 NOP
.
.
.

PARAM NOP

SUB NOP
JSB .ENTR
DEF PARAM1
<Return Pt>

LDA PARAM1   D�� ��� ������� 
  � ���������

LDB @PARAM2  D�� ��� ,�
	� 
  � ���������
 .
 .
 .
STA @PARAM2  1��� ���; � ,�
	�
 .
JMP @SUB     �6�� ��� �	��
	����
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/
� �

 ���,�
���� �
	�����"

P1 NOP
P2 NOP
P3 NOP
 .
 .
 .
Pn NOP

PSUB NOP
JSB $LIBR
OCT 0
JSB .ENTP
DEF P1

  1��,�
���� �
��

JSB $LIBX
DEF PSUB

/
� �

 ��������� �
	�����"

TDB NOP
ABS Q+N+3

RETURN NOP
SV1 NOP
SV2 NOP
SV3 NOP
 .  .
 .  .
 .  .
SVq NOP
P1 NOP
P2 NOP
P3 NOP
 .  .
 .  .
 .  .
Pn NOP
RSUB NOP

JSB .ZRNT
DEF EXIT
JSB  .ENTP
DEF P1
STA RETURN
 .
 .
 .

EXIT JMP @RETURN
DEF TDB
DEC 0
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/�����A" *�

��
�

1����
" *�

��
�

���	
�" �������

���
��" A
��

�6�����
 

�� �������" 4L1��

A
���" .4 ��� ��	� ��������� ������� �� ���������� �� �
��������� �

 ��������
�� �������4

74 4�A�� ��� 4�A�1 ���	�� ��� �	��
	���� ��

 �� 
  ���  
��"

JSB SUB
DEF *+m+1  2� N �	���� 
  ����������3
DEF �.
4
4
DEF ��

-  � Y �0 ���� � ���������� ��� ������4  -  � Y �0 ���� � ���������� ���
������0 ��� ��� ��������� ��������� �
� ������ ������ �� ���� !���  �
�
��� ���,�
	� ��

4

84 B1���� '�� �C �	�� ������ ���������
� �� 
�� ��� �	��
	���� �����
�
��� B�<' A�1C4  ��� ����� �
��� �� ��� �
 ��� ���	�� ������� 
2)�/ P@�@.34  BF�' 4�A��C �	�� �� ���  ���� �����	���
� � ��� ���
�	��
	���� ����� �
���4  BF�' 4�A�1C �	�� �� ��� ����� �����	���
� � ��� ���
�	��
	���� ����� �
���4
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1	��
��" 4/�<- �
������ ����� ����� �
���� �
�����
����� �
 ����� �
�,����
�
��
���	��� �� ��� /�����A  
�������"

4/�<- *
�,��� �� ��*-- ����� ������ �
 �������


�	�����  
��4

4/�<� *
�,��� � �	����� ,�
	� �
 ��*--4

4/�<1 *
�,��� �� 	����;�� �������
  
���� �	����

2 �
� 4/�<-3 �
 � �
���
  
����4

����� 

1
����" 4/�<-0 4/�<�0 4/�<1

������
�" JSB .FMUI 
DEF *+8 
DEF <buffer> ��*--0 
�� ������!
��0 /�����A �.  
����
DEF <bufsiz> J 
  ������ �� V�	  ��Y ���!��� 5 ��� 750 ���
	��,�4
DEF <sign> 5 N �
����,�0 . N ������,�4
DEF <exp> ���
�  ���
�S �
!�� 
  ���4
DEF <result> ���	�� ,�
	�4
DEF <type> ���� 
  V���	
�Y 2��� ��

!34
DEF <ovfl> ���	����  �
� 4/�<-0 . �  
,�� 

! 
�

	���� 

!S �
�� 54
<Return>

JSB .FMUO
DEF *+7 
DEF <buffer> ���	����  �
� 4/�<�
DEF <bufsiz> A	���� 
  ������ �
 ���	��
DEF <sign> ���	����  �
� 4/�<�
DEF <exp> ���	����  �
� 4/�<�
DEF <value> -��	� ,�
	�
DEF <type> ���� 
  ,�
	� 2��� ��

!3
<Return>

JSB .FMUP 
DEF *+5
DEF <result>
DEF <type>
DEF <unpkd> -��	� V���	
�Y  �
� 4/�<-
DEF <ovfl> ���	����  �
� 4/�<10 . �  
,�� 

! 
�

	���� 

! �
�� 54
<Return>

/�����A" *�

��
�

1����
" *�

��
�
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���	
�" A
��

���
��" A
��

�6�����


�� �������" 41�*I0 4�A��0 4��H0 -/-E

����
�" 4/�<- ��� ,�
	� �� V�	  ��Y �� �
�,����� �
 ������ !��� ��� ����� �� �	  ��
2�3 ��,��� !����� .5PP 2V�6�YO�34  ��� ���	
� �� ������� 
� V����Y N.0 ��� �
	���� �
 ��� ����� ��� ����"

V�&1�Y �&1�

5 .����� ������� 2. !
��3

. 87���� ������� 27 !
���3

7 87���� ���
 27 !
���3

8 9?���� ���
 28 !
���3

9 �9���� ���
 29 !
���3

: <����;�� �������
  
���� 2: !
���3

4/�<� ��,���� 
  4/�<-S ���� ��0 ��������� V�	  ��Y V�6�Y ��� V����Y
 �
� V,�
	�Y �� ��������� �� 4/�<-4  ��� ���	
� ��
	
� �� 
�
	���� �� ��

��� 4/�<� ����� ����� ��� �� �
�� �
	���
   ���
�
�� 4/�<� 2 
� �6���
�0 745 �
	
� �
�,��� �
 .4=====34

4/�<1 � ���� : �	  �� V	��;�Y ������� �� 4/�<- �� �
�,����� �
 � 
�
���
 ���� �	  �� V���	
�Y4  ��� ���� 
  V���	
�Y �� ����� ��� �� 
V����Y ��� �	�� �� 5 �
 94

A
���" ��� �
�
 $�L4
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1	��
��" �
	����� 
  ����� ������ ��
�	��� �� 4/�<�4

�����
1
����" 4/�<�

������
�" JSB .FMUR
DEF *+5
DEF <buffer> ��*--0 
�� ������!
��0 /�����A �.  
����

2���	� ��� ���	���� ,�
	�3
DEF <bufsiz> J 
  ������ �� V�	  ��Y ���!��� 5 ��� 750 ���
	��,�
DEF <rndsiz> J 
  ������ �
 �
	�� �

DEF <ovfl> ���	����  �
� 4/�<�0 . �  ����� 
,�� 

! 
��	��0 �
�� 54
<Return>

/�����A" *�

��
�

1����
" *�

��
�

�6���
�"

� �
�,����
� �
 .5 ������ !
	
� �� ��  



!�"

4/�<� 2�	  ��0..0����0�6�0,�
	�0����3
4/�<� 2�	  ��0..0.50
, 
3
�6�N�6�@
, 


���	
�" A
��

���
��" A
��

�6�����
 
�� �������" 4�A��
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1	��
��" ����� �� �
���

 �
 ��� 

����
� ��������� �� � /�����A �
��	��� D���
���������"

GOTO (;., ;7, 4 4 4 , ;�) j

�����
1
����" 4D���

������
�" JSB .GOTO
DEF *+n+2

 DEF J
DEF ;.
.
.
.
DEF ;�
<Return>

/�����A" *�

��
�

1����
" *�

��
�

���	
�" '����� �
 ������� ; �

���
��" -  T V . ���� ;.S �  T Y � ���� ;�

�6�����

�� �������" A
��
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1	��
��" ���	�� ���	�
 ������� 
  � ������	
�� �
����� 
  � �!
 �������
��
 /�����A
�����4

�����

1
����" 4��1

������
�" JSB .MAP
DEF array
DEF first subscript
DEF second subscript
OCT first dimension
<Return> (result in A)

/�����A" *�

��
�

1����
" *�

��
�

���	
�" -������ �� �

���
��" A
��

�6�����
 

�� �������" A
��
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>�
�-

1	��
��" )��������� !���� 
�������� ������ �� �� �
���

4  -��
	���  
� �
�������
��� 
!��� ���,�
	� 
��������4

����� 

1
����" 4�1�&

������
�" JSB .OPSY 
result in A 

A =   –7 (RTE–MI) 
A =  –15 (RTE–MII) 
A =   –5 (RTE–MIII) 
A =   –3 (RTE–II) 
A =   –1 (RTE–III) 
A =   –9 (RTE–IV,RTE–IVB) 
A =  –17 (RTE–6/VM) 
A =  –13 (RTE–4E) 
A =  –29 (RTE–XL) 
A =  –31 (RTE–L) 
A =  –37 (RTE–A Pre–Rev 2440) 
A =  –45 (RTE–A.1) 
A =  –53 (RTE–A Rev 2440 through 4010) 
A =  –61 (RTE-A Rev 5000 through 5270)
A = –125 (RTE–A Rev 6000 or later)
<Return>

/�����A" *�

��
�

1����
" *�

��
�

���	
�" -������ �� �

���
��" A
��

�6�����
 

�� �������" #�1�&

A
���" ���� �
	���� �� �+	�,�
��� �
 EXT $OPSY
XLA $OPSY

��� #�1�& ,�
	� 
  �� 
�������� ������ ������ ��� ��� 
�������� ������ ���
��T
� ,����
� 
  ��� 
�������� ������4  ���� 
�������� ������ ��� � 	��+	�
#�1�& ,�
	�4  ��� ,�
	� 
  #�1�& ������� 
�
� !��� ��T
� �������
 ���
�
���	��	��� ��� �  ����� �� ��� ��,���
�4  2��
���� ������ ����� �
��� #)��*
�
������ ��� ��,���
� �
��  
� ��� ��,�� ��
����43  1�
����� ���� ��� ������
��������� ��
	
� ����; ��� ,�
	� 
  #�1�& �� 
�� �6��	����4

��� ����� 
  ,�
	�� �����,��  
� �������� ��������� ������� �� O.> ���
	��
O7?4  ��� ����� 
  ,�
	�� �����,��  
� ����� ��������� ������� �� O88
���
	�� O.7?4

��� �
�
 ��� $����� ��� $�����  	����
��4
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��" 1���� ���  



!��� ������� 
� ��� �
��

� ��,���"

name PAUSE xxxxx

!���� ���� �� ��� ��

��� ��
���� ���� ��� 66666 �� ��� ����� ��� ������� �4
$�
� ��
���� �6��	��
� ��� ���	�� �
 
�������� ������4

����� 
1
����" 41�<�0 4���1

������
�" LDA i 
JSB .PAUS (or .STOP) 
<Return> 2��� A
���3

/�����A" A
� ��

��
�4  <�� /�����A ��������� 1�<��4

1����
" A
� ��

��
�

���	
�" A
��

���
��" A
��

�6�����
 

�� �������" �E�*0 1�<4�0 ��-�0 1A���

A
���" H��� 41�<� �� 	���0 ��� ��
���� ��� �� �
����	�� 	���� D�4



*�!�!�3,�������!#��,,,,,7�'$

>
���

1	��
��" ���	�� ��� ��	� ������� 
  � ��������� ������ �
 � �	��
	����4

�����

1
����" 41*�)

������
�" JSB .PCAD
DEF SUB,i
<Return> (result in A) 2��� A
���3

/�����A" *�

��
�

1����
" *�

��
�

���	
�" )����� ������� �

���
��" A
��

�6�����
 

�� �������" 4L1��

A
���" .4 41*�) ��� ��� ���� �	��
�� �� D���)4

74 41*�) �� 	��� �� ��������� 
� ���,�
���� �	��
	����� ����	��^���� ����
�
	�� D���)4
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1	��
��" 1�� 
�� �������� ���� ��!���0 ���;����� 
� ����
 � �
� 
������
�� 
� �
����� ��� 

����
 	���4

����� 

1
����" 4��1�

������
�" LDA constant 
JSB .TAPE 
<Return>

/�����A" *�

��
�

1����
" *�

��
�

���	
�" A
��

���
��" A
��

�6�����
 

�� �������" �E�*

A
���" -� /�����A0 	�� 	��
��� ���������� 
� 1��1� ��� �D��14
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1	��
��" *
��	��� ��� ������� 
  � ����� ��� �
����� 
  � .0 70 
� 8 �������
� �����S
���	��� ��� ������� �� ��� ����������4

����� 

1
����" 44��1

������
�" /
� . �������
�" /
� 8 �������
��"  

CCA, <CLE>  CLA, INA, <CLE> 
LDB n (see below)  LDB n (see below) 
JSB ..MAP  JSB ..MAP 
DEF base address  DEF base address
DEF 1st subscript  DEF 1st subscript
<Return> (address in A)  DEF 2nd subscript

 DEF 3rd subscript
/
� 7 �������
��"  DEF length of 1st dimension

 DEF length of 2nd dimension
CLA, <CLE>  <Return> (address in A) 
LDB n (see below)
JSB ..MAP
DEF base address
DEF 1st subscript
DEF 2nd subscript
DEF length of 1st dimension
<Return> (address in A)

� N A	���� 
  !
��� ��� �
����� �� ��� ����� 2.0 70 8 
� 934

���������� N . �  ��
�� �
 ���� �
�����4
              5 �  ����  �
� ���� �
�����4

/�����A" A
� ��

��
�

1����
" A
� ��

��
�

���	
�" -������

���
��" A
��

�6�����
 

�� �������" A
��
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1	��
��" ��� 	� � 
��� 
  �
������4

�����
1
����" #���1

������
�" LDA Start Pntr
LDB Array Addr
JSB $SETP

 DEF COUNT
 <Return>

ARRAYADDR DEF ARRAY
ARRAY     BSS n

/�����A" *�

��
�

1����
" *�

��
�

���	
�" -������

���
��" A
��

�6�����

�� �������" 4L1��

A
���" .4 ���� �
	���� �� �,��
��
� �� ����
�
��4

74 ��� ���� ��� 
  ' �� ���
���4



*�!�!�3,�������!#��,,,,,7�8'

J��4

1	��
��" *�

�������� ����� �
 -��H 2634

����� 
1
����" (��H

������
�" JSB %SSW
DEF *+2
DEF n (integer)
<Return> (result in A)

/�����A" *�

��
�

1����
" *�

��
�

���	
�" -������ �� �

���
��" A
��

�6�����
 
�� �������" -��H
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�������!#�� "�� ����!���� �������

��� �	��
	����� �� ���� ������� ��
,��� ��
��������� ������ �
 ��� ������ ����
��� 
  �	
��	���
�����
��4  ���� �


! ��
����� �
 ��� 	� ��� ���
,� �����
��0 ������ ��� ������  �
� ����0 ���
�
�,��� ���!��� �����0 	��� �	�����0 ��� �����
� �	�����4

/
� ����� ��������� �������0 ����� �
	����� �
 �
� ���	�� 	�� 	
 �� 
�����
� 	�
��� �
	 ��,�
��� $1 =75>?� ��
�	�� 2��� ����	�
 *
�� @0 �*@0 ������ �6�����
� 1��;���34

	��� �

 �	��
	����� 
����� �� ���� ������� ��� �
������
� !����� �
�� ��� ����� ���
�������� ��������� ������� 	�
��� 
����!��� ����� ���4  �

  	����
�� �	�� ��
���
���� �
�����
� 2���� ��0 ��� ���� ���� ���� ���	��34

��� �	��
	����� �� ���� ������� ��� ��������� �� ���  



!���  
����"

��� ���� 
  ��� �	��
	����0 � ��������� 
  ��� 	�� 
  ��� �	��
	����0  



!�� �� ���
�	��
	������ �����60 � ���������
� 
  ��� ����������0 ��� ���� ���	���0 �  ���4

-  � ��������� �� 	����
���� �� � �	��
	���� ��

 ���������
�0 ��� ,�
	� �� � ,�����
� ���	���� 
�
�
�� ��� �� ��� ������ �	��
	����4
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������ *6 �1��D "��  * ������

���� 

����
  	����
� ���������� �  ��� ����� ��� %< �� ��������
� �� ��� ��

��� ��
����4

)	
������� = AccessLU(��) 

logical )	
�������, AccessLU 
integer ��

!����"

)	
������� �� ��<� �  ��� ��

��� ��
���� ��� ������ ��� %<S 
����!���0 �� �� /�%��4

�� �� ��� %< �
 �� ����;��4
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�
���6 �����1 �� ����!�#

���� �������  	����
� �������� ��� ��

��� ��
���� �
 �� �6������ �����
�  
� �������� ���
�����4  -� ������
�0 
� ����� �
	 ��� ������ � ��
���� 
���� ���� ��� ��

��� ��
���� �
 ��
�6������ �����
�4


��	� = ATACH(*
�%��, 
��	�, [��	
%��
,[+���
��*
�]])

/
� ����� ��
�

!����"

*
�%�� �� � 
���!
�� �������0 ��� �����
� �	����4  -  *
�%��  �� 50 �� �������� �
 ��� B����
���C �����
�4


��	� �� � 
���!
�� �������0 !��� ����� ��������"

N 5 �
 ���
�S �	����� 	
 ������4

N O. �  �����
� �	���� �
�� �
� �6���4

N O7 �  ����� ��� ��
���� �
�� �
� �6���4

N O8 �  �	����� �����
� �	���� �
�� �
� �6���4

N O9 �	�� �� �	���	���  
� ����
� ��+	�����4

N O: ��
���� !��� ���� ���� �
����� �6���� �� �����
� *
�%��4

��	
%��
 �� � ������!
�� ������� ����� �
�������� ��� ���� 
  ��� ��
���� �
 �� �������� �

�����
� *
�%��4  2/
� ����� 
�
�43

+���
��*
� �� � 
���!
�� ������� �
�������� ��� �����
� �	���� ���� ��
���� ��	
%��
  �� ��4
)� �	
�� �
 ��

���� �	����� �����
�4  2/
� ����� 
�
�43

/
� ����� ��
�"

-  �
 ��
���� �� ����� ���0 ���*$ �� ��� 
���� 
� ��� ��

��� ��
����4

-  ��� ���*$�� ��
���� �� �
� � ������ 	��
���0 ���� ��
������ �������
 %< ������� �
 �
������
!��� � ��! �����
� %< �	����4  -  ��� ���*$�� ��
���� �� � ������ 	��
���0 �
	 ��� ������ �
	�
�������
 %< �	���� ��  



!��� ��� ���*$ ��

 !��� �� ��*�� ��

4

� ��
���� ����
� �� �������� �
 ��� ������ �����
� �  ��� �����
�0 
���� ���� ��� �	����� �����
�0
��� � ��
���� 
  ���� ���� �� ��4  ���� �� ����	�� ��� ������ �����
� �� �
�������� �
 �� ��
�6�����
� 
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    EXT SYCON
     .
     .
    JSB SYCON
    DEF RTN
    DEF IBUF
    DEF ILEN
RTN  .
     .
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      Program ReadIt
      implicit none
 
c     The command stack monitor, CMNDO, can be used programmatically to
c     easily add the RTE–style command stack and the $VISUAL command
c     line editing features to a program.  Communication with the
c     monitor is performed via Class I/O.  The Class numbers returned 
c     by HpStartCmndo must be used in subsequent calls to HpReadCmndo
c     and HpStopCmndo.
 
      integer*2 stkerr, class(2), buffer(128), areg, len
      integer*2 prompt(4), plen
      character stackfile*64
 
      integer*2 HpStartCmndo
      integer*4 HpReadCmndo
 
c     Start up a copy of CMNDO, the command stack slave monitor.  CMNDO
c     will perform the command stack initialization and attempt to
c     restore the command stack from the named file.
 
      stackfile = ’./READIT.STK’
      if (HpStartCmndo(1, class, stackfile, stkerr).ne.0) stop        
      prompt(1) = 2hPr
      prompt(2) = 2hom
      prompt(3) = 2hpt
      prompt(4) = 1h>
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      plen = 8         ! length of the prompt in characters, ’Prompt> ’

c     Loop until the user enters ”EX”.
 
      do while (.not.(buffer(1).eq.2hEX.and.len.eq.2))
 
c     Issue the prompt.
 
        call exec(2,2101b,prompt,–plen)
 
c     Tell the CMNDO monitor to issue a read.
 
c     The CMNDO monitor will perform the read with a call to
c     RteShellRead.  Depending on the user’s $VISUAL environment
c     variable, command line editing may or may not be enabled.  (Note
c     that CMNDO can only retrieve exported variables.)  The standard
c     ”RTE–style” command stack functions are always available
c     regardless of the state of the user’s exported environment
c     variable block.
 
c     Note that the prompt is assumed to have already been issued.
c     The contents of the prompt are still required because some
c     of the command line editing commands refresh the current
c     input line.  (If no prompt is being used, the length of the
c     prompt, ”plen”,  should be set to 0.)
 
        call HpReadCmndo(class, buffer, 256, prompt, plen, 1)
        call abreg(areg, len)
 
c     A–Register – DVT 6 
c     B–Register – transmission log (number of characters read),
c                  positive number of characters read, or
c                  –1 if an EXEC error.
 
        if (len.lt.0) stop
 
c     Process the buffer : ...
 
        call exec(2,1,buffer,–len)
      enddo
 
c     Tell the CMNDO monitor that we are finished.  Post the current
c     stack to a stack file if we successfully read a stack file in
c     HpStartCmndo.  The Class numbers are returned to the system
c     and CMNDO will terminate.
 
c     If a stack file is not being used and the calling program is 
c     going to exit immediately, the call to HpStopCmndo is optional.  
c     The system will abort CMNDO when the calling program terminates.
 
      if (stkerr.lt.0) stackfile = ’ ’
      call HpStopCmndo(class, stackfile)
 
      end
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��� �
�� ������
�� �� 	���  
� ���  �
�4  -  �  �
� !��� ��� ��,�� ����
�
����� �6����0 �� �� 
,��!������S 
����!���0 ���  �
� �� �������4


��	� = CmndStackStore(���,���
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,����
��)

integer*2 ���
��,����
��,���(*)
logical   
��	�
character*(*) ����1���
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CALL CmndStackUnmark
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$alias     HpRte6, direct

  implicit none

  integer*2   Ibufl
  parameter  (IbufL = 256)       ! maximum byte length of Ibuf

  integer*2    
     > Ibuf (0:127)              ! up to 256 character commands
     >,ByteLen                   ! current length in bytes of command

  integer*2                      ! declare a stack buffer as big
     >,StackBuffer (0:4095)      ! as desired

  integer*2    
     >,DCB (16+128)              ! file DCB buffer

  integer*2
     > Error,                    ! error code from HpCrtCheckStraps
     > Crt,                      ! terminal lu
     > Status,                   ! terminal status from read
     > TOMask,                   ! timeout mask for terminal reads
     > MemSize,              ! #K bytes of display memory in terminal
     > ScreenWidth,             ! number of characters visible at one
                                ! time on a CRT line
     > Framesize                ! # lines in stack window

  logical*2
     > HpCrtCheckStraps,        ! the CRT and Port are OK for stacks
     > CmndStackMarks,          ! a marked line is available for use
     > CmndStackStore,          ! save stack in a file
     > CmndStackRestore,        ! read stack from a file
     > HpRte6,                  ! is this an RTE-6 system?
     > HpCrtSSRCDriver,         ! is terminal on a Rev.D mux?
     > IfBrk                    ! user has set the break flag

*  Begin example:

  CRT = 1                       ! use terminal lu 1
  Framesize = 22                ! use 22 lines per frame
  TOMask = 2                    ! determine timeout mask

  if (HpRte6()) then
    if (.not. HpCrtSSRCDriver (Crt)) TOMask = 1
  endif

  if ( HpCrtCheckStraps (Crt,Error,MemSize,ScreenWidth) ) then
     continue
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  else
     call HpCrtSendChar(Crt, ’Command Stack Unavailable’)
  endif

  call CmndStackInit(StackBuffer,4096,256,TOMask,ScreenWidth)

  if ( CmndStackRestore(Dcb,Error,’StackFile’,1,Ibuf,IbufL) ) then
                           ! Process the FMP error that was returned
  endif

10    If ( .NOT.CmndStackMarks(Ibuf,ByteLen) ) then
      call HpZQandA(Crt,’Next Command? ’,       !  issue prompt
      >     Ibuf,IbufL,Status,ByteLen)          !  and read a command
      if ( iand(Status,TOMask).ne.0 ) go to 10  !  check for timeout

  endif

  Call CmndStackScreen(Crt,Ibuf,ByteLen,
      >               FrameSize,’Commands:’,
      >               ’No match, try again’)

  call CmndStackPush(Ibuf,ByteLen)

*  Process command:

  If ( Ibuf(0).eq.2hEX ) then
    go to 9000
  else

    ! (Handle other commands...)

  endif

  If (IfBrk()) then         !  when break is set,
     call CmndStackUnmark      !  abandon all marks.

  endif

  go to 10

*  This is the program exit section.

9000  continue

  if ( CmndStackStore(Dcb,Error,’StackFile’,1) ) then
    !  Process the FMP error that was returned
  endif

  end
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CALL Concat(�����
 ,�����
/)

character*(*) �����
 ,�����
/

!����"

�����
 0
�����
/ ��� ��������� ������� 
  ��� 
�����4

-  ��� ���
�� ������ �� �

 
���� �
  �� �� ���  ���� ������0 ��� ���	
� !�

 �� ��	������ 
� ��� �����4

�=�����K

string1 = ’abc     ’
string2 = ’de      ’
call Concat(string1,string2)
string1 = ’abcde   ’

��#��������6 ��#����#��� ���!#2� 0!�1 ����55�5
)��#D�
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	���� �� ����
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CALL ConcatSpace(�����
 ,�����
/,����
�)

character*(*) �����
 ,�����
/
integer*2 ����
�

!����"

�����
 0
�����
/ ��� ��������� ������� 
  ��� 
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 ������ � ��� �����
  �� 
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�=�����K

string1 = ’abc     ’ 
string2 = ’de      ’ 
call ConcatSpace(string1,string2,2)
string1 = ’abc de  ’
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CALL DayTime(���
,����
�)

integer*4 ���

character*(*) ����
�
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 = DecimalToDint(�����
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integer*4 ��������
,DecimalToDint
character*(*) �����

integer*2 
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 = DecimalToInt(�����
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character*(*) �����


!����"

�����
 �� ��� ��������� ������ �
 �
�,���0 !�
�� ���������� �	�� �
������ � 
���
 ����
� ���
����� �� ��� ����� O87>�? �
 @87>�>S � �
	� 
� ���	� ���� 2
� �
 ���� �� �

3 ��� ��
����� ���0 �
��
	�� ��� 
���
 +	�
� ��� B'C �� �
� �


!��4


��	� �� � ��+	���� 
���!
�� ������� ,�����
� ���� ���	��� M��
 �
 �������� �
 ���
�0 
�
�
�M��
 �
 �������� �� ��,�
�� ��������� !�� ���
	������ 
� 
,�� 

! 
��	����
2M��
 �� ���	���� �� ���  	����
� ,�
	� �  �� ���
� 
��	��34

A
��"  1��
� �
 ��,���
� :5550 ��� 
��	� ��������� !�� �
� ��+	���� ��� ��� ��

 
Bintvalue = DecimalToInt(�����
)C !�� ,�
��4  $
!�,��0 �� 
  ��,���
�
:5550 ��� 
��	� ��������� �� ��+	����4

���8���
 �� � 
���!
�� ������� ,�����
� �� !���� ��� ������� ,�
	� 
  ��� ��������� ������ ��
���	����4

*
����� ����  	����
� �
 )�����
�
)���4

��� �
�
 $�L4

�!#�
����!���6 ������ +#��2�� �� ���++ ��#(���!�#

����  	����
� ���	��� � ��������� ������ ������������
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���� �� ���������� 2�� �� �
 ���� �����
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��� ����������4
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����� ��� ���� ����4  -� �
�� �
� ������� �
 �
�����  
� ��� 
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�	
���� = Fgetopt(��������
,	���,	���	�,��
��
��[,	�����
])

logical*2 �	
����,Fgetopt
character*(*) ��������
, 	���, 	���	�, ��
��
��
integer*2 	�����
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�� �� � /�����A ��������� ������ ���� �� ���	���� !��� �� 
���
� ��+	���� �� ���	�
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���� ������� ���
�������� �
! /���
�� ��� �� 	��� �
 ��
���� � �	�������  
� �
��
���� ���� ��� 8 �
����
� 
���
��0 B<C0 B/C0 ��� B�C4  ��� B/C ��� B�C 
���
�� ��+	��� ��
���	���� �
 �� ������ !��� ��� 
���
�4

          Integer   areg, len, runbuff(128)
          Character runstring*256, option*1, arg*64,         
         +          firstparm*64, file_options*10
          Logical   Fgetopt, Uflag
          equivalence (runbuff, runstring)
 
c     get the runstring,
 
          call exec(14,1,runbuff,–256)
          call abreg(areg, len)
  
c     take out the ’RU’ and the program name,
  
          call SplitString(runstring(1:len),arg,runstring)
          call SplitString(runstring,arg,runstring)
 
          do while (Fgetopt(runstring,’UF:O:’,option,arg)
             if (option.eq.’U’) then             ! –U
                Uflag = .true.
 
             else if (option.eq.’F’) then        ! –F arg
                file = arg
 
             else if (option.eq.’O’) then        ! –O arg
                file_options = arg
 
             else if (option.eq.’?’) then        ! illegal option
                write(1,’(”Usage: prog [–u] [–f name] [–o opts] parm”)’)
                stop                
             endif
          enddo
 
c       Fgetopt removes the options from the ”runstring”. 
c       A call to ”splitstring” will return the first parameter
c       after the options in the runstring.
 
          call splitstring(runstring,firstparm,runstring)
          .
          .
          .
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��� ��
����4  -  ��� ��

��� ��
���� ��� �
  �����0 ��� ,�
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������ = GetFatherIdNum()

integer*2 ���"
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� ������� ��� ���
,��  �
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�", GetRedirection
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%	0 = GetRteTime(��
.��
)

integer*4 ���
%	0,GetRteTime
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.��
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CALL IntString(���,�����
)

integer*2 ���
character*(*) �����
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 �� ��� ��������� ������ ���� �
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  ���4

�=������K

CALL IntString(num,string)

where:  num    = 345
        string = 345

        num    = 40502B
        string = AB

        num    = 18505
        string = HI



&�'%,,,,,*�!�!�3,�#5,������,�������!#��

+#�
����!���6 +#��2�� �� ���++ ��#(���!�#

����  	����
� ���	��� � ��������� ������ ������������
� 
  � �	����4  ��� ������ ���
	��� � 
������
���	� ���� �  ��� �	���� �� ������,�4  %������ M��
� ��� �	��������0 ��� ��� !�

� �	���� �� 
� �
T	��� ��� �� ��� ������ !��� ����
��� �
��;�4  ��� ��������� ������ ��
	
� �� �� 
���� ��6 ���������� �

���� ��� 
������ 
���!
�� ������� ��� �� �����������4  � ���

�� ������ ��� �� 	���S �
!�,��0 ���
������
�� ������ !�

 �� ��	������4

�����
 = IntToDecimal(����
�)

character*(*) �����
,IntToDecimal
integer*2 ���ber

!����"

����
� �� � 
���!
�� ������� �	���� �
 ��
����4

�����
 �� � ��������� ������ �� !���� �� ���	���� � ��������� ������������
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���	� ���� �  ��� �	���� �� ������,�4  %������ M��
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� �	���� �� �����
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���� ��� 
������ 
���!
�� ������� ��� �� �����������4  � ���
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 �� ��	������4

�����
 = IntToDecimalr(����
�)

character*(*) �����
,IntToDecimalr
integer*2 ����
�
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  � �	����4  /
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 ������ ��� ���	����0 	�������0 !��� 
������ M��
�4

�����
 = IntToHex(����
�)

character*(*) �����
,IntToHex
integer*2 ����
�
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 �� ��� ���	���� ��������� ������������
�4
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�����
 = IntToHexR(����
�)

character*(*) �����
,IntToHexR
integer*2 ����
�
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�����
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�)

character*(*) �����
,IntToOctal
integer*2 ����
�
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 ��
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 = IntToOctalr(����
�)

character*(*) �����
,IntToOctalr
integer*2 ����
�
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���� �
	���� ��� 
��� � �
�,����
� !���� �� ��� ��,���� 
  ��� ���
��� �
	����4  ���� �
	����
���������
�� ��� �	���� 
  ���
��� ����� F��	��� .0 .=>5 ���
 �
�,����
��
 ���� ,�
	��4  ���
���
��� ����� .=>5  
���� �� 	��� �6�����,�
� �� ��� /�1  �
� ������  
� ����������4

Call InvSeconds(*
��*���
&!,;
��,.	�,9	��,�����
,*
�	��)
 
integer*4 *
�	���*���
&!
integer*2 ;
��,.	�,9	��,�����
,*
�	��

!����"

*
��*���
&! �� ���
��� ����� ��������4

;
�� �� ��� ���� �4)4 2 
� �6���
�0 .==834

.	� �� ��� �������
 ��� 
  ��� ���� 2.448��34

9	�� �� ��� �
	� 
  ��� ��� �� ��
����� ���� 25447834

�����
 �� ��� �	���� 
  ���	��� ���
 ��� �	����� �
	� 2544:=34

*
�	�� �� ��� �	���� 
  ���
��� ���
 ��� �	����� ���	�� 2544:=34
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�
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 �������1

����  	����
� ���	��� ��� �
����
� �� ������ 
  ��� 
��� 
��	������ 
  �"��4  -� ��� 
��� � ���;!���
������  �
� ��� ��� 
  ������ 	���
 ��  ���� �"��4  -  �"�� �� �
�  
	��0 � M��
 �� ���	����4

���
5 = LastMatch(�����
,�"��)
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�����
 �� ��� ��������� ������ �
 �� �6������4

�"�� �� � ����
� ��������� ������ ��������  
�4

���
5 �� ��� �
����
� 
  �"�� �� ��� ������ ���� �� ���	����0 �� ������� ,�
	�4
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	���� ����� � ��,�� ���� �
 ��� �  �� �� � 
��� ����4  ��� �
�
�����  
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�
90 .550 ��� 955 ��,�����
���4

���
 = LeapYear(�
��)

logical*2 ���
,LeapYear
integer*2 �
��
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 �� ��<� �  ��� ���� �� � 
��� ����4

�
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�	�1
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 = LuLocked(��)
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���!
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���
4

�
�M��
 %< �� 

�;��4

��(�4��5�
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� ��
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�0 �� �� !�

 �
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CALL MoveWords(��	�,�	,�	���)
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  !
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������ -) ������� �������4

������
�� = MyIdAdd()
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CALL NumericTime(���
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/
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 ���
������ !��� ��� ����� ��
����4  ��
�� 
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 %< 
  ��� �������
 ���
������ !��� ��� ����� ��
����4


��+#������

���� �	��
	���� �������� � ������ 
  ����������  
� ������� �� �
	����� �6������� �
���� ��
�������
��4

CALL PutInCommas(�����
)
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� �6���
�"

expr  w,x y,,z
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���
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 = ReadA990Clock(���
�����,6	�1���,
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integer*2 ���
�����(8),6	�1���(20),
��	�
logical*2 ���
,ReadA990Clock
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!
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!
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!
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��� �
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 ,�
	��0 
� ��� ���� ������ ��� �
 ����� ��� �����4

CALL ResetTimer
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��� ��6 �
	����� ��� 
�� ���	
�� �6������
� ������� �������� ��� �	�����	��
� 
� ���������
��������� ������� �� ,��� �	�� ��� ���� !�� �� �)-��.5554  �������� �� ���� 
� �	�����M�� ��
���
� >�.4  ���	
�� �	�����	��
�� ��,� ��� �
����	��� ��
!� �� ���
� >�74


����,&��>  �=�����!�# 
�����# ����1!#2 ������3


 0
����� ��
�
���� G
H

� 0
����� 
�	 ��
�
����

T 0
����� 
�	 ��
�
���� &��� �� ���� ����� B�
�� 
� G�LHC

S� %������ ��� �
����� �� ��� ��������� �� ����

�O %������ ��� �
����� �� ��� ��� �� ����

UV
�Q@W 0
����� 
�	 �� ��� ��
�
����� G
H� G�H� GAH� G@H

UVS
�Q@W 0
����� 
�	 ��
�
����� �
� G
H� G�H� GAH� G@H

�L 0
����� &��� �� ���� ���
������� �� �
����� �

�R 0
����� ��� �� ���� ���
������� �� �
����� �

�X;Y 0
����� ; ����������� �� �
����� �


(� 0
����� 
 ���� ��
��
�	 ������� �
������ 
 
�� �

UZL 0
����� ��� ��
�
���� GLH

[�\ )
�� 
 �
����������� ��� ���
�� �� �
�����
�����


�����# ����1


����,&�%>  �����!���!�# ��#�������

] /��
�� ��� ������ �
����� ������

]3 /��
�� �
���� ����� ^3 �� ��� �
����� �����

Y "
�� 
� G]H �
� ���� ��
�
����� �� 
�����
��

BGY3H ����� �
���� ����� ^3C

X "
�� 
� G]H �
� ���� ��
�
����� �� ������
��

X]Y 7��
@ ��� ���� ���� > ����� 
� ���� �����

�����!���!�# ���#!#2
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��=)�!�5
�����#

��6'	�
�1������ ��;�� ������� ������ �����
0 
  !���� �����
�
�  ���������� ��� ����� �����0 ��� �	�
��
� �������  
� 	�� �� ��6����� ��� ��6�6������ ���
 ����
��0 �� ����� 
  ����
����5  !
���4


��	� = RexBuildPattern(�����
,����
��,�����
�
�,����
����5)

integer*2 RexBuildPattern,����
��,�����
�
�,����
����5
character �����
*(*)

!����"

�����
 �� ��� ������� ������0 !���� ��
	
� �
����� ��  

��� �
 	�������� �  ���� ������
��,��� �� �
� �������4

�����
�
� �
������ ��� ����� ����� ����������4

����
�� �� �� ����� 
  ����
����5  !
��� �	�
� ���
 � �������  
� 	�� �� ��6����� ���
��6�6������4

����
����5 ��
	
� �� ��
	� 755 !
��� �
 ����
� �
�� �6������
�� 2��� ������ 
�����
�
	��� � 

� 
  �����34

���	��� 2���
� �
��3"

O7 -  ��� ������� �� �

 �
��
������S �
�� �
�  �� �� ����
��4
O. -  �� �

���
 ���	
�� �6������
� �����6 ��  
	��4
Y5 -  �
 ��
�
�� 
��	��0 
��	� �� ��� �	���� 
  !
��� 
  ����
��  ���������4

��=)�!�5�����

��6'	�
��	��� ��;�� ������� ������ �����
0 
  !���� �����
�
�  ���������� ��� ����� �����0 ��� �	�
�� �
���	
�� �	�����	��
� ������ ���
 �������
��0 �� ����� 
  �������
����5  !
���0  
� 	�� ��
��6�6������4  ��� �������
����5 ��������� ��
	
� ���
	�� 
�� !
�� ��� ��������� �
 ��
�	�����	��� ��� �!
 !
��� ��� ����

 
�����
� 2_0 Y0 V34  ��
	� .55 !
��� ����
�� �
��
�	�����	��
��4


��	� = RexBuildSubst(�����
,�����
�
�,�������
��,�������
����5)

integer*2 RexBuildSubst,�����
�
�,�������
��(*),�������
����5
character �����
*(*)

���	��� 2���
� �
��3"

O7 -  ������� !�

 �
�  �� �� �������
��4
O. -  �� ��,�
�� ���	
�� �6������
� �����6 ��  
	��4
Y5 -  �
 ��
�
�� 
��	��0 
�� �� ��� �	���� 
  !
��� 
  �������
��  ���������4
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���� �
	���� ���
���� �

 
��	������� 
  ����
��  2�	�
� �� ��6'	�
�1������3 �� �	��
����
0 
  !����
���
�
�  ���������� ��� ����� �����0 !��� �	�����	��
� ������� �������
��  2�	�
� �� ��6'	�
��	���3 ���

�
0���
0 ��� 
����� 
  !���� �� ���	���� �� �
0�
�4  	��
���
  �� ��� 	� 

��� ,����
� �	��
����
S � 
���� �������,��� �� �������0 �	��
����
  ��� 	��
���
  ��
	
� �� ��� ���� ������ ������ �!���S 
����!���0
�	��
����
  ��
	
� �� ����  

��� ���
� �
 ��

��� ��6�6������4


��	� = RexExchange (�	��
����
,���
�
�,	��
���
,����
��,�������
��,�
0���
,�
0�
�)

integer*2     RexExchange,���
�
�,����
��(*),�������
��(*),�
0�
�
character*(*) �	��
����
,	��
���
,�
0���


���	���"

V5 A	���� 
  �������  
	��0 ��! 
��� !�� ��	������4
   5 A
 �������4
Y5 A	���� 
  �������  
	��4

-  �
 ������� 
��	� 2���	���N530 �
0���
  �� 	��
�� ���4  �
0���
  ��
	
� ���
��� 	��
���
  
�
� � 
�6������� ��� ��� 
����4

-  ��6�6������ �� 	���0 ��� ��

��� ��
���� �	�� �	��
� � �
	���� ����� ��6'���;%��� ���� ���
�� ��

�� ��  



!�"

CALL RexBreakLine(�����
,�
�
�")

character �����
*(*)
integer*2 �
�
�"

��6'���;%��� �� ��

�� !����,�� ��� ����; 
��� 
�����
� V#Y �� ���
	������4  �����
  �� ���
�
0���
  ��������� �
 ��6�6������ ��� �
�
�"  �� ��� �	���� 
  ,�
�� ���������� �� ��� ��
;�� 
���4
���� �
	���� ��
	
� ��
���� ��� ��! ��
;�� 
��� ��� ���� �� ��� �
���
 ��6�6������ ���	����
�
0���
  ��� ���	�� �
 ���� ��6�6������ ��� �
����	� �	�����	���� 
� ��� �	����� 
���4  /
�
�6���
�"

�	��
�� ��� ����� ������� �� B����� C0 ��� �	�����	��
� ������� �� B��V#Y��V#Y� C0 ���
��6�6������ �� ��

�� 
� 
��� 66����� MM4

.4 ��6'���;%��� �� ��

�� !��� ��������� B66��C4

74 ��6'���;%��� �� ��

�� !��� ��������� B��C4

84 ��6�6������ ���	��� ������ B� MMC4

���� �� �� ;������ !��� �)-��.555�� �
��
� 
  ��� ����; 
��� 
�����
�0 �������� �������� 
���� 
 
��� ��
;�� 
���� ��� �
� ��������� � �������� ���	��4
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��=����1

���� �
	���� ���������� !������ ��� �	��
��� �����
0 
  !���� �����
�
�  ���������� ��� ����� �����0
�
������ ��� ����
��  ���,�
	�
� �	�
� �� ��6'	�
�1������4  ��� �
	���� ���	��� ,�
	�� 
  4��	�4 
�
4 �
��4 ���
�����
�4  A
�� ���� �����
  ��
	
� �
����� ��  

��� �
 	�������� �  ���� �������,��� �� �
�
�������4

����" = RexMatch(�����
,�����
�
�,����
��)

logical RexMatch
integer*2 �����
�
�,����
��(*)
character �����
*(*)

�������
�-���3

*
�,���  �
� ����� �
������ ��������  
���� �
 &��� ��� *������
 )��

call RteDateToYrDoy(��
.��
,;
��,.��$�;
��[,$*<#��
])

integer*2 ��
.��
,;
��,.��$�;
��
logical*2 $*<#��


!����"

��
.��
 �� ��� �
������ �������� �� ������  
����4

$*<#��
 ��������� !���� ����  
���� �
 	��4  '���	�� ����� ��� �������� ��������
��� ���� �� ��  �����  
�����0 ��� $*<#��
  ��������� ��������� !���� 
��������
������  
���� �� �� 	��0 ��<�  
� �������� 
� /�%��  
� �����4  ���
�� �	
�  
� $*<#��
  �� /�%��4

;
�� �� ��� ���� �4)4 2 
� �6���
�0 .=?=34

.��$�;
�� �� ��� ��� 
  ��� ���� 2.448��34

���� �
	���� ��������� ��� �
������ ���� ��� ���0 �� ����  �
� ��� ������0 ���
 ����,��	�

,�����
��4  ����� �
��	��� ��
.��
  �� 2����O.=>�3P8��@���4  �������� �
��	��� ��
.��
  ��
��� �	���� 
  ���� ����� .=>54

��� �
�
 D��������� ��� &�)
��
���)���4
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����1������56 ���5 "��� � 
���!#�� �#5 �#����
�����#5  !#� �5!�!#2 @�
��� �#�3A

���� �
	���� �����  �
� � �������
 %< ��� ����
�� ��� #�-�<�% �
����� 
��� �������4  2��� ���
����� ,�
��� ������0 ���� �	���� =75>>�=55570  
� �
�� �� 
�����
� ��
	� ��� #�-�<�%
�
����� 
��� ������� �
���43  ���� �
	���� 	��� ��� #�-�<�%0 #%-A��0 #*�%<�A�0 ���
#I-%%*$�� ,�����
�� �� ��� �6�
���� ��,��
����� ������
� '

�; 2��'34  ���� �
	���� ��
	
�
�� 	��� �� �
�T	����
� !��� ��� �������� $1 �
����� ����; 
������ �
	�����0 *�������;-���0
*�������;������0 ��� *�������;1	��4

-  #�-�<�% �� �
�  
	�� �� ��� ��'0 ������

���� ��� 
��� ��� ���� !��� �� ��-� ��

 ���
�
����� 
��� ������� �� �
� �,��
��
�4  #%-A�� �� �	
�� �
 790 #*�%<�A� �� �	
�� �
 ?50 ���
#I-%%*$�� �� �	
�� �
 ��� )�% ���������4

-  
�� 
  ��� #�-�<�% ������� �
��� �� ����
�� ��� ��� �������
 %< �	��
��� /-/� �
��0 ���
%< �� ����
��  
� /-/� �	���� ��� �������
 -�� �����4  ��� �
�� �� ����� �
 ��� 
������
 �����
�� 
�� ������

���� ���	���4  /
� 
�����
 ��� 
������0 ��� �
�� ��
	
� �� �
� ��	��� �
 	��
/-/� �
�� !��� E
��E
   �������;���4

CALL RteShellRead(���,����,�����,�
�,������,��	���,��
�,*���<���)

integer*2 ���,����(*),�����,�
�,������,��	���(*),��
�

!����"

��� �� ��� %< 
  ��� 	����� �������
4

���� �� ��� ������� ����� �� !���� ��� ���� �� ���	����4

����� �� ��� �	  �� 
�����4  � �
����,� ,�
	� ��������� ��� �	���� 
  !
���S � ������,�
,�
	� ��������� ��� �	���� 
  ���������� �� ����4

�
� �� ���	���� �� ��� ����������
� 

�0 ��� �
����,� �	���� 
  !
��� 
� ����������
2��������� 
� �����3 ����������� �� ��� ����  �����4

������   ���	��� )�� !
�� � 
  ��� �������
 %< � ��� ��� 
��� ����4

��	��� �� ��� ������� ����� �
�������� ��� ��
��� ���� �� �	�����
� ���	�� �� ��� ��

��� ��
�
����4  2�
�� 
  ��� ������� �
������ ��+	��� ��� ��
��� �
 �� �����	��43

��
� �� ��� 
����� 
  ��� ��
��� �� ����������4  ���� 
����� ��
	
� �
� ���
	�� ��� ����
�
��� 	������
�� 2K3 ���������4

���<��� �� ��� �
������� ���	�� ��;�� �  ��� �E�* ���� �� ��
����4  ���<���  �� � /�����A

��� �	���� ��� �	�� �� �������� �� �� �������; 2P34  ��� ��� #$����% �
�
�
��

������0 ���� �	���� =7?8��=555.0  
� �� 
�����
� 
� �
������� ���	��� �� �	��
	�
�����4
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�����

���� �
	���� �
�,���� ��������
��� ����� �������� �
 $
	�����	������
���*�������
��4  D�,��
��� �	����� ������ ����0 �� ���� �� D���������0 ���� �
	���� �
�,���� �� �
 �
�,����
��
 ����
,�
	��4

Call RteTimeToHMSC(��
���
,9	��,�����
,*
�	��,+
����
�	��)

integer*4 ��
���

integer*2 9	��,�����
,*
�	��,+
����
�	��

!����"

��
���
 �� ��� ���� 
  ���0 �� ���	���� �� D���������4

9	�� �� ��� �
	� 
  ��� ���0 B��
����� ����C 25447834

�����
 �� ��� �	���� 
  ���	��� ���
 ��� �	����� �
	� 2544:=34

*
�	�� �� ��� �	���� 
  ���
��� ���
 ��� �	����� ���	�� 2544:=34

+
����
�	�� �� ��� �	���� 
  ��������
��� ���
 ��� �	����� ���
�� 2544==34

���+#"�6 �����# ��� �!:� @�
��� �#�3A

���� �
	���� ���	��� �� 
�����
� ��
	� ��� �	���� 
   ��� !
��� �� ��� 
� E���4

CALL SamInfo(0"��"���,�	���0	���,��

0	���,��5��

)

!����"

0"��"��� �� �� ������� ���� �� 5 �  ��� �� 
�����
� �� �������0 
� �
� M��
  
� E���4

�	���0	��� �� �� ������� ���� ���	��� ��� �
��
 �	���� 
  !
��� 
  ��� 
� E���4

��

0	��� �� �� ������� ���� ���	��� ��� �	���� 
   ��� ��� 
� E��� !
���4

��5��

 �� �� ������� ���� ���	��� ��� �	���� 
  !
��� �� ��� 
������  ��� �

�; 
  ���

� E���4
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����  	����
� �
�,���� � ���� �	  �� ��� ���� ���
 ��� �	���� 
  ���
��� ����� .7R�� F��	��� .0
.=>54

�	���*
�	��� = Seconds(���
����,�
��)

!����"

���
���� �� ���  �,��!
�� ������� ���� �	  ��0 �� ��� ����  
���� �� ���� ���	���� �� �
��

 �
 �E�* ..4

�
�� �� � 
���!
�� ������� ,�����
�0 ��� �
�����
����� ����4

�	���*
�	��� �� � �
	�
��!
�� ������� ,�����
�0 ��� �	���� 
  ���
��� ����� .7�� F��	���
.0 .=>5 
  ���
����4

���!������#56 
���� ���!#2

���� �	��
	���� ������ ��� ������0 ��
����� �� ���  ���� �����


� 
� 	��� �� ���� ���������4

CALL SplitCommand(�����
,���� ,����/,[�"��])

!����"
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 �� ��� ��������� ������ �
 ��
����0 !��� 
������ �
��;� �������� �� 
�� ��� ������ ��
��
�� �
 ��;� ��� �	��
	���� ������ �
 	�� �� � ��������� �������
�4

���� �� � ��������� ������ ,�����
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	���� ��34
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	��� �� ��� ������4  2���
 ���� ��������� �� �� ����� �� ��������� �	���� .43
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� �������4  /
� ����� ����
��0 	��
����  	����
� !��� ����4

/
� �6���
�0 � ,�
�� 	�� 
  ���� ��

 ��"

err = fmppurge(StrDsc(8hEXPR::XX,1,8))
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err = fmppurge(’EXPR::XX’)
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sd = StrDsc(buf,1,80) 
IF (sd .EQ. ’STOP’) GOTO 10
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CALL StringCopy(�����
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Character string1*10, string2*10 . . .
CALL Sub(string1,string2)

Subroutine Sub(string1,string2)
Integer*4 string1, string2
 . . .
CALL StringCopy(string1,string2)
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,�������4



*�!�!�3,�#5,������,�������!#��,,,,,&�7�

 


+��/

���� �	��
	����  
����� ����0 � �
����,� �
	�
��!
�� �������0 ���
 /�����A �
������
�
��������� �������4

CALL TIMEF(
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SUBROUTINE PRINT(PREAMBLE,SUB,TOTAL)
CHARACTER *(*) PREAMBLE
CHARACTER *2 MIN 
CHARACTER *4 HR,PE 
CHARACTER *5 SEC 
CHARACTER *70 OUT
INTEGER OUTI(35) 
EQUIVALENCE (OUTI,OUT) 
INTEGER *4 SUB,TOTAL
.
.
.
CALL TIMEF(SUB,TOTAL,HR,MIN,SEC,PE)
OUT=PREAMBLE//HR//’ HRS ’//MIN//’ MIN ’//SEC//’ SEC’//PE X//’% OF
TOTAL’
CALL EXEC(2,1,OUTI,–70)
RETURN
END
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if ( WriteA990Clock(���
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) ) then �	� �>>! endif

integer*2 ���
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logical*2 WriteA990Clock
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CALL VSUM (sum, matrix(1,1), 3, 5)
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VADD 
CALL VSUB (v1,incr1,v2,incr2,v3,incr3,NumElements) 
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VDIV
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C     Calculate d = (a*a+b)/c for all elements.
      REAL*4 a, b, c, d
      DIMENSION a(100), b(100), c(100), d(100)
C
C     FORTRAN DO loop without VIS: 
      DO 10 i = 1,100 
           d(i) = a(i) * a(i) 
           d(i) = d(i) + b(i) 
           d(i) = d(i) / c(i)
10    CONTINUE
C     With VIS:
C     d = a*a Multiply each element in a by itself 
      CALL VMPY (a,1,a,1,d,1,100) 
C     d = d+b  Add each element of b with corresponding element in d

      CALL VADD (d,1,b,1,d,1,100) 
C     d = d/c  Divide each element of d with 
C              corresponding element in c 
      CALL VDIV (d,1,c,1,d,1,100) 
      END
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VSAD
CALL VSSB (scalar,v1,incr1,v2,incr2,NumElements)  
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C     Compute a(i) = a(i)/const 
      REAL*4 a
      DIMENSION a(100) 
      const = 4.0 
C
C     FORTRAN DO loop without VIS: 
      DO 10 i = 1,100 
10      a(i) = a(i)/const 
C
C     With VIS: 
C     Divide and replace each element of a 
      CALL VSMY (1.0/const,a,1,a,1,100)
      END
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CALL VABS (v1,incr1,v2,incr2,NumElements)
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C     Put absolute values of row a of a into b.
      REAL*4 a, b
      DIMENSION a(2,100), b(100) 
C 
C     FORTRAN DO loop without VIS: 
      DO 10 j = 1,100 
10      b(j) = abs(a(1,j)) 
C 
C     With VIS: 
      CALL VABS (a,2,b,1,100) 
      END

A
���� ���� ����. �� 70 !���� �� ��� ������� ���!��� �
! �
������  
� ����� �4  ��� A	��
������
��������� �� .550 !���� �� ��� �
! 
�����  
� � ��� ��� ��M� 
  �4  ����� � �� �
� �
�� ���4



9��8,,,,,�+�,�������!#��

��� ����!#��

��� �	� �
	����� ��
�	
��� ��� �	� 
� ��� �	� 
  ��� ���

	�� ,�
	�� 
  ����� ��� ����� �
������4
��� ���	
� �� ��
��� ���
 � ���
�� ,�����
�4  ��<� ��
�	
���� ��� �	�0 ��� �A�� �� �� ���� �
 ��
��� �	� 
  ��� ���

	�� ,�
	��4

CALL VSUM (scalar,v1,incr1,NumElements)  
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C Compute the average.
C grades = student grades 

REAL*4 grades, avrg
DIMENSION grades(25,50), avrg(25) 

C 
C FORTRAN DO loop without VIS: 

DO 10 istud = 1,25 
avrg(istud) = 0.0 
DO 20 j = 1,50 

20 avrg(istud) = avrg(istud) + grades(istud,j) 
avrg(istud) = avrg(istud)/50.0 

10 CONTINUE 
C 
C With VIS: 

DO 10 istud = 1,25 
CALL VSUM (avrg(istud),grades(istud,1),25,50) 
avrg(istud) = avrg(istud)/50.0 

10 CONTINUE 
 END
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C     Calculate the average of errors.
C     error contains + or – errors.
      REAL*4 err
      DIMENSION err(100) 
      REAL norm 
C
C     FORTRAN DO loop without VIS: 
      sum = 0.0 
      DO 10 i = 1,100 
10    sum = sum ABS(err(i) 
C 
C     With VIS: 
      CALL VNRM (sum,err,1,100) 
      norm = sum/100.0 
      END
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C     Compute the dot product of row 1 with itself.
C     dot = dot product 
      REAL*4 a
      DIMENSION a(5,25) 
C 
C     FORTRAN DO loop without VIS: 
      i = 1 
      dot = 0.0 
      DO 10 j = 1,25 
10    dot = dot + a(i,j) * a(i,j) 
C 
C     With VIS: 
      CALL VDOT (dot,a,5,a,5,25) 
      END
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C     Calculate a(2,j) = s * a(1,j) + a(2,j)
      REAL*4 a 
      DIMENSION a(3,50) 
C
C     s is the multiplier for the first row 
      s = –(a(2,1)/a(1,1)) 
C     Perform pivot to replace row 2 
C
C     FORTRAN DO loop without VIS: 
      DO 10 j = 1,50 
10      a(2,j) = s * a(1,j) + a(2,j) 
C
C     With VIS: 
      CALL VPIV (s, a(1,1), 3, a(2,1), 3, a(2,1), 3, 50) 

      END
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C     Find largest and smallest errors.  
C     errmax = largest error 
C     errmin = smallest error 
      REAL*4 err
      DIMENSION err(10) 
C 
C     FORTRAN DO loop without VIS: 
      errmax = err(1) 
      errmin = err(1) 
      DO 10 i = 1,10 

      IF (errmax .LE.  err(i)) errmax = err(i) 
      IF (errmin .GE.  err(i)) errmin = err(i) 

10    CONTINUE 
C 
C     With VIS: 
      CALL vmax(imax, err, 1, 10) 
      errmax = err(imax) 
C 
      CALL vmin(imin, err, 1, 10) 
      errmin = err(imin) 
      END

�����#��

��� ������� ���	���� ��� ����� 
�
� 
� ��� �
������ ���� ��� �6������0 �� ��+	����� �� ���
�������� ����� �
�����0 ��� ���������0 ��� �	���� 
  �
������4  ����� 
��0 ����� ��� ������
 �����
�
�������� ��� ��E��-A �
	�����"

.4 ,. �� ���  ���� ����� �
����� ��� ����. �� �
� .4

74 ,. �� �
� ���  ���� ����� �
����� ��� ����. N .4

84 ,. �� �
� ���  ���� ����� �
����� ��� ����. �� �
� .4

94 �	
���������
��
 ������ O �������� �
!�4



9�%%,,,,,�+�,�������!#��

���� � @(� !� "!��� ����3 �����#� �#5 !#��� !� #�� �A

H��� ����. �� ������� ���� .0 ��� ���	�
 ����6 
  ��� ����� �
����� ��"

index = 1 + incr1 * (ipos1 – 1)

!����"

��
�. �� ��� ���
�� ����6 ���	����  �
� ��

��� � ��E��-A �
	����4

�=�����K *�

 ���E 2��
�.0 ���2.30 70 :3

-� ����� ��� ��
,�0 ��� 
������ �
����� �� ���	�

� 54: �� ���2934  $
!�,��0 !��� ����. N 70 
�
�
�,��� 
���� �
����� �� �6������4  ����� 
�� ��� �����	���
� ���	��� ��
�. N :0 �	����� ����� ,�
	��
���
 ��� �+	���
�"

����. N 7
��
�. N : ���	����  �
� ,��6
����6 N . @ 7 P 2: O .3 N =

���2=3 N 549 
������ ,�
	� 
  �,��� 
���� �
�����

���� % @(� !� #�� "!��� ����3 �����#� �#5 !#��� O �A

H��� ,. �� �
� �6���
� ���  ���� ����� �
�����0 ��� ����6 ���	���� �� ��
���,� �
 ���� ����� ��� ,.4
�
 ��
�	
��� ��� �6��� �
����
� 2����63 
  ��� ��6��	�������	� ,�����
�0 ��� �+	���
� ��"

index = ipos2 + istart – 1

!����"

��
�7 �� ��� ���
�� ����6 ���	����4

������ �� ��� ����� �	������� 
  ,.4

�=�����K *�

 ���E 2��
�70 ���2�30 .0 :3

�������� !��� ���2�3 ��� �������� ��� ��6�  �,� �
������0 ��� 
������ ,�
	� �� �� ���2=34  $
!�,��0
��
�7 N 9 ����	�� ���2=3 �� ���  
	��� �
�����  �
� ���2�34  �
  ��� ��� ���	�
 ���
�� ����60 ���
��
�	
���
�� ���"

������ N �
��
�7 N 90 ���	����  �
� ���E
����6 N 9 @ � O . N =
���2=3 N 5490 
������ ,�
	� 
  
��� : �
������



�+�,�������!#��,,,,,9�%'

���� ' @(� !� #�� "!��� ����3 �����#� �#5 !#��� !� #�� �A

*
����� ��� �!
 �+	���
�� ��
,� �
 ��
�	
��� ��� �6��� �
����
� 2����63 
  ���
��6��	�������	� ,�����
�4

��
�7 N . @ ����. P 2��
�. O .3 
����6 N ��
�7 @ ������ O .

�������� !��� ��� ���
�� �
�����0 ���� �,��� 
���� �
�����  
� ��� 
������ ,�
	�4  ��
�. N 7
����	�� ��� 
������ ,�
	� �� ��� ��6� �
�����  �
� ���2734  �
  ��� ��� ���	�
 ����60 ��� ��
�	
���
��
���"

��
�7 N 90 ���	����  �
� ���E 
����. N 7 
��
�7 N . @ W 7 P 27 O.3 X N 8 
������ N 7 
����6 N ��
�7 @ ������ O . 
����6 N 8 @ 7 O . N 9 
���293 N 54:0 
������ ,�
	� 
  �,��� 
���� �
����� 
                �������� !��� ���273

���� 8 @����!5!��#�!�#�� ����3� P ���##!#2 ��0�A

H��� �!
 ��� ����� �������
��
 ������0 ��� �	���� 
  �

	��� ��� �� �������4  $
!�,��0 
�
�

�� �
! �� � ���� ��� �� ������� ��� �-� ��

4  �������� !��� ���  ���� �
����� 
  � �
!0 ��� ����6
���	���� �� ��� �

	�� �	����4

�=�����K *�

 ���E 2����60 ���280.30 90 :3

����6 N :0 �

	�� �	���� 
  
������ ,�
	� �� �
! 8
,. N ���280.30 �������� �
����� �� �
! 8 
����. N 90 �	���� 
  �
!� �� ��� 
A	��
������ N :0 �	���� 
  �
������ �� � �
! 
���280����63 N .8450 ��6��	� ,�
	� �� �
! 8

M���@8=7A

; ���
���

34�4 >4�4 ?4�4 <4�4 ;4�4
< ����  ;�4  J�4  5�4 ::�4  =�4

 :�4 34�4 33�4 3>�4 3?�4 ���B?�;C a �
���
� 
3J�4 3;�4 3<�4 3?�4 :;�4 �
�
� �� ��� ?



9�%8,,,,,�+�,�������!#��

��(� ����!#��

��� �
,� �
	����� �
�� 
� �6������ �
������ ���!��� �!
 ������4  �
	���� ���� �
���� ��
����� ���
 ��
���� �����4  ��H1 �6������� ����� ��� �
������ ���!��� �!
 ������4

CALL VMOV (v1,incr1,v2,incr2,NumElements)  
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C     Exchange row 1 of a with every element in b.  
      REAL*4 a, b
      DIMENSION a(5,25), b(25) 
C 
C     FORTRAN DO loop without VIS: 
      DO 10 j = 1,25 

      temp = a(1,j) 
      a(1,j) = b(j) 
      b(j)   = temp 

10    CONTINUE 
C 
C     With VIS: 
      CALL VSWP (a(1,1), 5, b, 1, 25)
C
      END

-���. �� : �
 ������ �
������ �� �
! .4  A	��
������ �� 7:0 !���� �� ��� ��M� 
  
�� �
! 
  � 
� ���

����� 
  �4  -���7 �� .0 �
 
����� ���� �
����� �� �4



9�%�,,,,,�+�,�������!#��

��� @�=��#5�5 �����3 ����A�
	�#���� ��(� ����!#��

��� �����
����� �
,� �
	����� �


! ������ �
 �� �
���� �
 ���  �
� ��� ��� �
�����
�����4  H��� �

 
���� �-� �
	�����0 ������ �	�� �� ������
� �� ��� 
� �
�����4  H����
�
���� �� ��� ����� ���
 � �
����� �����4  �H��� �
���� � �
����� ����� ���
 �� ���
�����4

CALL VWMOV (v1,incr1,v2,incr2,NumElements)  
WVMOV

�!#2�� ������ 
������!�# 
���!�!�# 
���!�!�#

�> �� !0%____     �3 �� ����!0% 9�0$9 19�09
�> �� ����!0%____�3 �� !0% �90$9 1�909

�����#��

��
� ,. 
� ,7 ��� �� �� ���4  �

 ��� 
���� ����������0 ����.0 ����70 ��� A	��
������0 ����
�
�� �� ���4  /	����� ����	���
� 
� 	���� ��� �� �� ��� �����
� B�6������ ���
�� ���� 2���3
*
���������
��0C �� *������ =4

�=�����

1�
�
��"  �
,� ���� 
  �� ��� ����� ���
 �
����� ����4

%�� ���� �� � .556855 �����6 �� ���0 ��� � �� � 
����������
��
 ����� 
  .55 �
������ ��
�
�����4  �
,� 
�� �

	��  �
� ���� ���
 �4

                     ����@���='��A �@���A
NNN                  ���
���
3 >  ? �  �  �  ?44

UUUU`3
���� > 
UUUU`?
UUUU`<
UUUU`�
UUUU`�
UU`344



�+�,�������!#��,,,,,9�%&

$EMA(xyz,0) 
      PROGRAM example 
      COMMON /xyz/emaa(100,300) 
      REAL*4 a
      DIMENSION a(100) 
C     Move column 1 from emaa into a.  
C 
C     FORTRAN DO loop without VIS: 
      DO 10 i = 1,100 
10      a(j) = emaa(1,j) 
C 
C     With VIS: 
      CALL WVMOV (emaa(1,1), 1, a, 1, 100) 
      END
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C 
C     FORTRAN DO loop without VIS:
C     DO 10 i = 1,100 
C    DO 10 j = 1,300
C 10      emaa(i,j) = 0.0 
C 
C     With VIS:
      CALL VWMOV (0.0, 0, emaa, 1, 100*300)
      END
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C     FORTRAN DO loop:
C     Add two vectors in double precision
C
      DOUBLE PRECISION a(100), b(100), d(100)
C
      DO 10 i = 1,100
10      d(i) = a(i) + b(i)
C
C     VIS equivalent: 
      CALL DVADD (a,1,b,1,d,1,100)
      END

��� ����������  
� )��)) ���"

v1 = a  incr1 = 1  NumElements = (100–1+1)/1 = 100
v2 = b  incr2 = 1
v3 = d  incr3 = 1
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DO 10 i = istart, iend, incr
  .  
  .
  .
10 CONTINUE

��� A	��
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NumElements = (iend – istart + incr)/incr
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C     FORTRAN DO loop:
C     Find the sum of every other element in array a
      DIMENSION array (100)
C
      sum = 0.0 Note that VSUM automatically initializes sum to 0.0 
      DO 10 i = 1,100,2 so that this statement is not required.
10      sum = sum + a(i)
C
C     VIS equivalent:
      CALL VSUM (sum,a,2,50)
      END

��� ����������  
� ��<� ���"

scalar = sum 
v1     = a 
incr1  = 2 
NumElements = (100–1+2)/2 = 50

�=������   /��� 
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C     FORTRAN DO loop: 
C     Find largest value in array a 
      REAL mxm 
      DIMENSION a (100) 
C 
      mxm = a(1) 
      imxm = 1 
      DO 10 i = 1,100 
          IF (a(i) .LE.  mxm)  GOTO 10 
          mxm = a(i) 
          imxm = i 
10    CONTINUE 
C 
C     VIS equivalent: 
      CALL VMAX (imxm,a,1,100) 
      mxm = a(imxm) 
      END

��� ����������  
� ���E ���"

scalar    = imxm 
v1        = a 
incr1     = 1 
NumElements = (100–1+1)/1 = 100
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C     FORTRAN DO loop:
C     Add two 10 x 10 matrixes in double precision
C
      DOUBLE PRECISION a(10,10), b(10,10), d(10,10)
C
      DO 10 j = 1,10
          DO 10 i = 1,10
10      d(i,j) = a(i,j) + b(i,j)
C
C     VIS equivalent:
      CALL DVADD (a(1,1),1,b(1,1),1,d(1,1),1,10 * 10)
C     or
      CALL DVADD (a, 1, b, 1, d, 1, 10 * 10)
       .
       .
       .
      END

��� ����������  
� )��)) ���"

v1 = a  incr1 = 1   NumElements = [(10–1+1)/1]*[(10–1+1)/1] = 100
v2 = b  incr2 = 1
v3 = d  incr3 = 1
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      DO 10 i = istart#1, iend#1, incr#1
      DO 20 j = istart#2, iend#2, incr#2
       .
       .
       .
20    CONTINUE
       .
       .
       .
10    CONTINUE

��� A	��
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NumElements = [(iend#1-istart#1+1)/incr#1] * [(iend#2-istart#2+1)/incr#2]
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C     FORTRAN DO loop: 
C     Exchange rows 
C 
      DIMENSION a(5,100) 
C 
C     Exchange row 1 of a with row 3 of a 
      DO 10 icol = 1,100 
          temp = a(1,icol) 
          a(1,icol) = a(3,icol) 
          a(3,icol) = temp 
10    CONTINUE 
C 
C     VIS equivalent: 
      CALL VSWP (a(1,1),5,a(3,1),5,100)
      END

��� ����������  
� ��H1 ���"

v1 = a(1,1)  incr1 = 5 
v2 = a(3,1)  incr2 = 5 

NumElements = 100–1+1/1
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C     FORTRAN nested DO loops
      DIMENSION a (25,10), b(10,20), c(25,20)
C 
C     FORTRAN DO loops:
      DO 20 i = 1,25
         DO 20 j = 1,20
             c(i,j) = 0.0
             DO 30 k = 1,10
                 c(i,j) = c(i,j) + a(i,k) * b(k,j)
30       CONTINUE
20    CONTINUE
C 
C 
C     VIS equivalent:
      DO 20 i = 1,25 
         DO 20 j = 1,20
C 
C        Replace DO
         CALL VDOT (c(i,j), a(i,1), 25, b(1,j), 1, 10)
C 
20    CONTINUE
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      DO 10 i = 1,n
          x(i) = s*v1(i) + t*v2(i)
   10 CONTINUE

��� �� ��!������ ��"

      DO 10 i = 1,n
          x(i) = s*v1(i)
          x(i) = x(i) + t*v2(i)
   10 CONTINUE
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      DO 10 i = 1,n
          x(i) = s*v1(i)
   10 CONTINUE

      DO 20 i = 1,n
          x(i) = x(i) + t*v2(i)
   20 CONTINUE

����� 
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      CALL VSMY (s,v1,1,x,1,n)
      CALL VPIV (t,v2,1,x,1,x,1,n)
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C     FORTRAN DO loop: 
      DO 10 i = 1,n 
10      a(i) = const 
C 
C     VIS equivalent: 
      CALL VMOV(const,0,a,1,n)
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C     FORTRAN DO loop:
      j = n 
      DO 10 i = 1,n/2
          temp = v(i)
          v(i) = v(j)
          v(j) = temp
10      j = j – 1
C
C     VIS equivalent: 
      CALL VSWP (v,1,v(n),–1,n/2)
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C     FORTRAN DO loop: 
      DO 10 i = 1,n 
          DO 20 j = 1,n 
              a(i,j) = 0.0D0 
              IF (i .EQ.  j) a(i,j) = 1.0D0 
20        CONTINUE 
10    CONTINUE 
C 
C     VIS equivalent: 
      CALL DVMOV (0.0D0, 0, a, 1, n*n) 
      CALL DVMOV (1.0D0, 0, a, n+1, n)
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      array(1) = 1.0 
      array(2) = 2.0 
C     FORTRAN DO loop: 
      DO 10 i = 1,n–2 
10      array (i+2) = array(i) + 2.0 
C 
C     VIS equivalent: 
      CALL VSAD (2.0, array, 1, array(3), 1, n–2)
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array(1) = 1.0 
CALL VSAD (1.0, array, 1, array(2), 1, n–1)
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CALL VSUM (sum, v, 1, n)
avg = sum/n
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CALL VDOT (dot, v, 1, v, 1, n) 
rms = SQRT (dot/n)
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CALL VSUM (sum, v, 1, n)
avg = sum/n
CALL VSAD (–avg, v, 1, temp, 1, n)
CALL VDOT (dot, temp, 1, temp, 1, n)
stdev = SQRT(dot/(n–1))
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CALL VSUM (S1, v, 1, n)
CALL VDOT (S2, v, 1, v, 1, n)
var = (S2 – S1*S1/n)/(n–1)
stdev = SQRT(var)

����!= 
��#����!�!�#

��� ������
����
� �����6 ������ 
  ��� �����6 � ��  
���� �� ����� ������ ��� �
!� 
  � ���
 ���
�

	��� 
  ������4  � /�����A ��
���� �
 �������� ��� �����6 ������ �
	
� �� !������ ��"

DO 10 i = 1,n
   DO 10 j = 1,n
      atrans(i,j) = a(j,i)
10 CONTINUE
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   DO 10 i = 1,n
       CALL VMOV (a(i,1), n, atrans(1,i), 1, n)
10 CONTINUE
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CALL VSWP (a(1,2), 4, a(2,1), 1, 3)
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   DO 10 i = n–1 
     CALL VSWP (a(i,i+1), n, a(i+1,i), 1, n–i) 
10 CONTINUE

��
� ��. 


� ������ ��� ��+	���� ����� ��� 
��� �
! ��� �

	�� �� ��� �2�0�3 �
�����4



*�!#2,�+�,!#,
��2����,,,,,$��7

.���1!�� ����5!#��� 
��#�"�����!�#

� ����� 
������
� �� ����� �������
��
 �������� �
 �!��� �� ��� �

������� ����� 
�����
�4  1
����
�� ��� �������� ����� ��� ��
��� �� 8 �
����� ,���
��0 !�
�� ,�
	�� ��� ��� 60 �0 ��� M �

��������

  ���� �
���4  2��� � �
���� 
  ��� �
��
��� ����	�� ��	� ��+	��� � ,���
��0 !���� ��� ��
��� �� � 8
6 � �����34  *

������� ����� 
�����
� ��,

,�� �
������ ��� ��������
 ����� ��� ���� �����
�����
��� �
���� �
 � ��! 
�����4

��� �
����
� �� ���
��
����� ��  ���� �	�
���� � 8 6 8 �
����
� �����6 �4  ���� ,���
� �� ���� B������
���
	��C ��� �
����
� �����6 �� �����6 �	
���
�����
� �
 ������ � ��! ��� 
  �

������� ,���
��4
��� 
������
� ��� �� �6������� ��"

� Q � O �
 

�33 �3> �3? 
�3 
�> ��� 
�� ��3 ��> ��� ���
�>3 �>> �>? L 
	3 
	> ��� 
	� a �	3 �	> ��� �	�
�?3 �?> �?? 
&3 
&> ��� 
&� �&3 �&> ��� �&�

B?�?C B?��C B?��C 

���� 
������
� �� �����6 �	
���
�����
�4  $
!�,��0 ����� ��� �����6�� � ��� � 	�	�

� �
����� �

���� �	���� 
  �
���� 2�

	���30 � !�

 �� �	�� ������� ���� ��� �	���� 
  �
!� 283 ��� � �
��
�  ������ ������+	� ��� ��  
	��4  -������ 
  ����� 
����� ���� �

	�� ,���
�0 
�� 	� �6����� ���
�+	���
�  
� ��� 6��

������� 
  ���� �
���"

�= O ��� Q �= R ��% Q �3 R ��' Q �: 

��3 a �33 L 
�3 R �3> L 
	3 R �3? L 
&3
��> a �33 L 
�> R �3> L 
	> R �3? L 
&>
��? a �33 L 
�? R �3> L 
	? R �3? L 
&?
U� U� U� U� 
U� U� U� U� 
U� U� U� U� 
��� a �33 L 
�� R �3> L 
	� R �3? L 
&�

/�
� ����� �+	���
�� �
	 ��� ���� �60 ��� ,���
� 
  ��! 6��

��������0 �� � 
����� �
�������
� 
 
��� ���	� �

������� ,���
�� �60 ��0 ��� �M4  A
�� ���� ��� �
����
� �����6 �
�  ������� 2�..0 �.70 �.8
T	�� ������ �� ���
��� �� ����� �+	���
��4  <���� ��� ������
 �
����
� �60 �60 ��0 ��� �M0 ��� �-�
�+	�,�
��� 
  ����� �+	���
�� ���
���"

CALL VSMY (r11, ax, 3, bx, 3 n)
CALL VPIV (r12, ay, 3, bx, 3, bx, 3, n)
CALL VPIV (r13, az, 3, bx, 3, bx, 3, n)
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   DO 10 i = 1,3 
       CALL VSMY (r(i,1), a(1,1), 3, b(i,1), 3, n) 
       CALL VPIV (r(i,2), a(2,1), 3, b(i,1), 3, b(i,1), 3, n)
       CALL VPIV (r(i,3), a(3,1), 3, b(i,1), 3, b(i,1), 3, n)
10 CONTINUE
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CALL VSAD(tx, b(1,1), 3, b(1,1), 3, n)
CALL VSAD(ty, b(2,1), 3, b(2,1), 3, n)
CALL VSAD(tz, b(3,1), 3, b(3,1), 3, n)
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MSEG = 2*n–1
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WSUM:  n = 1 (v1 only), MSEG = 2*1–1 = 1
WDOT:  n = 2 (v1 and v2), MSEG = 2*2–1 = 3
WDOT:  n = 3 (v1, v2, and v3) MSEG = 2*3–1 = 5
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CALL subr ((scalar), earray(1,1),1,10)
CALL subr (scalar+0.,earray(1,1),1,10)
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$EMA(xyz,3) 
     PROGRAM sump 
     COMMON /xyz/ a(100,300), tsum(100) 
C 
C    Find sum of each row in a and put into tsum.  
C 
C    Without VIS: 
     DO 10 i = 1,100 
         tsum(i) = 0.0 
         DO 20 j = 1,300 
             tsum(i) = tsum(i) + a(i,j) 
  20     CONTINUE 
  10 CONTINUE 
C 
C    VIS equivalent: 
     DO 10 i = 1,100 
         CALL WSUM (sum, a(i,1), 100, 300) 
         tsum(i) = sum 
  10 CONTINUE 
     END
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$EMA(xyz,3) 
     COMMON /xyz/ a(500), b(500), c(300) 
     EQUIVALENCE (var, c(1)) 
C 
C    Add var to each element in b and store into a.  
C 
C    Without VIS: 
     DO 20 i = 1, 500 
         a(i) = var + b(i) 
  20 CONTINUE 
C 
C    VIS equivalent: 
     CALL WSAD ( (var), b, 1, a, 1, 500) 
     END
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$EMA(xyz,1)
     PROGRAM sump1
     COMMON /xyz/ a(300,100), tsum(100)
C 
C    Find sum of each column in a and put into tsum.
C 
C    Without VIS:
     DO 10 i = 1,100
         tsum(i) = 0.0
         DO 20 j = 1,300
             tsum(i) = tsum(i) + a(i,j)
  20     CONTINUE
  10 CONTINUE
C 
C    VIS equivalent:
     DO 10 i = 1,100
         CALL WSUM (sum, a(1,i), 1, 300)
         tsum(i) = sum
  10 CONTINUE
     END
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$EMA(area,1) 
      PROGRAM plana 
      COMMON/area/a 
      DIMENSION a(10,20,30), asum(20) 
C 
C     Without VIS: 
      DO 10 i = 1,20 
          asum(i) = 0.0 
          DO 20 j = 1,30 
              asum(i) = asum(i) + a(1,i,j) 
   20     CONTINUE 
   10 CONTINUE 
C 
C     VIS equivalent: 
      DO 10 i = 1,20 
          CALL WSUM (asum(i), a(1,i,1), 10*20, 30) 
   10 CONTINUE 
      END
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$EMA(area,1)
      PROGRAM plana 
      COMMON/area/a 
      DIMENSION a(30,20,10), asum(20) 
C 
C     Without VIS: 
      DO 10 i = 1,20 
          asum(i) = 0.0 
          DO 20 j = 1,30 
              asum(i) = asum(i) + a(j,i,1) 
   20     CONTINUE 
   10 CONTINUE 
C 
C     VIS equivalent: 
      DO 10 i = 1,20 
          CALL WSUM (asum(i), a(1,i,1), 1, 30) 
   10 CONTINUE 
      END
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      DO 10 i =1,m 
          DO 10 j = 1,p 
              c(i,j) = 0.0 
              DO 20 l = 1,n 
                  c(i,j) = c(i,j) + a(i,l) * b(l,j) 
   20         CONTINUE
   10 CONTINUE
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      DO 10 i = 1,m 
          DO 10 j = 1,p 
C 
C     Without VIS: 
              c(i,j) = 0.0 
              DO 20 l = 1,n 
                  c(i,j) = c(i,j) + a(i,l) * b(l,j) 
  20          CONTINUE 
C     VIS equivalent: 
              CALL VDOT (c(i,j), a(i,1), m, b(1,j), 1, n) 
C 
  10 CONTINUE
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$EMA(xyz,3)
      PROGRAM ema1 
      COMMON /xyz/ a, b, c 
      DIMENSION a(100,200), b(200,300), c(100,300) 
C 
      m = 100 
      p = 300 
      n = 200 
      DO 10 i = 1,m 
          DO 10 j = 1,p 
C 
C     Without VIS: 
              c(i,j) = 0.0 
              DO 20 l = 1,n 
                  c(i,j) = c(i,j) + a(i,l) * b(l,j) 
   20         CONTINUE 
      VIS equivalent: 
              CALL WDOT (temp, a(i,1), m, b(1,j), 1, n) 
              c(i,j) = temp 
C 
   10 CONTINUE 
      END
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$EMA(xyz,3) 
      PROGRAM ema2 
      COMMON /xyz/ a, b, c 
      DIMENSION a(200,100), b(200,300), c(100,300) 
C 
      m = 100 
      p = 300 
      n = 200 
      DO 10 i = 1,m 
          DO 10 j = 1,p 
C 
C     Without VIS: 
              c(i,j) = 0.0 
              DO 20 l = 1,n 
   20           c(i,j) = c(i,j) + a(l,i) * b(l,j) 
C     VIS equivalent: 
              CALL WDOT (temp, a(1,i), 1, b(1,j), 1, n) 
              c(i,j) = temp 
C 
   10 CONTINUE 
      END
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$EMA(dan,3) 
      PROGRAM sieve 
      COMMON /dan/ prime(32767) 
      DIMENSION ip(5),anum(10) 
      EQUIVALENCE (ip,lu)
C 
C***  This program generates prime numbers from 2 to 65535 **** 
C                                                             * 
C     incr   = increment through array prime                  * 
C              And also the working prime number              * 
C     ip     = global inputs                                  * 
C     32767  = length of array prime                          * 
C     lu     = output logical unit                            * 
C     ncount = number of values to eliminate                  * 
C     prime  = array of odd numbers, initially; then,         * 
C              Array of prime numbers                         * 
C     isqrln = index of the largest odd number .LE.           * 
C              the SQRT of last number in array               * 
C     istrt  = index of incr**2 which is 1st no. to eliminate * 
C                                                             * 
C************************************************************** 
C     Get output logical unit 
      CALL RMPAR(lu) 
C 
      isqrln = (SQRT(2.0*32767+1.0) – 1)/2 
C***************************************** 
C     Initialize prime with odd numbers  * 
C***************************************** 
      prime(1) = 3.0 
      prime(2) = 5.0 
C
C     Without VIS: 
      DO 10 i = 3,32767 
   10   prime(i) = prime(i–2) + 4.0 
C 
C     With VIS: 
      CALL WSAD(4.0,prime,1,prime(3),1,32767–2) 
C
C
C*********************************** 
C     Eliminate nonprime numbers  * 
C*********************************** 
      DO 100 i = 1,isqrln 
      IF (PRIME(I).EQ.0.0  GOTO 100 
      incr = i + i + 1 
      istrt = incr * incr/2.0 
      ncount = (32767 – istrt)/incr + 1 
 
C*********************************** 
C     Zero out nonprime numbers    * 
C*********************************** 
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C
C     Without VIS: 
      j = istrt 
      DO 20 k = 1,ncount 
      prime(j) = 0.0 
   20   j = j + incr 
C 
C     With VIS: 
      CALL VWMOV(0.0,0,prime(istrt),incr,ncount) 
C
  100 CONTINUE 
C************************************ 
C     List prime numbers            * 
C                                   * 
C     isum = total number of primes * 
C     anum = 10 primes to print     * 
C            per line               * 
C************************************ 
      isum = 0 
      j    = 1 
      anum(j) = 2.0 
      DO 200 i = 1,32767 
          IF (prime(i).EQ.0.0) GOTO 200 
          isum = isum + 1 
          j = j + 1 
          anum(j) = prime(i) 
          IF (j.LT.10) GOTO 200 
          IF (j.NE.0)  WRITE(lu,250) (anum(k),k=1,j) 
          j = 0 
   200 CONTINUE 
       WRITE (lu, 300) isum 
   250 FORMAT(5X,10I7) 
   300 FORMAT(///” Total primes =  ”,I5) 
       END 
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$EMA(den,5) 
     PROGRAM vsolv 
     COMMON /den/ a(201,200),x(200),ip(200) 
     DIMENSION itim1(5),itim2(5) 
C***  This program solves a linear system using VIS routines **** 
C 
     lu = loglu(i) 
C***************************************** 
C  Read in order of linear system        * 
C***************************************** 
C 
     WRITE(lu,50) 
  50 FORMAT(//”Input order of linear system _”) 
     READ(lu,*) n 
     IF(n .LE.  1) n=2 
     IF(n .GT.  200) n=200 
C 
C***************************************** 
C* Form the test matrix                  * 
C* For example: 1x + 2y + 3z = 4         * 
C*              2x + 3y + 4z = 1         * 
C*              3x + 4y + 1z = 2         * 
C***************************************** 
C 
     DO 10 i=1,n 
         k=i 
         DO 10 j=1,n+1 
             IF(k.GT.n+1) k=MOD(k,n+1) 
             a(j,i) = FLOAT(k) 
  10 k=k+1 
C
C***************************************** 
C* Call gauss to solve linear system     * 
C***************************************** 
C* Call for system time                  * 
C***************************************** 
C 
     CALL EXEC(11,itim1) 
     CALL gauss (a,x,ip,200,201,n,iflag) 
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     CALL EXEC(11,itim2) 
     WRITE(lu,55) 
  55 FORMAT(///”The solution vector x is”//) 
     DO 70 i=1,n 
         WRITE(lu,60) i,x(i) 
  60     FORMAT(9X,”X(”,I3,”)   ”,F11.5) 
  70 CONTINUE 
     CALL etime(itim1,itim2) 
     END 
C 
C 
     SUBROUTINE gauss (a,x,ip,msize,msizp1,n,iflag) 
     EMA a,x,ip 
     REAL a(msizp1,msize), x(msize) 
     INTEGER ip(msize) 
C 
C************************************************************ 
C* Initialize the ip vector to be used for pivoting         * 
C************************************************************ 
C 
     iflag=1 
     DO 10 i=1,n 
  10   ip(i)=i 
C 
C************************************************************** 
C* Begin Gaussian elimination by first pivoting the equations * 
C************************************************************** 
C 
     DO 20 k=1,n–1 
         DO 30 i=k+1,n 
             IF (ABS(a(k,ip(k))) .GE  ABS(a(k,ip(i)))  GOTO 30 
             itemp=ip(k) 
             ip(k)=ip(i) 
             ip(i)=itemp 
  30     CONTINUE 
C 
C******************************************** 
C* Check for a zero in the diagonal         * 
C******************************************** 
         IF (a(k,ip(k)) .NE.  0.  G  TO 35 
         iflag=0 
  35 CONTINUE
C
C********************************** 
C  Perform the actual elimination * 
C********************************** 
C 
         DO 20 i=k+1,n 
             z1 = a(k,ip(i)) 
             IF (z1 .EQ.  0  GOTO 20 
             z1 = z1/a(k,ip(k)) 
C
C    Without VIS: 
             DO 25 j=k+1,n+1 
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  25         a(j,ip(i)) = a(j,ip(i)) – z1*a(j,ip(k)) 
C 
C    With VIS: 
         CALL WPIV (–z1, a(k+1,ip(k)), 1, a(k+1,ip(i)), 1, 
     +           a(k+1,ip(i)), 1, (n–k+1)) 
C
20        CONTINUE 
C  
C********************************************************** 
C  End of elimination – now check to make sure the matrix * 
C                       is not singular                   * 
C********************************************************** 
C 
     IF (a(n,ip(n)) .EQ.  0) iflag=0 
C 
C********************************** 
C  Now perform back substitution  * 
C********************************** 
C 
     DO 50 k=n,1,–1 
         s=0.0 
         l=k+1 
         IF (l .GT.  n) GOTO 50 
C  
C        Without VIS: 
         DO 55 j=l,n 
  55     s = s + a(j,ip(k))*x(j) 
C 
C    With VIS: 
         CALL WDOT (s, a(l,ip(k)), 1, x(l), 1, (n–l+1)) 
C  
  50 x(k) = (a(n+1,ip(k))–s)/a(k,ip(k)) 
     RETURN 
 
  70 iflag = 0 
     RETURN 
     END 
C 
C 
     SUBROUTINE etime(itim1,itim2) 
     DIMENSION itim1(5),itim2(5)
C
C*************************************** 
C*    Calculate elapsed time           * 
C*************************************** 
C Check centiseconds 
      IF (itim2(1) .GE.  itim1(1)) GOTO 10 
      itim2(2) = itim2(2) – 1 
      itim2(1) = itim2(1) + 100 
C Check seconds 
   10 IF (itim2(2) .GE.  itim1(2)) GOTO 20 
      itim2(3) = itim2(3) – 1 
      itim2(2) = itim2(2) + 60 
C Check minutes 
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   20 IF (itim2(3) .GE.  itim1(3)) GOTO 30 
      itim2(4) = itim2(4) – 1 
      itim2(3) = itim2(3) + 60 
C Don’t bother with hours 
   30 icens = 10*(itim2(1) – itim1(1)) 
      isecs = itim2(2) – itim1(2) 
      imins = itim2(3) – itim1(3) 
      ihour = itim2(4) – itim1(4) 
      WRITE(1,55) ihour,imins,isecs,icens 
   55 FORMAT(//”Execution time  =”,3(I2,”:”),I3) 
      RETURN 
      END
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$EMA(bill,5) 
      PROGRAM chuck 
      COMMON /bill/ a,test 
      DIMENSION itemp1(5),itemp2(5),ipvt(200) 
      REAL a(200,200),test(400),dot,norm 
      DATA msize / 200 / 
      CALL RMPAR(itemp1) 
C     listlu = output device 
C     icheck = 0, DO NOT compute norm; = 1, compute the norm
      listlu = itemp1(1) 
      icheck = itemp1(2) 
C***********************************************************
C
C Major loop: calculate inverse of square matrixes 
C from 50 to 200 in increments of 50 
      DO 100 n = 50,200,50 
C
C***********************************************************
C
C     Construct test matrix 
          DO 10 i = 1,2*n 
              test(i) = iabs(i–n) 
   10     CONTINUE 
C 
          DO 15 j = 1,n 
C
C           Without VIS: 
C             DO 15 i = 1,n 
C                 a(i,j) = test(n–j+i) 
C           VIS equivalent: 
                  CALL WMOV(test(n–j+1),1,a(1,j),1,n) 
C
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   15     CONTINUE 
 
C*********************************************************** 
C 
C     Set itemp1 to the cpu time in seconds 
C 
      CALL EXEC(11,itemp1) 
C*********************************************************** 
C 
C     Invert the matrix 
C 
      CALL invrt(a,msize,n,ipvt,ierr) 
C*********************************************************** 
C 
C     Set itemp2 to the cpu time in seconds 
      CALL EXEC(11,itemp2) 
C 
C     Calculate elapsed time 
      DO 25 i = 1,4 
         itemp2(i) = itemp2(i) – itemp1(i) 
   25 CONTINUE 
      IF (itemp2(4) .LT.  0) itemp2(4) = itemp2(4) + 24 
      time = itemp2(4)*3600.+itemp2(3)*60.+itemp2(2) 
     +       +itemp2(1)/100.  
C*********************************************************** 
C 
C     Check the answer 
C 
      norm = 0.0 
      IF (icheck .EQ.  0) GOTO 40 
C 
      DO 20 i = 1,n 
         DO 20 j = 1,n 
C
C           Without VIS: 
C           dot = 0.0 
C           DO 30 k = 1,n 
C  30         dot = dot + a(k,i) * test(n–j+k) 
C           With VIS:
            CALL WDOT(dot,a(1,i),1,test(n–j+1),1,n) 
C
            IF (i .EQ.  j)   dot = dot – 1.0 
            norm = norm + ABS(dot) 
   20    CONTINUE
C
C*********************************************************** 
C 
C     Print the results 
C 
      WRITE (listlu,90) 
90    FORMAT(///” Matrix size”,11X,”Norm”,9X,”Inversion time”//) 
40    WRITE (listlu,91) n,norm,time 
91    FORMAT(4X,I3,10X,E12.5,5X,F12.2) 
C*********************************************************** 
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C 
C     End of major loop 
  100 CONTINUE 
      END 
 
      SUBROUTINE invrt(a,msize,n,ipvt,ierr) 
C Matrix inversion 
      EMA a 
      REAL a(msize,n),pivot,t 
      INTEGER ipvt(n) 
      DATA eps / 1E–6 / 
C*********************************************************** 
C 
C     Initialize interchange pointer 
C 
      DO 5 i = 1,n 
          ipvt(i) = i 
   5  CONTINUE 
C*********************************************************** 
C 
C     Start loop through main diagonal 
C 
      DO 100 irow = 1,n 
C*********************************************************** 
C 
C     Search for pivot 
C 
         icol = ipvt(irow) 
C
C        Without VIS: 
C        imax = irow 
C        pivot = a(icol,irow) 
C        IF (irow .EQ.  n) GOTO 20 
C        DO 10 jrow = irow+1, n 
C           t = a(icol,jrow) 
C           IF (ABS(t) .LE.  pivot) GOTO 10 
C           imax = jrow 
C           pivot = t 
C  10    CONTINUE 
C        With VIS: 
         CALL WMAB(imab,a(icol,irow),msize,n–irow+1) 
         imax = imab + irow – 1 
         pivot = a(icol,imax) 
C
   20    IF (ABS(pivot) .LT.  eps) GOTO 99 
C 
C*********************************************************** 
C 
C     Interchange columns 
C 
         jmax = ipvt(imax) 
         IF (imax .EQ.  irow) GOTO 40 
C 
         ipvt(irow) = ipvt(imax) 
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         ipvt(imax) = icol 
C 
C
C        Without VIS: 
C        DO 25 jcol = 1,n 
C            T = a(jcol,irow) 
C            a(jcol,irow) = a(jcol,imax) 
C            a(jcol,imax) = t 
C  25    CONTINUE 
C        With VIS: 
         CALL WSWP(a(1,irow),1,a(1,imax),1,n) 
C 
C
C*********************************************************** 
C 
C  Zero out elements in this column and form column of inverse.  
C 
   40      a(icol,irow) = a(jmax,irow) 
           a(jmax,irow) = 1.0 
C
C        Without VIS: 
C        DO 45 jcol = 1,n 
C           a(jcol,irow) = a(jcol,irow)/pivot 
C  45    CONTINUE 
C        With VIS: 
         CALL wsmy(1.0/pivot,a(1,irow),1,a(1,irow),1,n) 
C
C 
         DO 50 jrow = 1,n 
            IF (jrow .EQ.  irow) GOTO 50 
            t = –a(icol,jrow) 
            a(icol,jrow) = a(jmax,jrow) 
C
C           Without VIS: 
C           DO 60 kcol = 1,n 
C              a(kcol,jrow) = a(kcol,jrow) + t*a(kcol,irow) 
C  60       CONTINUE 
C           With VIS: 
            CALL wpiv(t,a(1,irow),1,a(1,jrow),1,a(1,jrow),1,n) 
C
            a(jmax,jrow) = t/pivot 
   50    CONTINUE
C
C*********************************************************** 
C 
C     End of main loop 
  100 CONTINUE 
      ierr = 0 
      RETURN 
C  Error condition, ierr = column with no acceptable pivot.  
   99 ierr = irow 
      RETURN 
      END 
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       SUBROUTINE VADD(V1,INCR1,V2,INCR2,V3,INCR3,N)
       REAL V1(1),V2(1),V3(1) 
       IF(N.LE. 0) RETURN 
       J1 = 1 
       J2 = 1 
       J3 = 1 
       DO 10 I = 1,N
       V3(J3) = V1(J1) + V2(J2) 
       J1 = J1 + INCR1
       J2 = J2 + INCR2
    10 J3 = J3 + INCR3
       RETURN         
       END

��<'"  �	�������
�

       SUBROUTINE VSUB (V1,INCR1,V2,INCR2,V3,INCR3,N)
       REAL V1(1),V2(1),V3(1)
       IF (N.LE.0) RETURN    
       J1 = 1                
       J2 = 1                
       J3 = 1                
       DO 10 I = 1,N         
       V3(J3) = V1(J1) – V2(J2)
       J1 = J1 + INCR1         
       J2 = J2 + INCR2         
    10 J3 = J3 + INCR3          
       RETURN 
       END
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       SUBROUTINE VMPY(V1,INCR1,V2,INCR2,V3,INCR3,N)
       REAL V1(1),V2(1),V3(1) 
       IF (N.LE.0) RETURN 
       J1 = 1 
       J2 = 1 
       J3 = 1 
       DO 10 I = 1,N
       V3(J3) = V1(J1) * V2(J2) 
       J1 = J1 + INCR1
       J2 = J2 + INCR2
    10 J3 = J3 + INCR3
       RETURN 
       END

�)-�"  ��,���
�

       SUBROUTINE VDIV(V1,INCR1,V2,INCR2,V3,INCR3,N)
       REAL V1(1),V2(1),V3(1)
       IF (N.LE.0) RETURN    
       J1 = 1                
       J2 = 1                
       J3 = 1                
       DO 10 I = 1,N
       V3(J3) = V1(J1) / V2(J2)
       J1 = J1 + INCR1         
       J2 = J2 + INCR2         
    10 J3 = J3 + INCR3         
       RETURN                  
       END

���)"  ���
���,���
� ������
�

       SUBROUTINE VSAD(S,V1,INCR1,V2,INCR2,N) 
       REAL S,V1(1),V2(1) 
       IF (N.LE.0) RETURN 
       J1 = 1 
       J2 = 1 
       DO 10 I = 1,N
       V2(J2) = S + V1(J1)
       J1 = J1 + INCR1
    10 J2 = J2 + INCR2
       RETURN 
       END
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       SUBROUTINE VSSB(S,V1,INCR1,V2,INCR2,N) 
       REAL S,V1(1),V2(1) 
       IF (N.LE.0) RETURN 
       J1 = 1 
       J2 = 1 
       DO 10 I = 1,N
       V2(J2) = S – V1(J1)
       J1 = J1 + INCR1    
    10 J2 = J2 + INCR2    
       RETURN             
       END
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       SUBROUTINE VSMY (S,V1,INCR1,V2,INCR2,N)
       REAL S,V1(1),V2(1)                     
       IF (N.LE.0) RETURN
       J1 = 1            
       J2 = 1            
       DO 10 I = 1,N     
       V2(J2) = S * V1(J1)
       J1 = J1 + INCR1    
    10 J2 = J2 + INCR2    
       RETURN 
       END

��)�"  ���
���,���
� ��,���
�

       SUBROUTINE VSDV(S,V1,INCR1,V2,INCR2,N) 
       REAL S,V1(1),V2(1) 
       IF (N.LE.0) RETURN 
       J1 = 1 
       J2 = 1 
       DO 10 I = 1,N
       V2(J2) = S / V1(J1)
       J1 = J1 + INCR1
    10 J2 = J2 + INCR2
       RETURN 
       END
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       SUBROUTINE VPIV(S,V1,INCR1,V2,INCR2,V3,INCR3,N)
       REAL S,V1(1),V2(1),V3(1)
       IF (N.LE.0) RETURN      
       J1 = 1                  
       J2 = 1                  
       J3 = 1                  
       DO 10 I = 1,N           
       V3(J3) = S * V1(J1) + V2(J2)
       J1 = J1 + INCR1             
       J2 = J2 + INCR2             
    10 J3 = J3 + INCR3             
       RETURN                      
       END

�)��"  �
� ��
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       SUBROUTINE VDOT(S,V1,INCR1,V2,INCR2,N)
       REAL S,V1(1),V2(1) 
       DOUBLE PRECISION DS 
       IF (N.LE.0) RETURN  
       DS = 0.0D0          
       J1 = 1              
       J2 = 1              
       DO 10 I = 1,N       
       DS = DS + DBLE(V1(J1)) * DBLE(V2(J2)) 
       J1 = J1 + INCR1                       
    10 J2 = J2 + INCR2                
       S = SNGL(DS)                   
       RETURN                         
       END

��'�"  ���

	�� ,�
	�

       SUBROUTINE VABS(V1,INCR1,V2,INCR2,N)
       REAL V1(1),V2(1)
       IF (N.LE.0) RETURN
       J1 = 1
       J2 = 1 
       DO 10 I = 1,N
       V2(J2) = ABS(V1(J1)) 
       J1 = J1 + INCR1
    10 J2 = J2 + INCR2
       RETURN 
       END
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       SUBROUTINE VSUM(S,V1,INCR1,N)
       REAL S,V1(1) 
       DOUBLE PRECISION DS
       IF (N.LE.0) RETURN 
       DS = 0.0D0 
       J1 = 1 
       DO 10 I = I,N
       DS = DS + DBLE(V1(J1)) 
    10 J1 = J1 + INCR1
       S = SNGL (DS)
       RETURN
       END

�A��"  �	� 
  ���

	�� ,�
	��

       SUBROUTINE VNRM(S,V1,INCR1,N)
       REAL S,V1(1)                 
       DOUBLE PRECISION DS          
       IF (N.LE.0) RETURN            
       DS = 0.0D0                   
       J1 = 1                       
       DO 10 I = 1,N            
       DS = DS + DABS(DBLE(V1(J1)))   
    10 J1 =J1 + INCR1                 
       S = SNGL(DS)                   
       RETURN                         
       END

���E"  ��6��	� ,�
	�

       SUBROUTINE VMAX(IMAX,V1,INCR1,N) 
       REAL V1(1),MAX,TMAX
       IF (N.LE.1) RETURN 
       IMAX = 1 
       MAX = V1(1)
       J1 = 1 + INCR1 
       DO 10 I = 2,N
       TMAX = V1(J1)
       IF(TMAX.LE.MAX) GO TO 10 
       IMAX=I 
       MAX=TMAX 
    10 J1 =J1 + INCR1 
       RETURN 
       END
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       SUBROUTINE VMAB(IMAX,V1,INCR1,N)
       REAL V1(1),MAX,TMAX
       IF (N.LE.1) RETURN
       IMAX = 1
       MAX = ABS(V1(1))
       J1 = 1 + INCR1
       DO 10 I = 2,N
       TMAX = ABS(V1(J1))
       IF(TMAX.LE.MAX) GO TO 10
       IMAX=I
       MAX=TMAX
    10 J1 = J1 + INCR1
       RETURN
       END

��-A"  �����	� ,�
	�

       SUBROUTINE VMIN (IMIN,V1,INCR1,N)
       REAL V1(1),MIN,TMIN
       IF (N.LE.1) RETURN 
       IMIN = 1           
       MIN = V1(1)        
       J1 = 1 + INCR1      
       DO 10 I = 2,N      
       TMIN = V1(J1)      
       IF(TMIN.GE.MIN) GO TO 10
       IMIN=I    
       MIN=TMIN  
    10 J1 = J1 + INCR1
       RETURN         
       END

��-'"  �����	� ���

	�� ,�
	�

       SUBROUTINE VMIB(IMIN,V1,INCR1,N)
       REAL V1(1),MIN,TMIN
       IF (N.LE.1) RETURN 
       IMIN = 1 
       MIN = ABS(V1(1)) 
       J1 = 1 + INCR1 
       DO 10 I = 2,N
       TMIN = ABS(V1(J1)) 
       IF(TMIN.GE.MIN) GO TO 10 
       IMIN=I 
       MIN=TMIN 
    10 J1 = J1 + INCR1
       RETURN 
       END
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       SUBROUTINE VMOV(V1,INCR1,V2,INCR2,N) 
       REAL V1(1),V2(1) 
       IF (N.LE.0) RETURN 
       J1 = 1 
       J2 = 1 
       DO 10 I = 1,N
       V2(J2) = V1(J1)
       J1 = J1 + INCR1
    10 J2 = J2 + INCR2
       RETURN         
       END

��H1"  �!��

       SUBROUTINE VSWP(V1,INCR1,V2,INCR2,N)
       REAL V1(1),V2(1),TEMP
       IF (N.LE.0) RETURN
       J1 = 1    
       J2 = 1   
       DO 10 I = 1,N
       TEMP = V1(J1)
       V1(J1) = V2(J2)
       V2(J2) = TEMP
       J1 = J1 + INCR1
    10 J2 = J2 + INCR2
       RETURN 
       END
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��
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               VIS ROUTINES WITH ONE–WORD OPCODES 
  
                         SINGLE                       DOUBLE
      ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE  PRECISION 
                        ROUTINE                      ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––– 
      105001            VADD       105021            DVADD
      105003            VSUB       105023            DVSUB
      105004            VMPY       105024            DVMPY
      105005            VDIV       105025            DVDIV
      105006            VSAD       105026            DVSAD
      105007            VSSB       105027            DVSSB
      105010            VSMY       105030            DVSMY
      105011            VSDV       105031            DVSDV
      105101            VPIV       105121            DVPIV
      105103            VABS       105123            DVABS
      105105            VSUM       105125            DVSUM
      105107            VNRM       105127            DVNRM
      105110            VDOT       105130            DVDOT
      105111            VMAX       105131            DVMAX
      105112            VMAB       105132            DVMAB
      105113            VMIN       105133            DVMIN
      105115            VMIB       105135            DVMIB
      105116            VMOV       105136            DVMOV
      105117            VSWP       105137            DVSWP
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                  VECTOR ARITHMETIC ROUTINES
  
                        SINGLE                        DOUBLE
      ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE   PRECISION
                        ROUTINE                       ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105001            VADD       105021             DVADD 
      105003            VSUB       105023             DVSUB 
      105004            VMPY       105024             DVMPY 
      105005            VDIV       105025             DVDIV

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, v3, incr3, #elements)

����� �
	����� ��� ���� �����!
�� �����	���
��"

      word 1 = first word of opcode 
      word 2 = address of next instruction
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of array,           v3 
      word 8 = address of increment,       incr3
      word 9 = address of no. of elements, #elements

               VECTOR–SCALAR ARITHMETIC ROUTINES
  
                        SINGLE                       DOUBLE 
      ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE  PRECISION 
                        ROUTINE                      ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105006            VSAD       105026            DVSAD
      105007            VSSB       105027            DVSSB
      105010            VSMY       105030            DVSMY
      105011            VSDV       105031            DVSDV

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ������!
�� �����	���
��"

      word 1 = first word of opcode 
      word 2 = address of next instruction
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of array,           v2 
      word 7 = address of increment,       incr2
      word 8 = address of no. of elements, #elements
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                    ABSOLUTE VALUE ROUTINE
  
                         SINGLE                      DOUBLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105103             VABS      105123            DVABS

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ��,���!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of no. of elements, #elements

                            SUM ROUTINES
  
                         SINGLE                      DOUBLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105105             VSUM      105125             DVSUM 
      105107             VNRM      105127             DVNRM

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, #elements)

����� �
	����� ��� ���� ��6�!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of no. of elements, #elements
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                      DOT PRODUCT ROUTINE 
  
                         SINGLE                       SINGLE
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE   PRECISION
                         ROUTINE                      ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 
      105110             VDOT      105130             DVDOT

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ������!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of array,           v2 
      word 7 = address of increment,       incr2
      word 8 = address of no. of elements, #elements

                          PIVOT ROUTINE 
  
                         SINGLE                      SINGLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105101             VPIV      105121            DVPIV

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, v3, incr3, #elements)

����� �
	����� ��� ���� ����!
�� �����	���
��"

      word  1 = opcode
      word  2 = address of next instruction 
      word  3 = address of scalar,          scalar
      word  4 = address of array,           v1
      word  5 = address of increment,       incr1 
      word  6 = address of array,           v2
      word  7 = address of increment,       incr2 
      word  8 = address of array,           v3
      word  9 = address of increment,       incr3 
      word 10 = address of no. of elements, #elements
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                        MAX/MIN ROUTINES
  
                        SINGLE                        SINGLE
      ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE   PRECISION
                        ROUTINE                       ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105111            VMAX       105131             DVMAX 
      105112            VMAB       105132             DVMAB 
      105113            VMIN       105133             DVMIN 
      105115            VMIB       105135             DVMIB

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, #elements)

����� �
	����� ��� ���� ��6�!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of integer scalar,  scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of no. of elements, #elements

                        MOVE ROUTINES 
  
                         SINGLE                      SINGLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      105116             VMOV      105123            DVABS
      105117             VSWP      105137            DVSWP

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ��,���!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of no. of elements, #elements



$�7�,,,,,*�!#2,�+�,!#,
��2����

/����!��

���  ���!��� ������� ����� 5�555' �
 5>>>>' �� �������� �
 �-� !��� ��� 
��
��� .5.9�5 ���
	��
.5.9>> ��� .5:9�5 ���
	�� .5:9>>4  ���  



!��� �-� �
	����� 	�� �!
�!
�� 
��
���0 !���� ���
���
�� !
�� 
  ��� 
��
�� 2��� �	��
��
��3 ���
���� ��� ���	�� �������4  4���1 ��� 4�)�1 ���
������
� 
���	��� �
	����� 2

����� �� ��� /���!��� -���� ��� %������3 ���� �����

 ��� �!
�!
��

��
���  
� /�����A ��
����� �� �	� ����4

         VIS ROUTINES WITH TWO–WORD OPCODES 
                   SINGLE                       DOUBLE
TWO–WORD OPCODE  PRECISION   TWO–WORD OPCODE  PRECISION 
                  ROUTINE                      ROUTINE
––––––––––––––––––––––––––––––––––––––––––––––––––––––– 
101460 000000     VADD       105460 004002     DVADD
101460 000020     VSUB       105460 004022     DVSUB
101460 000040     VMPY       105460 004042     DVMPY
101460 000060     VDIV       105460 004062     DVDIV
101460 000400     VSAD       105460 004402     DVSAD
101460 000420     VSSB       105460 004422     DVSSB
101460 000440     VSMY       105460 004442     DVSMY
101460 000460     VSDV       105460 004462     DVSDV

��� ���������� 
  
���!
�� 
��
��� ��� ��� �+	�,�
��� �-� �
	���� ��� 
����� ��  
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         VIS ROUTINES WITH ONE–WORD OPCODES 
                  SINGLE                       DOUBLE 
ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE  PRECISION 
                  ROUTINE                      ROUTINE
––––––––––––––––––––––––––––––––––––––––––––––––––––––– 
101460            .VECT      105460            .DVCT *
101461             VPIV      105461             DVPIV 
101462             VABS      105462             DVABS 
101463             VSUM      105463             DVSUM 
101464             VNRM      105464             DVNRM 
101465             VDOT      105465             DVDOT 
101466             VMAX      105466             DVMAX 
101467             VMAB      105467             DVMAB 
101470             VMIN      105470             DVMIN 
101471             VMIB      105471             DVMIB 
101472             VMOV      105472             DVMOV 
101473             VSWP      105473             DVSWP 
101474            .ERES** 
101475            .ESEG** EMA interface routines
101476            .VSET** 
                             105477             self-test

P  2 ���� !
�� 
  �!
�!
�� 
��
��� �� ��
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                     VECTOR ARITHMETIC ROUTINES 
  
                        SINGLE                        DOUBLE
      TWO–WORD OPCODE  PRECISION   TWO–WORD OPCODE   PRECISION
                        ROUTINE                       ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101460   000000   VADD       105460   004002    DVADD 
      101460   000020   VSUB       105460   004022    DVSUB 
      101460   000040   VMPY       105460   004042    DVMPY 
      101460   000060   VDIV       105460   004062    DVDIV

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, v3, incr3, #elements)

����� �
	����� ��� ���� �����!
�� �����	���
��"

      word 1 = first word of opcode 
      word 2 = second word of opcode
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of array,           v3 
      word 8 = address of increment,       incr3
      word 9 = address of no. of elements, #elements

                 VECTOR–SCALAR ARITHMETIC ROUTINES
  
                        SINGLE                       DOUBLE 
      TWO–WORD OPCODE  PRECISION   TWO–WORD OPCODE  PRECISION 
                        ROUTINE                      ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101460   000400   VSAD       105460   004402   DVSAD
      101460   000420   VSSB       105460   004422   DVSSB
      101460   000440   VSMY       105460   004442   DVSMY
      101460   000460   VSDV       105460   004462   DVSDV

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ������!
�� �����	���
��"

      word 1 = first word of opcode 
      word 2 = second word of opcode
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of array,           v2 
      word 7 = address of increment,       incr2
      word 8 = address of no. of elements, #elements
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                       ABSOLUTE VALUE ROUTINE 
  
                         SINGLE                      DOUBLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101462             VABS      105462            DVABS

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ��,���!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of no. of elements, #elements

                            SUM ROUTINES
  
                         SINGLE                      DOUBLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101463             VSUM      105463             DVSUM 
      101464             VNRM      105464             DVNRM

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, #elements)

����� �
	����� ��� ���� ��6�!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of no. of elements, #elements
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                        DOT PRODUCT ROUTINE 
  
                         SINGLE                       SINGLE
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE   PRECISION
                         ROUTINE                      ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––– 
      101465             VDOT      105465             DVDOT

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ������!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of scalar,          scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of array,           v2 
      word 7 = address of increment,       incr2
      word 8 = address of no. of elements, #elements

                           PIVOT ROUTINE
  
                         SINGLE                      SINGLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101461             VPIV      105461            DVPIV

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, v2, incr2, v3, incr3, #elements)

����� �
	����� ��� ���� ����!
�� �����	���
��"

      word  1 = opcode
      word  2 = address of next instruction 
      word  3 = address of scalar,          scalar
      word  4 = address of array,           v1
      word  5 = address of increment,       incr1 
      word  6 = address of array,           v2
      word  7 = address of increment,       incr2 
      word  8 = address of array,           v3
      word  9 = address of increment,       incr3 
      word 10 = address of no. of elements, #elements
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                          MAX/MIN ROUTINES
  
                        SINGLE                        SINGLE
      ONE–WORD OPCODE  PRECISION   ONE–WORD OPCODE   PRECISION
                        ROUTINE                       ROUTINE 
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101466            VMAX       105466             DVMAX 
      101467            VMAB       105467             DVMAB 
      101470            VMIN       105470             DVMIN 
      101471            VMIB       105471             DVMIB 

*�

��� ��+	����"

CALL subr (scalar, v1, incr1, #elements)

����� �
	����� ��� ���� ��6�!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of integer scalar,  scalar 
      word 4 = address of array,           v1 
      word 5 = address of increment,       incr1
      word 6 = address of no. of elements, #elements

                           MOVE ROUTINES
  
                         SINGLE                      SINGLE 
      ONE–WORD OPCODE   PRECISION  ONE–WORD OPCODE  PRECISION 
                         ROUTINE                     ROUTINE
      ––––––––––––––––––––––––––––––––––––––––––––––––––––––––
      101472             VMOV      105472            DVABS
      101473             VSWP      105473            DVSWP

*�

��� ��+	����"

CALL subr (v1, incr1, v2, incr2, #elements)

����� �
	����� ��� ���� ��,���!
�� �����	���
��"

      word 1 = opcode 
      word 2 = address of next instruction
      word 3 = address of array,           v1 
      word 4 = address of increment,       incr1
      word 5 = address of array,           v2 
      word 6 = address of increment,       incr2
      word 7 = address of no. of elements, #elements
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JSB  VADD !��� 101460
DEF  *+8 000000
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ASMB,L
      HED ”.VSRP” – RPL’ING OF:  VADD VSUB VMPY VDIV
*                                VSAD VSSB VSMY VSDV
      NAM .VSRP,7 12824–16001 REV.1926 790403 
* 
      EXT .VECT 
      ENT VADD,VSUB,VMPY,VDIV,VSAD,VSSB,VSMY,VSDV 
* 
A     EQU 0 
B     EQU 1 
* 
*     .VSRP REPLACES CALLS TO VADD...VSDV WITH THE APPROPRIATE
*     TWO–WORD OPCODE. IF THE MAIN OPCODE IS NOT RPL’D, IT
*     FAKES A JSB INSTEAD OF REPLACING THE ORIGINAL JSB.
* 
VADD  NOP            ADDITION 
      JSB COM 
      OCT 000000
* 
VSUB  NOP            SUBTRACTION
      JSB COM 
      OCT 000020
* 
VMPY  NOP            MULTIPLICATION 
      JSB COM 
      OCT 000040
* 
VDIV  NOP            DIVISION 
      JSB COM 
      OCT 000060
* 
VSAD  NOP            VECTOR–SCALAR ADDITION 
      JSB COM 
      OCT 000400
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* 
VSSB  NOP            VECTOR–SCALAR SUBTRACTION
      JSB COM 
      OCT 000420
* 
VSMY  NOP            VECTOR–SCALAR MULTIPLICATION 
      JSB COM 
      OCT 000440
* 
VSDV  NOP            VECTOR–SCALAR DIVISION 
      JSB COM 
      OCT 000460
* 
COM   NOP 
      LDA COM,I     A = SUB–OPCODE. 
      LDB COM       GET ADDRESS + 1 OF ORIGINAL JSB.
      ADB =D–2
      LDB B,I 
      STA B,I       OVERLAY ORIGNAL RTN PTR WITH SUB–OPCODE.
      LDA OPCOD     A = MAIN OPCODE.
      SSA,RSS       SOFTWARE ?
      JMP SOFT      YES, SPECIAL CASE.
      ADB =D–1      NO. OVERLAY ORIGINAL JSB WITH MAIN OPCODE.
      STA B,I 
      JMP B,I       GO EXECUTE THE OPCODE.
* 
SOFT  STB A,I       FAKE A JSB TO THE SOFTWARE. FIRST, RTN ADDR.
      INA           THEN, 
      JMP A,I        THE ENTRY. 
* 
OPCOD DEF .VECT+0 
      END
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JSB DVADD !��� 105460
DEF *+8 004002
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ASMB,L
      HED ”.VDRP” – RPL’ING OF:  DVADD DVSUB .... DVSMY DVSDV . 
      NAM .VDRP,7 12824–16001 REV.1926 790403 
* 
      EXT .DVCT 
      ENT DVADD,DVSUB,DVMPY,DVDIV,DVSAD,DVSSB,DVSMY,DVSDV 
* 
A     EQU 0 
B     EQU 1 
* 
*     .VDRP REPLACES CALLS TO DVADD...DVSDV WITH THE APPROPRIATE
*     TWO–WORD OPCODE.  IF THE MAIN OPCODE IS NOT RPL’D, IT FAKES 
*     A JSB INSTEAD OF REPLACING THE ORIGINAL JSB.
* 
DVADD NOP           ADDITION
      JSB COM 
      OCT 004002
* 
DVSUB NOP           SUBTRACTION 
      JSB COM 
      OCT 004022
* 
DVMPY NOP           MULTIPLICATION
      JSB COM 
      OCT 004042
* 
DVDIV NOP           DIVISION
      JSB COM 
      OCT 004062
* 
DVSAD NOP           VECTOR–SCALAR ADDITION
      JSB COM 
      OCT 004402
* 
DVSSB NOP           VECTOR–SCALAR SUBTRACTION 
      JSB COM 
      OCT 004422
* 
DVSMY NOP           VECTOR–SCALAR MULTIPLICATION
      JSB COM 
      OCT 004442
* 
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DVSDV NOP           VECTOR–SCALAR DIVISION
      JSB COM 
      OCT 004462
* 
COM   NOP 
      LDA COM,I     A = SUB–OPCODE. 
      LDB COM       GET ADDRESS + 1 OF ORIGINAL JSB.
      ADB =D–2
      LDB B,I 
      STA B,I       OVERLAY ORIGINAL RTN PTR WITH SUB–OPCODE. 
      LDA OPCOD     A = MAIN OPCODE.
      SSA,RSS       SOFTWARE ?
      JMP SOFT      YES, SPECIAL CASE.
      ADB =D–1      NO. OVERLAY ORIGINAL JSB WITH MAIN OPCODE.
      STA B,I 
      JMP B,I       GO EXECUTE THE OPCODE.
* 
SOFT  STB A,I       FAKE A JSB TO THE SOFTWARE.  FIRST, RTN ADDR. 
      INA           THEN, 
      JMP A,I        THE ENTRY. 
* 
OPCOD DEF .DVCT+0 
      END
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JSB subr                 subr is your non–EMA VIS routine 
DEF return address       = current address +2+i+2*j 
DEF misc. parameter1
     .
     .
DEF misc. parameteri     ”i” misc. parameters 
DEF v1                   ”j” arrays in EMA
DEF incr1                with increments
     .
     .
DEF vj
DEF incrj 
DEF #elements

!���� ��� �� ���������  �
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CALL subr (misc.1,...,misc.i,v1,incr1,...,vj,incrj, #elements)
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ASMB,L
      NAM name,7               name is the EMA routine
      ENT name
      EXT subr,.WCOM           subr is the equivalent non–EMA routine 
name  NOP 
      JSB .WCOM                .WCOM is the interface routine 
      DEF subr + 0             + 0 guarantees a direct address
      BYT i,j                  i= # of misc. parameters,j= #arrays
      ABS (1024/#words per element)–1 + bit 13
      END
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JSB  <ABS + 1>
DEF  <first parameter DEF in ”subr” call> 
DEC  <0 if last call; –1 if not last call>
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      SUBROUTINE VIADD (I,IX,J,JX,K,KX,N) 
C 
C     I = OPERAND ARRAY    IX = INCREMENT FOR I 
C     J = OPERAND ARRAY    JX = INCREMENT FOR J 
C     K = RESULT ARRAY     KX = INCREMENT FOR K 
C     N = NO. OF ELEMENTS TO ADD
C 
      INTEGER I(1), J(1), K(1)
      IA = 1
      JA = 1
      KA = 1
      DO 10 L = 1,N 
      K(KA) = I(IA) + J(JA) 
      IA = IA + IX
      JA = JA + JX
      KA = KA + KX
10    CONTINUE
      RETURN
      END
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ASMB,L
      NAM WIADD,7          PROGRAM TYPE = 7 
      ENT WIADD 
      EXT VIADD,.WCOM      EXTERNAL ROUTINES
WIADD NOP                  EMA VIS ROUTINE FOR INTEGER ADD
      JSB .WCOM            CALL EMA INTERFACE ROUTINE 
      DEF VIADD+0 
      BYT 0,3              0 MISC. PARAMETERS,3 ARRAYS
      ABS 1023+0           (1024/1 WORD PER ELEMENT)–1 + 0
      END
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      SUBROUTINE VISUM (ISUM, I, INCR, N) 
C 
C     ISUM = INTEGER SUM
C     I    = INTEGER ARRAY     INCR = INCREMENT FOR I 
C     N    = NO. OF ELEMENTS TO ADD 
C 
      INTEGER ISUM, I(1)
      IA = 1
      ISUM = 0
      DO 10 L = 1,N 
      ISUM = ISUM + I(IA) 
      IA = IA + INCR
10    CONTINUE
      RETURN
      END
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ASMB,L
      NAM WISUM,7          PROGRAM TYPE = 7 
      ENT WISUM 
      EXT VISUM,.WCOM      EXTERNAL ROUTINES
A     EQU 0                A REGISTER 
WISUM NOP                  EMA VIS ROUTINE FOR INTEGER SUM
      JSB .WCOM            CALL EMA INTERFACE ROUTINE 
      DEF VISUM+0 
      BYT 1,1              1 MISC. PARAMETER,1 ARRAY
      ABS 1023+20000B      (1024/1 WORD PER ELEMENT)–1 + BIT 13 SET 
* 
EACH  NOP           ENTRY AFTER EACH .WCOM CALL TO VISUM
      DLD EACH,I    A = ADDR OF PARAMETER LIST
*                   B = LAST TIME FLAG
      STB LAST      SAVE LAST TIME FLAG 
      ISZ EACH
      ISZ EACH
      LDA A,I       A = ADDR OF PARAMETER ”ISUM”
      LDB A,I       B = SUM FROM CURRENT VISUM CALL 
      ADB SUM       B + SUM OF PREVIOUS CALLS 
      STB SUM       = NEW TOTAL SUM 
      ISZ LAST      SKIP IF NOT LAST TIME 
      RSS 
      JMP EACH,I    NOT LAST TIME, JUST EXIT
      STB 0,I       SET ISUM = TOTAL SUM
      CLA           SET RUNNING SUM = 0 FOR NEXT TIME 
      STA SUM 
      JMP EACH,I
* 
SUM   NOP           RUNNING SUM 
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LAST  NOP           = –1 IF NOT LAST TIME 
*                   =  0 IF LAST TIME 
      END
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�=������     DIMENSION ITEMA (5), ITEMB (6) 
    IERR=0 
    IF (JSCOM(ITEMA,1,10,ITEMB,3,IERR))1,2,3 
1   ITEMA substring is less than ITEMB substring 
2   ITEMA substring is equal to ITEMB substring 
3   If (IERR)5,4,5 
4   ITEMA substring is greater than ITEMB substring 
    .  
    .  
    .
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ICD = 000040B 
CALL SFILL(IPRIN<1,26,ICD)
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CALL SGET (IPRIN,6,NCHAR)
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�=�����K DIMENSION ICARD(80),ILINE(120)
I =  2
J = 13
K = 10
CALL SMOVE(ICARD,I,J,ILINE,K)
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CALL SPUT (A���,A,A"	��)

!����"

A��� ����� � 
�� �������
��
 ������� ������ ����� ���
 !���� ��� ��+	����� ��������� ��
�
 �� �
����4  ��� ����� �	�� �� �� ���� �� � �������
� ���������4

A �� �� ������� �
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�0 
� ������� �6������
� �� ����� ��� �
����
�
�� A���  !���� ��� ����� ��� ��������� �� �
 �� �
����4

A"	�� �� �� ������� ,�����
�0 
� ������� �6������
�0 �
�������� ��� ��������� �
 �� ������
 �����0 ����� T	��� ��� ��� M��
  �

��4

���
��" A
��4

*
������" A"	��  ������� 	�������� � ��� ��� ����� ��4

�=�����K DIMENSION IPRIN(5)
NCHAR=000060
CALL SPUT(IPRIN,7,NCHAR)
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�L�A�  ���� ��� M
�� �	��� 
  � ���������0 ���� � �
�� �
 �������� !��� ��� M
�� ��0 ��� ��
,����
� ��! M
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CALL SZONE(A���,A�

,�
2,�	2)
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A��� ����� � 
�� �������
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 ������� ������ ����� �
�������� ��� ��������� !�
�� M
��
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 �� ������ ��� �
�� ���4  -� �	�� �� �� ���� �� � )-��A�-�A ���������4  ���
��������� �	�� �� �� �7  
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 ���������� ��� !
��4
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�
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�=�����K DIMENSION ICHAR(80) 
CALL NZONE (ICHAR,8,1,I)

'� 
��"

ICHAR(8) = R (11–9 punch) 
I=0

� ���"

ICHAR(8) = I (12–9 punch) 
I=2
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����6 ������!#2 ���!��� �55
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 ��������� �	�������� 
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��� ��� ���	
� �� ��� ���
��
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CALL SADD(A���,A�

,A
��,1���,1�

,1
��,�
��)

!����"

A��� ����� � 
�� �������
��
 ������� ������ ����� �
�������� ���  ���� ��������� �	�����
��� �
 �� �����4  ��� �
������ 
  ��� ����� �	�� �� �� �7  
����0 �!
 ����������
��� !
��4  A���  �	�� �� �� ���� �� � )-��A�-�A ���������4
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 �� �� ������� �
������0 ������� ,�����
� 
� ������� �6������
� ���������� ��� �
����
�

  ���  ���� ��������� �� A���  �
 �� ����� 2��������� 
  �	�������34

A
�� �� �� ������� �
������0 ������� ,�����
� 
� ������� �6������
� ��,��� ��� �
����
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��� 
��� ��������� �� A���  �
 �� ����� 2��� 
  �	�������34  -� �	�� �� ������� ���� 
�
�+	�
 �
 A�
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�� �������
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 ������� ������ ����� �
�������� ��� ���� �
 !���� ��� ����
�� A���  �� �����4  -� !�

 �
����� ��� ���	
�  
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� ��,��� ��� �
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�
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��4
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�=�����K DIMENSION IFLDA(8),IFLDB(10)
IE = 0
CALL SADD(IFLDA,1,15,IFLDB,1,20,IE)

'� 
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"�����

3 > ? < ; J 5 = :

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=

34

3: >4
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"�����

3 > ? < ; J 5 =

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J

�,21%

;

4� � � � � ? 5 3 < 3 4 > ; 3 J

3 ; ? < J 5 = : ? ; 4 4 4 : = 5 J

;

�!    a     4B&���C
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3 > ? < ; J 5 = :

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=

34

3: >4
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�,21%    #� '�
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3 ; ? < J 5 : ?4 4 4 5J

;

�!     a    4B&���C
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���� �	�� �	������� A���0 �
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CALL SDIV (A���,A�
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DIMENSION IDIVR(3),IDVD(12) 
IE=0 
CALL SDIV(IDIVR,2,6,IDVD,18,24,IE)
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�=�����K DIMENSION MULTR(3)0,MLCND(13)
IE = 0
CALL SMPY(MULTR,2,6,MLCND,18,24,IE)
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MAINLINE
.
.
.
N1=2+(JEND-JBEG+1)+(KEND-KBEG+1)+1  
N2=N1+(KEND-KBEG) 
CALL SMOVE(LSTR,KBEG,KEND,STEMP,N1) 
CALL SMPY(JSTR,JBEG,JEND,KTEMP,N1,N2,IERR) 
N3=N1–(JEND-JBEG+1) 
N4=KBEG-(JEND-JBEG+1) 
CALL SMOVE (KTEMP,N3,N2,KSTR,N4)
.
.
.
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�=�����K DIMENSION MULTR(3),MLCND(6),MTEMP(12)
IE=0
JBEG=2
JEND=6
KBEG=6
KEND=12
N1=2*(JEND-JBEG+1)+(KEND-KBEG+1)+1
N2=N1+(KEND-KBEG)
CALL SMOVE(MLCND,KBEG,KEND,MTEMP,N1)
CALL SMPY(MULTR,JBEG,JEND,MTEMP,N1,N2,IE)
N3=N1–(JEND-JBEG+1)
N4=KBEG-(JEND-JBEG+1)
CALL SMOVE(MTEMP,N3,N2,MLCND,N4)
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�=�����K DIMENSION IFLDA(8),IFLDD(10)
IE = 0
CALL SSUB(IFLDA,1,8,IFLDB,1,16,IE)
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0059                ”$$$,999”          $059
1024                ”ZZZ,ZZZ”          1,024
010555              ”$$,$$$.99CR”      $105.55
01055N (–0l0555)    ”$$,$$$.99CR”      $105.55CR
01055N (–010555)    ”$$,$$$.99–”       $105.55–
010555              ”$$,$$$.99–”       $105.55
15039250            ”$,$$$,$$$.99CR”   $150,392.50
139R (–1399)        ”*,***.99CR”       ***13.99CR
044240474           ”999–99–9999”      044–24–0474
214N(–2145)         ”$,$$$.99”         $21.45
24                  ”999.99”           000.24
24                  ”9.99.9”           ***0.24
1234                ”X.XX.X”           1.23.4
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�=�����K DIMENSION INFL(10)
IE = 0
CALL SA2DE (INVL,7,17,IE)
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      MAINLINE 
      .  
      .  
      .  
  11  CALL SA2DE (JARY,JBEG,JEND,IERR) 
      IF (IERR)22,22,32 
  22  (CONTINUE MAINLINE) 
      .  
      .  
      .  
  32  (ERROR ROUTINE) 
      .  
      .  
      .  
      CALL SZONE (JARY,IERR,4,N1) 
      NI = 0 
      CALL SA2DE (JARY,IERR,IERR,N1)
      IF (N1)50,50,40 
  40  STOP 999 
  50  CALL SDEA2 (JARY,JBEG,JEND,IERR)
      IERR = 0 
      GO TO 11
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�=�����K DIMENSION JDIGT(10)
M = 17
CALL CARRY(JDIGT,1,10,M)
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�=�����K DIMENSION JDIGT(10)
M = 17 
CALL SDCAR JDIGT(0,9,M)
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3 > ? < ; J 5 = :
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�=�����K DIMENSION INFL(10) 
IE = 0 
CALL SDEA2(INFL,7,18,IE)
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3 > ? < ; J 5 = :
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J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=
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�=�����K DIMENSION INFL(10) 
DIFF = –11 
CALL SD1D2(JSTR,12,19,DIFF)
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3 > ? < ; J 5 = :

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=

34
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3 > ? < ; J 5 = :

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=
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3: >4

% 7
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�=�����K DIMENSION INFL(100) 
CALL SD2D1 (JSTR,12,19,DIFF)
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3 > ? < ; J 5 = :

3 > ? < J 5 = : 34 33 3> 3? 3< 3; 3J 35 3=

34

3: >4

% 7

;

6 - � I 8 3 > ? < ; -

1>�,���
�

' 1 ! , J 54

� ���"

1>�,���
�

����

1
�


"�����

�#,2

1��� a Q33
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�=�����K DIMENSION IDGT(10)
CALL SSIGN(IDGT,20+1,NS)
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NS = 0

� ���"

IDGT(20) = +8  2�
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�
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	����4

�S��2!����6 )S��2!����6 �S)S��2!�����6 �)��.
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$alias A_Register,direct
$alias B_Register,direct
$alias A_B_Registers,direct

Integer*2 A_Register,B_Register
Integer*4 A_B_Registers       B�
��CD 0��� 0	�1 ���	'

�� �� �6���
� ��

0 �
	 �
	
� �
 ���  
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CALL Exec(1,401b,ibuf,–80) ! read the terminal
Jboth  = A_B_Registers() ! save both registers
Istat  = A_Register() ! save A only
Length = B_Register() ! save B only
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    jsb exec
    def rtn
    def =d1
    def =b401
    def ibuf
    def =d–80
rtn equ *
    jsb A_B_registers  2�
�,����� �
 � A�1 �� 

�� ����3
    dst Jboth
    jsb A_register     2�
�,����� �
 � A�1 �� 

�� ����3
    sta Istat
    jsb B_register     2�
�,����� �
 %)� ' �� 

�� ����3
    sta length
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CALL ClearBitMap(����,����)

integer*2 ����(*),����
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���
 = CompareBufs(��� ,���/,���0��,���0�)

logical*2 ���
,CompareBufs
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 = CompareWords(��� ,���/,���0��)

logical*2 ���
,CompareWords
integer*2 ��� (*),���/(*),���0��
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CALL FakeSpStatus(��,����
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call FillBuffer(ibuf,20,2h .) ! fill 1st 20 words of ibuf
! with ASCII decimal points

call FillBuffer(ibuf,50,2h  ) ! fill 1st 50 words of ibuf 
! with blanks (020040b)

call FillBuffer(ibuf,30) ! fill 1st 30 words of ibuf
! with nulls (000000b)

/!����1�������

����  	����
� ���	��� ���  ���� ��������� 
  � �	  ��4  ��� ��������� �� �� ��� 
� � ���� !��� �� ��*--
�
��; ��������� �� ��� ����� ����4

8���
 = FirstCharacter(����
�)

integer*2 8���
,����
�(*),FirstCharacter

/
� �6���
�"

if ( FirstCharacter(buffer).eq.2h+ ) then ... endif

!�

 ���� �
 ��� �  ���  ���� ��������� 
  B�	  ��C �� � �
	� ����4
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.��)!����

���� �������P7  	����
� ������,�� ��� ,�
	� 
  ��� ��������� ���  �
� � ��� ��� 2���;�� ����� 
 
����34  H��� ��������� ���� ��
,� 87;0 �
	 �	�� 	�� ������,� �	�����0 �� ����� �� �
 	�������
������� ���� ���� �� /�����A 
� ��� $1 .5554

��� = GetBitMap(����,���
5)

integer*2 ���,����(*),���
5,GetBitMap

!����"

��� �� ��� ,�
	� 
  ��� ��� ��������� �� ���
54

���� �� ��� ��� ���0 �� ����� 
  	� �
 �9I ���� 295=� !
���34

���
5 �� ��� ��� �	���� �
 �� ����0 !���� 5 �+	�
� ��� ��' 
  ���  ���� !
�� 
  ����4

��� �
�
 ���'�����0 ����'�����0 �������'�����0 ��� 1	�'�����4

.��)3��

���� �
	���� ���� � ����  �
� � ���;�� ����� 
  �����4  ��� 
� ��
�� ���� 
  ���  ���� !
�� 
  ����� ��
���� �	���� 54  ��� ����� ��� �� 	� �
 87I !
���0 �
 ��� ���� ����6 ��� ��  �
� 5 �
 �:0:8:4
��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �
 	������� ������� ���� ����
�� /�����A 
� ��� $1 .5554

���
 = GetByte(�����,���
5)

integer*2 ���
,�����(*),���
5,GetByte

!����"

���
 �� ��� ,�
	� 
  ��� ��������� ���� �� �����4  ��� ,�
	� �� �
������� �� ��� 

! ���� 
 
���
S �	

 �� �
������� �� ��� ���� ����4

����� �� ��� ����� ���� �
������ ��� ���� �
 �� ����4

���
5 �� ��� ����6 ���
 ��� ����� ���������� ��� ���� �
 �� ���� !���� ���� 5 �� ��� 
� � ����

  ���  ���� !
�� 
  �����4

��� �
�
 1	�'���4
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.���!�!�

���� �
	���� ���� � ����� 2��� ����3  �
� � ���;�� ����� 
  ������4  ��� 
� ��
�� �!
 ���� 
  ���  ����
!
�� 
  ����� �� ����� �	���� 54  ��� ����6 �� 
������ �
 .� ����0 !���� 
����� ��� 
����� 
  ��� �����
�
 ?I !
���4  )���� ��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �

	������� ������� ���� ���� �� /�����A 
� ��� $1 .5554

�0	���8���
 = GetDibit(�����,���
5)

integer*2 �0	���8���
,�����(*),���
5,GetDibit

!����"

�0	���8���
 �� ��� ,�
	� 
  ��� ��������� ����� �� �����4  ��� ,�
	� �� �
������� �� ��� 

!�� 7 ����

  �0	���8���
S 	���� ���� ��� �	

4

����� �� ��� ����� ���� �
������ ��� ����� �
 �� ����4

���
5 �� ��� ����6 ���
 ��� ����� ���������� ��� ����� �
 �� ���� !���� ����� �	���� 5 ��
��� 
� ��
�� �!
 ���� 
  ���  ���� !
�� 
  �����4

��� �
�
 1	�)����4

.��	!����

���� �
	���� ���� � ����
� 29 ����3  �
� � ���;�� ����� 
  ����
��4  ��� 
� ��
��  
	� ���� 
  ���
 ���� !
�� 
  ����� �� ����
� �	���� 54  ��� ����6 �� 
������ �
 .� ����0 !���� 
����� ��� 
����� 
  ���
����� �
 .�I !
���4  A���
� ��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �

	������� ������� ���� ���� �� /�����A 
� ��� $1 .5554

�����
 = GetNibble(�����,���
5)

integer*2 �����
,�����(*),���
5,GetNibble

!����"

�����
 �� ��� ,�
	� 
  ��� ��������� ����
� �� �����4  ��� ,�
	� �� �
������� �� ��� 

!�� 9
���� 
  �����
S ��� 	���� .7 ���� ��� �	

4

����� �� ��� ����� ���� �
������ ��� ����
� �
 �� ����4

���
5 �� ��� ����6 ���
 ��� ����� ���������� ��� ����
� �
 �� ���� !���� ����
� �	���� 5 ��
��� 
� ��
��  
	� ���� 
  ���  ���� !
�� 
  �����4

��� �
�
 1	�A���
�4
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.����#���!#2

���� �������P7 
� 

����
P7  	����
� ������,�� ��� �	������� ���� !�� 	��� �
 �����	
� � ��
����4

IF (GetRunString(����,�����
�,�
�
�",��)) THEN
  �	<��������
<����
� 
ENDIF

integer*2 ����(*),�����
�,�
�
�",��
logical*2 GetRunString

!����"

���� ���	��� ��� ���	� �	  ��4

�����
� ����� ��� ��� 
����� 
  ��� �	  ��0 �
����,� �	���� 
  !
��� 
� ������,� �	���� 
 
�����4

�
�
�" ���	��� ��� �	���� 
  ���������� ������ ���; �� ��� �E�* .9 ��

 ���
	����
B�<0��	
���
0C4

�� ���	��� ��� �
����� �
 ���  ���� ��������� ���� B�<0��	
���
0C �� ��� �	  ��4  ����
,�
	� �� �
� ,�
��  
� � 4��<�4 ���	��4

-  �� �� ������� �
 �����	
��� ��� �	  �� 	���� ��� /�����A ��������� �
	�����0 	�� ���)�� �

�	�
� � ��������� ��������
� � ��� ��

��� ����  	����
�4

�
�
����� 	���"

�� �E�* .9 ��

 ����� ��� �	�������0 �  ��� �� �������0 ���
 ��� ��

���� �	  ��4  �
�
�"  �� 	������ �

��
! ��� 
����� �� �����4  ��� �	  �� �� ���� ������� 	���
 ��� ���
�� �
��� ��  
	��0 �
 �;�� ���
B�<0��	
���
0C ���� �� ������� �� ��� �	  �� !��� ��
����� ��� �	� ���������,�
�4  -  ��� ��
����
�� �
� �
��� �
 �� �	� ���������,�
�0 �
 �
� 	�� ���� �
	����S 	�� �� �E�* .9 ��

 �������4

��� �
����
� T	��  



!��� ��� ���
�� �
��� �� ���� ������ ���; �� ��0 !���� 5 ��������� ���  ����
���� �� ��� �	  ��0 ��� 
� � ���� 
  ���  ���� !
��4  ���� �� �
�� �
  ���
����� ��� 	�� 
  �
	����� �	��
�� A��� 
� ��� $�L �
	����� �
 ����� ��� ��������� �
������ 
  ��� �	  ��4

-  �
 ������ !�� ������0 ���  	����
� ���	��� !��� �NO. 24��<�434  -  � ������ !�� ������0 ��
���	��� !��� �N�� 2� 4/�%��4 ,�
	�34

��� ,�
	�� ������ ���; ��� �� ��� �
�����  
��  
� � ��

 �
 $�L)� -�	 4

��� �
�
 D���� ��� $�L)� -�	  2���� ���	�
3S �6�� .9 2�
�	������ �� ��� �����
��	
����
��� �
�
�
��
 ������'S �*1�� ��� �$1�� 2�
�	������ �� ��� #$����% &&
�
�
�
��
 ������'4
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.�����!#2

���� �	��
	���� �
���� � ������ 
� � �
����	���� ������ ��������
� 2�� �� �
 ��� ���)�� ��

3 �
 ���
��������� 
	��	� ������4  ��� �	���� 
  ���������� �� ��,�� �� ��� ����� ��������� ������ ����
	���� � 
����� �������� �� �������
4

CALL GetString(	�������
,�������
,�����
�
�
�")

character*(*) 	�������

integer*4 �������

integer*2 �����
�
�
�"

!����"

	�������
 �� ��� 
	��	� ������4

�������
 �� ��� ���	� ������4  ���� �
	
� �� ��� 
	��	� 
  ���)��4

�����
�
�
�" �� ��� �	���� 
  ���������� �
 �� �
���� �
 	�������
4

���� �
	���� �� �
������� ��+	���� ����	�� /�����A �
�� �
� ��,� � ��������� �
 �
�� ���
�
������ 
  � �
����	���� ������ ��������
�4

��� �
�
 $�L�
,������� ��� *
�*��4

������1����5�

���� ��

 ����� ��� ������ ��+	����� �
 ��� �������
 ���� �
��� �� �� 
��� �
�� ��� ��������� �
��
!���  
��� �
�� �����
��4  -� �
�
 �
�� ��� �
���

 ��

 �
 ��� ���,�� ���� �� ��+	���� � ��� �	��
����� �������4

CALL HpCrtCharMode(��)

integer*2 ��

!����"

�� �� ��� %< �	����2.447::3 
  ��� �������
 �
 �� ��������  
� ��������� �
��4

��� ������ ��+	���� ��������� �� ���� ��

 ��"

Esc & k 0 a 0 B Esc & s 0 d 0 g 0 H Esc X Esc b

-� �� ��� ��

���� ����
�����
��� �
 ���	�� ���� ��� %< �� 
���
0 ���� ��� �������
 �� �����
� 
  ����
�
�� 
������
�0 ��� ���� ��� �������
 ���,�� �� �����
� 
  �

�; �
�� ����� ��� 2�	�� �� ))*55
��� )�*5:34

��� �
�
 $�*��1����
�� ��� $�*��%����
��4
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������1��D������

���� �
	���� ����;� ��� �
�� ��� ��� �������
 �
 ���	�� ���� ������ �
�� 
������
� 2�� 	��� ��
�)-��.555 ��� ��� *
����� ����; �
	�����3 �� �,��
��
�4

IF (HpCrtCheckStraps(�����,
��	�,�
���2
,���
0���")) THEN
  ���

� �	�
 �� �����

ENDIF

integer*2 �����,
��	�,�
���2
,���
0���"
logical*2 HpCrtCheckStraps

!����"

����� �� ��� %< �	���� 
  ��� �������
4


��	� �� ��� ���	���� ���
� �
�� �� ��,�� ��

!4

�
���2
 �� ��� ���	���� ��
	�� 
  ����
�� ���
�� �� ��� �������
4

���
0���" �� ��� ���	���� �	���� 
  �

	��� ���� ��� �� ����
���� �� ��� 
�� ����4  �
 ������
���� ��� 
���!����0 �
����
� ��� �	��
� �
 �

	�� .0 ���� �	��
� 
� �4  ���� �� �
��
�
 �� �
������
� !��� ��� *
����� ����; �
	�����4

��� ���
� �
�� �� �� ���� ��"

O. �	����� 	

5 �
� �� $1 7�9: 
� �
������
� �������

. �E�* ��

  ��
��
7 
�� 
  ��� �������
 ������ �� ���
����� �,�� ��
	�� ���� �
	���� ����� �
 ��� ��

�
 ���  



!��� ������"

��������� �
�� 2�
� ���� �
�� ��� �
� �

�; �
��3S ��������  	����
�� �����
��4

H��� ���
� 7 �� ���	����0 ��� ��

��� ��
���� ��
	
� ����� �� ��,��
�� ������� ��

��� ��� 	���
!��� ��������� �� ������4

��� �
�
 $�*����������M�4
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����������S/6 ����������S�

� *��
�� ���	������ *���; 2*�*3 �� �� ���
� ����;��� ����
� ����� 	�
�  ������; ��� �
���������  
� ��� ����!��� ���
��������
�4  ��� �����������
 ����,���
� �� ���� �� �� � ���������
��,���
� 
  ��� ������� �� � ��,�� �

��
���
4

�!
 ���
��������
�� ��� ��
,����0 $�*��*�*.�K/ !���� 	��� � 7:��!
�� 


;	� ���
�0 ���
$�*��*�*.�K� !���� 	��� � 87�!
�� ���
� ��� �	�� �
�����
�����
� �

!��4

��"
�1 = HpCrtCRC16_F(����
�,���
�
�
�",�����)

integer*2 ��"
�1,����
�,���
�
�
�",�����,HpCrtCRC16_F

!����"

��"
�1 ���	��� � .����� ������� ���	
� 27 ����� �� �7  
����34

����
� �� ��� �	  �� �
�������� ���� �� �7  
���� 2����
� �� ��������� ���� ����34

���
�
�
�" �� ��� �	���� 
  ����� �
 ���
	�� �� ��� *��
�� ���	������ *���; �����4

����� �� ��� �������� �
����
� �� ����
�0 !���� 5 �� ��� 
� � ���� 
  ���  ���� !
��4

���� �
	���� 	��� ��� �

��
���
 .7555. 
���
 �� ��� �������
�4  ���� �� �
��
�
� ��

�� � *�*�.�0
��� �� ��� *�* 	��� �� $)%*0 '�����0 ��� 
���� ���	���� �������� ��
�
�

�4  �� �� �
 ���
�������� ��6��

;� 
� ���� �
��	������
��  
�  	����� �� 
�����
�4

��� �
�
����� 	��� �� ����� �
	����� !��  ���� ��������� �� ��	��� H��;�� 
  )�����
 �+	������
*
��
����
� 2.=>934
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���� ��

 ���	��� ��� �

�������� 
  ��� �	��
� 
  �� $1 *��4  ��� ���
� �� �� ���  
�� 
  ���
��*-- ������ ������ ���� !
	
� �� ������ �
 �������� ��� �	��
� �
 ��� �	����� �
����
�4

IF (HpCrtGetCursor(���,�
���[,���

��
����8
])) THEN 
  
		�<�
��� 
ENDIF

integer*2 ���,�
���(6),���

��
����8

logical*2 HpCrtGetCursor

!����"

��� �� ��� %< �	���� 
  ��� �������
S �� ��� ����� .447::  
� ����� ��� .44�8  
�
�������� �������4

�
��� �� � ��!
�� 

�� �	  �� �
 �����,� ��� ���
� �� 
�� 
  ���  



!���  
���"

-  ���

��
����8
  �� �
� ������ 
� �+	�
� M��
"  BV���Y_�555�555�V��YC

-  ���

��
����8
  �� �
�M��
" BV���Y_�555�555&V��YC 
� 
BV���Y_�5556555&V��YC

���

��
����8
�� �� 
���
��
 ��������� ���� ��������� ������ ��
���,� �

�������� ��
	
� �� ���
�	����4  -  ���

��
����8
  �� �
� ������ 
� �+	�
� M��
0 ���
�� ��
���,� �

��������
��� ���	����4  -  �� �� �
�M��
0 ������ ��
���,� �

�������� ��� ���	����4

A
�� ���� ��� �

	�� �	���� ��� �
� �� 
������ �
 5444>=4  �� �� �6���
�0 ��� $1 78=8 ��� ��
�
� ��	���  
� 	� �
 .�5 �

	���4  ��� ��6��	� �
! �	���� �� �
�
 �������
 ���������4

��� �
�
 $�*��D��*	��
�E&4
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�����.��������E-

���� ��

 ���	��� ��� �

�������� 
  ��� �	��
� 
  �� $1 *��4  ��� ���
� �� �� ���  
�� 
  ���
�

	�� ��� �
! �	����� ������ �
 �������� ��� �	��
� �
 ��� �	����� �
����
�4

IF (HpCrtGetCursorXY(���,5,�[,���

��
����8
])) THEN
  
		�<@;
ENDIF

integer*2 ���,5,�,���

��
����8

logical*2 HpCrtGetCursorXY

!����"

��� �� ��� %< �	���� 
  ��� �������
S �� ��� ����� .447::  
� ����� ��� .44�8  
�
�������� �������4

5 ���	��� �	��
� �

	�� �
����
� 2544�34

� ���	��� �	��
� �
! �
����
� 2544�34

���

��
����8
 �� �� 
���
��
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	���� ��"

Esc & k 1 a 1 B Esc & s 1 d 0 g 0 H Esc X Esc b

-� �� ��� ��

���� ����
�����
��� �
 ���	�� ���� ��� %< �� 
���
0 ���� ��� �������
 �� �����
� 
  ����
�
�� 
������
�0 ��� ���� ��� �������
 ���,�� �� �
�
 �����
� 
  �

�; �
�� ����� ��� 2))*550
)�*5:0  
� �6���
�34

��� �
�
 $�*������1���0 $�*��%����
��0 ��� $�*��*����
��4

�����
��!�3�1D

���� 

����
P7  	����
� ��� 
��� � ������ ����; 
� � ���� �	  ��4  -� !�

 ���	�� 4��<�4 �  ����� ���
A� ������ ���
�� �� ��� �	  ��4

IF (HpCrtParityChk(����,�
�
�",���)) THEN
  �	<������<
��	�
ENDIF

integer*2 ����(*),�
�
�",���
logical*2 HpCrtParityChk

!����"

���� �� ��� ���	� �	  ��4

�
�
�" �� ��� �	���� 
  ���������� �� ��� ���	� �	  ��4

��� ����� ��� 
����,�� ������ ��
��� ��  



!�"

��� �
 5  
� �,�� ������
��� �
 .  
� 
�� ������

��� �
�����
� �
	���� $�*��1�����D�� ��� �� 	��� �
 �
��	�� ������ �� � 	��� �	  ��4
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�����
��!�3.�#

���� �	��
	���� �
��	��� ��� ���� ��� ������ ���� �� � ���� �	  ��4  -� !
�;� 
� !
�� �
	�������0 �

��� ����  



!��� ��� ���� !�

 �� �
����� �  �� 
�� �	���� 
  ���� ����� �� ����� ���4

CALL HpCrtParityGen(����,�
�
�",���)

integer*2 ����(*),�
�
�",���

!����"

���� ����� ��� ��� ���	� ��� 
	��	� �	  ��4  ��� �
�,����
� �� �
�� �� �
���4

�
�
�" �� ��� �	���� 
  ���������� �� ��� ���	� �	  ��4

��� ����� ��� 
����,�� ������ ��  



!�"

��� �
 5  
� �,�� ������4
��� �
 .  
� 
�� ������4

��� �
�����
� �
	���� $�*��1�����*�; ��� �� 	��� �
 ����;  
� �
����� ������ �� � �	  ��4

�����G
�
���&

���� �������P7  	����
� ���	��� ��� %< 
  ��� ��,���� �
�� !��� ��,�� ��� %< 
  
�� 
  ���
�
��� �
��� 
� � ��,4 ) ?�������
 �<E4  ��� %< 
  1
�� > �� ������ �
 ��� 
�� !�����  
�
�	�
����
 !��� ��� �<E �� �
������� �
 �� $1 8>7.9 �
��� ���� ����4  1
�� > �	�� ��,� ����
������
�M�� �� 
�� ���� ��

 �� ����0 ��  �	�� �� �
� ��	��� �� � �
��� 2��� .8 !�� ��� !��� ��� %<
!�� ������
�M�� !��� � *A 85'30 ��� �� �	�� �� � ��,4 ) �<E4

�	��&�� = HpCrtQTDPort7(��,0	�1����
�)

integer*2 �	��&��,��,0	�1����
�(*),HpCrtQTDPort7

!����"

�	��&�� ���	��� ��� %< �	���� 
  1
�� >4

�� �� ��� %< �	���� 
  
�� 
  ��� 
���� �
��� 
� ���� ?�������
 �<E4  -� �	�� ��
�
� ��	��� �� � �
��� �
��4

0	�1����
� �� 	��� �� ���� �
	���� �
 �
 � ������
 ����	� ����4  -� �	�� �� �� 
���� 87 !
���


��4

-   
� ��� ����
� ��� 1
�� > %< ����
� �� ����������0 ���� �
	���� ���	��� � M��
4
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��������5�1��

����  	����
� ���	�� ������
�  �
� �� %< �
 � ��������� ���� ���� ,�����
�4  �� �� 	�	�
  
�
��������� ���� �����0 �� !�

 �� �
��;  �

�� �  ��� 	��� ������ 
��� ���� ���� ���  	

 
����� �


!��4
��� ,�����
� ��� �� �,�� 
� 
�� 
�����0 ��� ���� �
� ����� 
� � !
�� �
	�����4  ��� ���	� �� �
��
,�� ��-� �
 �


!  
� �!������4

CALL HpCrtReadChar(��,�"��8������
,������,���
�
�)

integer*2 ��,������,���
�
�
character*(*) �"��8������


!����"

�� �� ��� %< �	����  �
� !���� �
 ����S �� �	�� �� �� ��� ����  
���� �� ��
�E�* . ��

4

�"��8������
 ���	��� ��� ���� ����  �
� ��� ����� ��� %<4

������ ���	��� ��� ����	� 2����������34

���
�
� ���	��� ��� ����������
� 

� 2'���������34

��� ��

�� �	�� ��� ��� ���� �� ��� %< !
�� �� ��� ���� !�� ���� ���� !
	
� �� ��� �� �� �E�*
��

S  
� �6���
�0 ��� ? �	�� �� ��� �
 ����
� ���
4

��� ����	� ��� ����
�� ,�����
�� ���	���� ��� ��� �� ��� '��������� ���	���  �
� ��� ��-� ��

0
!���� �� �
�� !��� ��� �
���
�� 
���
�4  /
� �
���
 ��

 �
��
���
�0 ��� ���� ��� 
  ��� ����	� !�


�� ��� ��� ��� 

! ���� !�

 ��,� ��� 	�	�
 -�� ����	� ����0 ���
	���� ��� ����
	� ��� �� ��� .4  ���
�
�
!�

 �� ,�
��4  /
� �� ���
���
 ��

 �
��
���
�0 ������  ��� ���
�
�  2�� ��� '����������3 !�

 �
�����
��� ��*-- ���
� �
��0 �	�� �� B-�.8C4

��� �
�
 $�*��E����*���0 $�*��E���	0 $�*������*���0 ��� $�*�����	4
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��������5
�2�

���� �������P7  	����
� �
�� � ���� �
�� !��������� ��

4  ��� !���� �
���
� �
�� � ;���
���
	�

�;4  ��� ���� �� �
�� !���
	� ���
 ��� !��� ��� �	�
��
�� ��� ���4  ��	� ��� ;���
��� �� �����


�;�� !��� ��� �
	���� �6���4

�	������ = HpCrtReadPage(��,����
�,����
��
�,���
�
�)

integer*2 �	������,��,����
�(*),����
��
�,���
�
�,HpCrtReadPage

!����"

�	������ ���	��� ��� ����	� !
��  �
� ��� �E�* ��

4  �� �� �
 ��� ���,�� �
�	�������
�  
�
��� ��� ������������4

�� �� ��� %< �	���� 
  ��� $1 �������
S  
� ����� ��  ��� �����  �
� . �
 7::4

����
� ���	��� ��� ���	� �	  ��S ��� ��M� �	�� �� �	  ������ �
 �����,� ��� ����  �
� ���

������ ������ ���� �� �
 �� ����4

����
��
� ����� ��� ��� 
����� 
  ��� ���	� �	  ��S �
����,� �	���� 
  !
��� 
� ������,� �	��
��� 
  �����4

���
�
� ���	��� ��� �	���� 
  ����� ���� !��� ����  �
� ��� ������4

��� ��
������� �	�� ���	�� ���  



!��� �
�����
�� �6��� �� 
�� ���� �
	���� �� ��

��"

� ��� �
�� ���,�� �� �
������
� !��� �

�;�������	�
��
�� 
������
�4  *�

 $�*�����*)��,��
�
 ,��� �4

� ��� ���,�� �� 	�� �� �
� ��	���  
� ���,�� : 
������
�4  ���� � �� �6��	���� �� �E�* .84

� ��� �
�� �� 
���
  
� 	��4  ���� � �� �6��	���� �� �E�* .8 ��

 !��� ��� �
���
�� ���4

� �
 
������ �� B�
�����  ��
�� 
�
�C �
�� �
	 �	�� ���� ��� ����
������ *�� ������
��+	�����4  �� �� �
 ��� �������
 �� ������ ���	�
�4  <�� ������  
������� !�����0 �E�*
��

�0 
� $�*��E����*���4

� ��� �������
 ������ ��� ���� B�������C !��� ��� ��
���  
��4  �� �� �
 ��� �������
 �� ������
���	�
�4

� ��� �������
 �� �� �

�;����� �
�� ��� � *A7: ��

 ��� ���� �
��4  <�� $�*��1����
�� �

�
 ����4

� ��� ���� ��

0 ��� ��
������� ��
	
� ��� 
�� ���  



!��� ����;�"

� '�� . 
  ��� ����	� �� ��� �  ��� ��+	��� ����� 
	�4  ��� 	�	�
 �
	��� 
  ����
� �� �
 ����
� ��


���� �
	���� �����4

� ��� ����������
� 

� �� ��,�� �� ���
�
�  ����
� �� M��
 	�
��� ��� �������
 !�� ����� �� ���
	��� 
� ��� ���� ����� 
	�4  A
���

� �
	 !
	
� 


� ���; �� ��� ��
���� �
 ��� �
��� !����
��� �������
 !�� ��� 	�0 ���
	���� ������� ���  
��� �����4

-  ��� ���	
�� 
  ��� ��
,� ����;� ��� �

�0 ��� ��
������� ��� ���� 	�� ��� ���� ���� !�� ����
 �
� ��� ������4  $�*��D��/��
� �� � 	�� 	
 �	��
	����  
� ���� �	��
��4
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������������
���

���� �	��
	���� ������ � �
�� �
 ��� �
�����
�� ���� !��� �� �  ��� !��� $�*����,�1
�� !�� ��

��4

CALL HpCrtRestorePort(��,����
����
�)

integer*2 ��,����
����
�(32)

!����"

�� �� ��� %< �	���� 
  ��� �
�� 2�� ��� ����� .447::34

����
����
� ����� ��� � 87�!
�� �	  �� ���� �
������ ��� 
������
 ����� 
  ��� �
�� ���� �� �
 ��
����
���4

	��� ���� �
	���� ����
����
� ����
�� ��� ������� ��� ���
����� ��
����� �	����
��� ��
���� 
  ����
���� ��� �
��4  ���� 
��	�� �,�� �  .3 �
�� ��� ������� ���
���
����� ��
����� !��� �����
�� ���
� �
 ��

��� $�*������
��1
�� ��� 73 ���
����� ����� ����
��� ��� ���� �����
��4  -  ���� �  ���� �
	� ���
�����
�0 �� �� �	��
������ ���� �
	 �����
� ��� ������� 
� ���
����� ��
����� �� ������� ��� *A 75

� *A 95 �
���

 ��+	���� �� ��,�
�� ��
���� ����0  
� �6���
� BOC0 ������� 
 
	���� *A 7. 
� *A 9.4  �� �� �
 ��� �����
 ���,�� �
�	�������
� �� ��� �����
.��8
� �
�
�
��
 ������0 ���� �	���� =75>>�=55..4

�������(�
���

���� 

����
P7  	����
� ����� ��� �	����� ����� 
  � �����
 �
�� ���� �� ���,�� �� 
�� 
  ��� ������

����	� ���� �
������
� ���,���4  �� �� �
 ���
�R.7�.  
� ��� �� �����
�� 
  !
��� . ���
	�� 87 
 
��� ����� �	  �� ���� �� ���	���� �� �� $�*����,�1
�� ��

4  ��� �
������ 
  ����
����
�  �� ���������
�� ��� ������
 ����	� ���� �����
� 
  ��� �����
 ���,�� �
�	�������
�4


��	� = HpCrtSavePort(��,����
����
�)

logical*2 
��	�,HpCrtSavePort
integer*2 ��,����
����
�(32)

!����"


��	� ���	��� 4��<�4 �  ��� ��

  ��
��4

�� �� ��� %< �	���� 
  ��� �
�� 2�� ��� ����� .447::34

����
����
� �� � 87�!
�� �	  �� �
 �

� ��� �	����� ����� 
  ��� �
��4

����
����
�  ��
	
� �
� �� �
����� �  ��� ����� �� �
 �� ���	���� �
 ��� �	����� ����� �� ��

���
$�*������
��1
��4  -� �� � �

� ���� �
 ���
��� ����
����
�  �� ���� ������� �����4

$�*������
��1
�� ��
	
� �
� �� ��,
;�� �  ���� �
	���� ���	��� �� ���
�4

��� �
�
 /�;�������	�4
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�������1�5
��26 �������1�5
��2S�

����  	����
� ������ ��� ���� 
  ��� ��
���� �
 �� �����	
�� 
� 	��6������ ������	�� �
 ���
�������
 ���,���4  -� ��������0 
�
� ��� ������� ��
���� ���� ��� �� ���4

CALL HpCrtSchedProg(��,3"�����[,/"��]) ! pass primary name
CALL HpCrtSchedProg(��,3"�
���,/"�
) ! pass secondary name

�� �
�������,�  
�� 
  ��� �
	���� �� �,��
��
�  
� 	�� !��� /�����A ��������� ���� ����
,�����
��"

CALL HpCrtSchedProg_S(��,’�����’,’��’)
CALL HpCrtSchedProg_S(��,’�
���’,’�
’)

����������#�!:�

����  	����
� ���	��� ��� !���� ��� ������ 2�� ����������3 
  ��� ,����
� �	� ��� 
  ��� ������ 
  ��
$1 �������
4  ��� !���� ��� ������ ���������� ��� �
� �
�� ��� �  �� ���
� 
��	��4

IF (HpCrtScreenSize(���,0���","
�
"�)) THEN
  E		�<6���"<9
�
"�
ENDIF

integer*2 ���,0���","
�
"�
logical*2 HpCrtScreenSize

!����"

��� �� ��� %< �	���� 
  ��� �������
4

0���" �� ��� ������ !���� 2�� �	���� 
  ����������34

"
�
"� �� ��� ������ ������ 2�� �	���� 
  ����������34

��� �
�
 $�*��*���;������4
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�������#5�1��

���� �
	���� ��

� �E�* �
 ����� � /�����A ��������� ,�����
� 
� 
�����
4  -� �
��	��� ��� !
��
������� 
  ��� �	  �� ��� ����
�� ��� ���� 
  � �	  �� �������� 
� �� 
�� ���� �
	�����4

CALL HpCrtSendChar(��,’�"�����
�� �	 �����’)

�

CALL HpCrtSendChar(��,�"�����
�<8������
)

integer*2 ��

��� ��

�� �	�� ��� ��� ���� �� ��� %< �� ��� ���� !�� ���� ���� !
	
� �� ��� �� �� �E�* ��

S  
�
�6���
�0 ��� .5 �	�� �� ��� �
 ������� ��� *������� ���	�� ��� %��� /��� ���� ��� �
���

�
�������� �
 ��� �	  �� �� ��� ���,���4

'���	�� �E�* ��

� ��� �� �
�� 
�
�  �
� !
�� 2�,�� ����3 ���������0 ���� �
	���� �	�� ����
�
��� 
�����
��
 
�� ���� ���� �� � ������
 !��4  ��� !
�� ���� �
������ ���  ���� ���� 
  ��� ����� ���
�	  �� �� ��,�� ������ ��� �	��
	���� !��
� ��� 
� � ���� �� ���
���� �� � �	

  
� ��� �	����
� 
  ���
�E�* ��

4  � ��� ��� �E�* ��

 �
��
����0 ��� 
������
 �
������ 
  ��� !
�� �� ����
���4  ���
�	

 ���� �
�� �
� ����
�� 
� �������
�0 �
 ��� 	��� �� �
� �!��� 
  ��� �6��� ���� ��������� ���
����4  $
!�,��0 ����� ��� �
�� ��,����0 �	�� �� ��� $1 7�5? 
����������0 !���� �
 ����� �	

�4  ���
��
������� ��
	
� �� �!��� 
  ����0 �������

� !��� 	���� ��� �	��
	���� �
 ����
�� �	��������4
��� /�����A �
���
�� �
�� �
� ��
�	�� 
�� ���� ���������  
� ��������� 
�����
�4  -�  ���0
�
�
�� ��� 
�
� ���� ���� 
�� ���� ��������� ��� ��������� �� /�A>E ��  
� ��� �	��������
�����
��� ��
,�4

��� �
�
 $�*��E���	0 $�*�����	0 ��� $�*��E����*���4
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�����������!(��6 �����������!(��T

���� 

����
  	����
� ���������� �  ��� ���,��  
� � ��,�� %< !�

 ����
�� �
 � ������
 ����	� ����
���� �� �	��
���� �� ��� �����
 ���,���4  ���� ���� ������
��� �� ;�
!�0 ��� ������
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�� 	��� �
 ������,� ���  	����� �� 
�����
� ������ �� ��� ���
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logical*2 HpCrtSSRCDriver ! must be declared as a logical function

If (HpCrtSSRCDriver(��)) THEN
 �	�����
 ! The LU is driven by a Special Status 

! Read Compatible driver.
ELSE

�	�����
 ! The driver does not do Special Status 
! Reads, or there was an error generated
! by the XLuEx call.

ENDIF

��� ����
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 ���	� �� E%<�E �
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 �0 !��� ��� 
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 �
 O74
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�� ���� ����	�� E%<�E �� 	��� ��� ��� ��  ��������� �� 	���
�� ���  ���� !
�� 
  ��� ���0�  ����� !��� E%<�E �� ��

��0 �
	 ��� ��� ��� �� ��� 2��� .:3 
� ���
�� ��� 2��� .93 �� ��� ��  ��������� �
 
,������ %< . ������� 
� ��


���0 ��������,�
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/
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� 	��� �� ���� ��

 �� �
 ���	�� ���� ��� ���,�� ���� �� 50 :0 �0 
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	���� �
 �� �� ���
�4
'���	�� ��� ����
� �� 
��� �
�	��0 ��� �	��
	���� �� �
� ������
� ��

��
�  �
� /�����A4  -� ��
�,��
��
� �� 	���� ��� #�%-�� �
����	��4  A
�� ���� ��� ��
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  ��
 �,��  
� � �
������
� ���,��
	���
 ��� ���,�� ��� ���� ������� ���  ���� ����4
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��� ������ 
  ����� �
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�������
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 �
�� �� E%	�6 !��������� ��

 �
 ���� ��� ����	� 
  �� $1 �������
4  ��� ���	���� ����	�
�� 	����;��0 
�� ���� ��� !
��4

CALL HpCrtstatus(��,���
,����������
�)

integer*2 ��,���
,����������
�(7)

!����"

�� �� ��� %< �	���� 
  ��� �������
 2�� ��� ����� .447::34

���
 ����� ��� �  
�� �+	�
 �
 7�1�  
� ������� ����	� 
� 7���  
� ���
����� ����	�4

����������
� �� � >�!
�� �	  �� �
 �����,� ��� �������
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�
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� �� �����
�� 
  ��� ����	� �����4
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���� ��

 ��
�	��� � !��������� ��

 �
 ��� ��,�� %<4  ��� !���� �
���
� �
������ B��� L ���dC 
�
B��� L ��� UC4  ��� ���
� �� 
  ���  
�� B��� e 9 5 5 Q 9 7 5 *�C4  ��� B955Q975C �� ���� 	����;��
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���� 
  ���� ����  �
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 �� �
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�
�������
��� !��� ��� �������� ���,�� )��5:�)��5:4  )��5: �������� ��� <��� �������
��
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������

�0 �	� �
 
���� ���,��� �
 �
4

�
0�
�
�" = HpCrtStripChar(����,���,�"��)

integer*2 �
0�
�
�",����(*),���,�"��,HpCrtStripChar

!����"

�
0�
�
�" ���	��� ��� ��! �	  �� 
����� �� �	���� 
  ����������4

���� ����� ��� ��� �	  �� �
�������� ��� ���� �
 �
�� � ��� ���	��� ��� �
�� ��� ����4
��� �
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� �� �
�� �� �
���4

��� ����� ��� ��� �	���� 
  ���������� �
 ��
����4

�"�� ����� ��� ��� ��������� �
 ���
,� 2�� ��� 

! ����34

�
 �
�,��� � ��
���� ���� !�� !������  
� )��5: �
 	�� ��� ��! ���,���0 ��� ������ ���	� �	  ��
�	�� �� ��������� �� ��M� �
 ���
�
���� 
�� �
�� ��������� ��� 	���
������  ��
� ��� ��� ����
��+	��� 
����� �	�� �� ��������� ���
�����
�4  � ��� ��� ���� �
��
����0 ���� �
	���� ��
	
� ��
��

�� �
 ���
,� ��� <��� �������
� ���������� 2
���
 8>34  /
� �6���
�"

���
�
� = HpCrtStripChar(����,���
�
�,37b)

�� ���� �
���0 ��� ��
���� ��� ��
���� �� �  )��5: !��� ���
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� ����������  �
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 ���������� 
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�
��; 295�34  H��� ��� �
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 ��������� �� ������ 288�30 �� �������� �
 �
������� ��� ���� 
  ���
��+	���� �� !�

4

�
0�
�  = HpCrtStripCntrls(����,���
�
�)
��1
�����
 = HpCrtStripCntrls(����,���
�
�)

integer*2 ibuf(*),bytelen
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�
0�
� �  ���� �
	���� �� ���
��� �������P70 �� ���	��� ��� 
����� �� ��� ����������4
��1
�����
 �  ���� �
	���� �� ���
��� �������P90 �� ���	��� � ������ ��������
� �� ��� �� ��� '�

���������4

���� �� ��� ���� �	  �� �
 �� �
�� ���S �
�� �����
� �� �
�� �� �
���4
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�
� �� ��� �	���� 
  ���������� �
 �� ������ ���
 ��� �
	����4

��� �
�
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���� �
	���� ������ �	
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� ��������� ������� �
 �� %<4  ���� ������ �� ������� �� � ��������
E%	�6 ��

0 �� ��� ���� !�� �� $�*��E����*���4

CALL HpCrtXMenu(��,’ �� ���
 	� �
��’,
> ’/�� ���
’
> ’:�� ���
’

   444
> ’���� ���
’)
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  ������� ������ �� 	�
������0 ��� ������ +	
��� ������� 2
�����
�3 
� /�A>E ���������
,�����
�� ��� �� ������4

�� �� �
 ��� �
�	�������
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� $�*��E����*���  
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� ��
	� ������� ��������4

��� %< ��������� �� � �
	�
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	� �� �� 	��� �� �� E%	�6 ��

4

��� $�*��E����*���0 $�*��E����*���0 ��� $�*�����	4
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CALL HpCrtXReadChar(��,�"��8������
,������,���
�
�)

integer*2 ��(2),������,���
�
�
character*(*) �"��8������
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CALL HpCrtXSendChar(��,’�"�����
�� �	 �����’)

�

CALL HpCrtXSendChar(��,�"�����
�<8������
)
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$ALIAS HpLowerCaseName,DIRECT

CALL HpLowerCaseName()
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$ALIAS HpRteA,DIRECT

logical*2 HpRteA

IF (HpRteA()) THEN
  CALL HpCrtSendChar(1,’This is an RTE-A system’)
ELSE
  CALL HpCrtSendChar(1,’This is not an RTE-A system’)
ENDIF
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$ALIAS HpRte6,DIRECT

logical*2 HpRte6

IF (HpRte6()) THEN
  CALL HpCrtSendChar(1,’This is an RTE-6 system’)
ELSE
  CALL HpCrtSendChar(1,’This is not an RTE-6 system’)
ENDIF
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Ftn7x,q,s
     program sample
     implicit none

     integer*2                   ! variables
     > Crt,                      ! LU of user’s terminal
     > Parameter,                ! counter for number of parameters
     > Type,                     ! type of a parameters
     > Bytelen,                  ! length of data in input buffer
     > Ipntr,                    ! pointer to first byte of runstring
                                 ! following “ru,sample,”
     > Index                     ! do loop index for subparameters

     integer*2                   ! arrays
     > OutputBuffer(0:127),      ! output buffer for HpZ mini-formatter
     > InputBuffer(0:127),       ! input buffer for HpZ parse routines
     > Result(0:14)              ! buffer to receive parse results

     logical*2                   ! variables
     > EndOfString               ! true when last parameter processed

     logical*2                   ! functions
     > GetRunString,             ! true if NO runstring
     > HpZParse                  ! true if parameter parsed
 
     data
     > Crt /1/
 *––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––

     call HpZDefOBuf(OutputBuffer)     ! initialize mini-formatter output 

     if ( GetRunString(InputBuffer,–256,ByteLen,Ipntr) ) then
        call HpCrtSendChar(Crt,’No runstring provided’)

     else
        EndOfString = .false.
        parameter = 1

        call HpZDefIbuf(InputBuffer,ByteLen,Ipntr)

        do while ( HpZParse(Result) )     ! loop until all parameters
                                          ! have been parsed
          Call HpZmvs(’Parameter #’)      ! show parameter number
          Call HpZdecv(Parameter)
          Call HpZmvs(’ type word = ’)    ! and its type word
          Call HpZWriteLu(Crt)

          Type = ibits(Result(0),0,2)     ! extract type of 1st param
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          call HpZmvs(’ Subparameter 1 = ’)
          if ( type.eq.3 ) then           ! if ASCII,
            call HpZmvc(Result(1),8)      ! print as 8 alphabetic characters
          else
            call HpZdecv(Result(1))       ! print as a numeral
          endif
          call HpZWriteLu(Crt)            ! display it

          type = Result(0)
          do index = 9,14                  ! show the remaining subparameter 
            call HpZmvs(’ Subparameter ’)
            call HpZdecv(index–7)
            type = ishft(type,–2)
            if ( ibits(type,0,2).eq.3 ) then
              call HpZmvc(Result(index))
            else
              call HpZdecv(Result(index))
            endif
            call HpZWriteLu(Crt)
          enddo
          call HpZWriteLu(Crt)
 
        enddo
     endif
     end
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	��	�S �� �	�� �� �� ��� ����� .44: 
� O:44O.4

�6���
��"

call HpZDecc(52,5) � ’00052’ call HpZDecc(52,–5) � ’   52’ 
call HpZDecc(52,4) � ’0052’ call HpZDecc(52,–4) � ’  52’ 
call HpZDecc(52,3) � ’052’ call HpZDecc(52,–3) � ’ 52’ 
call HpZDecc(52,2) � ’52’ call HpZDecc(52,–2) � ’52’ 
call HpZDecc(52,1) � ’2’ call HpZDecc(52,–1) � ’2’

��� �
�
 $�L)��,0 $�L)��
0 $�L<)��
0 ��� $�L<)��,4

��;��"+)�"

���� �
	���� �� 	��� �
 ���
��� ��� ������	��� 
  ��� ���	� �	  �� ���� �� �� ������� �� ��� ,���
	�
������� �
	����� �	�� �� $�L1����4

CALL HpZDefIBuf(����
�,��
�
�",�	����	�)

integer*2 ����
�(*),��
�
�",�	����	�

!����"

����
� ����� ��� ��� �	  �� !���� ��� ������ �
 �� �6������ �� 

�����4

��
�
�" ����� ��� ��� �	���� 
  ,�
�� ���������� �� ��� ���	� �	  ��4

�	����	� ����� ��� ��� �������� ��������� �
����
� �� ��� �	  ��4  L��
 ��������� ���  ���� �����
����� 2
� ����� 
  ���  ���� !
��34

���� �
	���� �	�� �� 

���� !��� ��� ���� �� � ��������� 
� *)� ��
����4  ��� �	  �� ��
	
� ��
�� ��� ����0 �� �
��
�0 
� �� ���� ������� �����4

��� �
�
 $�L)� �'	 0 $�L)1����0 ��� $�LD��A�6��
;��4



�%�88,,,,,�����, !����3,����!#��

��;��"+���!#2

���� �
	���� �� ���� � ������ �� ��� ���	�  
� $�L �
	�����4

CALL HpZDefIString(�����
����
�)

character*(*) �����
����
�

!����"

�����
����
� �� � ��������� ,�����
� 2
� 
�����
3 ���� �
������ ���� �
 ����� !��� ��� $�L 
�
	�����4

��� �
�
 $�L)� -'	  ��� $�L1����4

��;��"�)�"

���� �
	���� �� ���� ��� 
	��	� �	  ��  
� ��� �����/
�������4

CALL HpZDefOBuf(0	�1����
�)

integer*2 0	�1����
�(*)

!����"

0	�1����
� �� � �	  �� �
 �����,� ��� ����������  �
� ��� ,���
	�  
�������� �
	�����4

��� !
�; �	  �� ��
	
� �� �� ��� ����0 �� �
��
�0 
� �� ���� ������� ����� �
 ���� �� �� �
!���
�,��
��
�4

��� �
�
 $�L)� -'	  ��� $�L1	���'	 4

��;�!�(

���� �
	���� �	�� ��� ��*-- ������
 ������������
� 
  � �
	�
� ������� ,�
	� 2�������P93 ���
 ���

	��	� �	  �� ���,�
	�
� �� ���� �� � ��

 �
 $�L)� �'	 4  ��� �
	���� ��
��� ��� �����	�
������������
�0 �
 �
 
������ �
��;� 
� M��
� !�

 �� ��
�	���4  ��� 
	��	� 
����� !�

 ��  �
� . �

.. �����4

CALL HpZDicv(�8���
)

integer*4 �8���


!����"

�8���
 �� ��� �	���� �
 �� �
�,����� �
 ��*-- ������
 ������������
�4

��� �
�
 $�L)��,4
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����

���� 

����
P7  	����
� ������ ��� ��6� 
��	����� �
;�� �� ��� ���	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� -�	 4

IF ( HpZDParse(	���,	�
�
�",	�	���,���
,	���
�) ) THEN �	�
�"��
<0��<����
� ENDIF
 
integer*2 	���(*),	�
�
�",	�	���,���
,	���
�
logical*2 HpZDParse

!����"

	��� �� � �	  �� ���� �

�� ��� ���	
� 
  ��� �����4  /
� ��6��	� 	��
���0 �+	�,�
�����
��
	
� �� �� ���� �
 �


! ������ �
 	���  �� �������P7 ��� �������P9 �� !�

 �� ��
������� ����� 
  ����������4

	�
�
�" �� ��� �	���� 
  ���������� �


!�� �� 	���0 �	�� �� �� 
���� 94

	�	��� �� ��� �	���� 
  ���������� !������ �
 	���0 �  ���
 N 84

���
 �� �  
�� ���������� ��� ���� 
  ����  
	�� �� ��� ���	� �	  ��"
 

5 A	

 ���������
. .����� �������0 ������ 
� 	�������
7 87���� �������0 ������ 
� 	�������
8 ��*-- ������

	���
� �  �
��M��
0 ���� ��������� ��������� ��� 
  ��� !���� � �	���������� ������4  ���
���	� �	  �� ��� ���� �� �������� �� ��
���� ��

 �
 $�L)1���� �
 ������,� ���
��6� �	����������4

$�L)1���� ���	��� 4��<�4 �  �
������� !��  
	�� �� ��� ���	� �	  �� ���� �
	
� �� ������S

����!���0 4/�%��4 �� ���	����4

��� ����� �� ��� 
���� ��  



!"

�  �;��� 
������ !���� ����� 2�
��;� ��� ����34
� ���� 
� � �
���0 ����
��� !���� �����0 
� ��� ��� 
  ��� �	  ��4
� �� ���� � �	���������� !��� �� ���
	����� � �


� 2"3 
� �� �+	�
 ���� 2N34

H��� � �	���������� �� ������0 ��� 
  ��� �� �
��� ��� ��� ��� 
  ��� ��������� �� ���� �
	���4
-� ���� !�� ��� ���	� �	  �� ��� �� �������� �� ��
���� ��

 �
 $�L)1���� �
 ������,� ��� ��6�
�	���������� 2
� ���
���34

�
 �������0 	�� ��� 
  ��� ,�
	� �� � ��������� �
 ��� $�L-'	 ����� ��

4
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���� "##���

$
� � ��� �
�! ��� �
�! $
���������
�


123 . 5 ������
 .78
123b . 5 
���
 .78
0123z . 5 ��6�������
 .78
0123zz 8 5 �� �
��� ������ ]5.78MM�
a123z 8 5 �� �
��� ������ ]�.78M�
0a123z . 5 ��6�������
 �.78
123bb 8 5 �� �
��� ������ ].78���
foo::2 8 9 �� �
��� ������ ] 

�

5 : ������� ���
�� � �	


. 5 ������� ���
�� ������
 74

mt=8 8 8 �� �
��� ������ ]���
. 5 ������� ���
�� ������
 ?

277777b 7 5 �
	�
� ������� 
���
 7>>>>> 
� ������
 =?858
1000000 7 5 �
	�
� ������� 
�� ��

�
�
 

�6���
� ��
����"

ftn7x,q,s
       program ptest
       implicit none
 
       integer*2 ! variables
      > Type,
      > ByteLen,
      > OutLen,
      > Offset
 
       integer*2 ! arrays
      > Ibuf(0:127),
      > Obuf(0:127),
      > Result(0:39)
 
       logical*2 ! variables
      > More
 
       logical*2 ! functions
      > GetRunString,
      > HpZDParse
 
 ––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––––
 
       call HpZDefObuf(Obuf)
 
       if ( GetRunString(Ibuf,–256,ByteLen,Offset) ) then
         call HpCrtMenu(1,’Nothing to parse!’)
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         go to 9999
       endif
 
       call HpZDefIbuf(Ibuf,ByteLen,Offset)
 
       Offset = 0
       More = .true.
       do while ( More )
         if ( Offset.ne.0 ) then
           call HpZmvs(’  subparameter ’)
           call HpZIbufReset(Offset)
         endif
         More = HpZDParse(Result,80,OutLen,Type,Offset)
         if ( .not.More ) then
           call HpZmvs(’End of buffer’)
 
         else
           if ( Type.eq.0 ) then
             call HpZmvs(’Null’)
 
           elseif ( Type.eq.1 ) then
             call HpZmvs(’Single Integer ’)
             call HpZdecv(Result(1))
 
           elseif ( Type.eq.3 ) then
             call HpZmvs(’Ascii ’)
             call HpZmvc(Result(0),OutLen)
 
           elseif ( Type.eq.2 ) then
             call HpZmvs(’Double Integer ’)
             call HpZDicv(Result(0))
 
           else
             call HpZmvs(’HpZDParse defective, type = ’)
             call HpZdecv(Type)
             more = .false.
           endif
         endif
         call HpZWriteLu(1)
       enddo
       call HpZWriteLu(1)
 
 9999  end

��� �
�
 $�L1����0 A���0 ��� $�LD��A�6��
;��4
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���� �
	���� �� 	�� 	
  
� ���	�����0 �
 ����
�� � ��� ���4  ��� ��� ��� ��� �
����� 	� �
 870>�?
���� 2?I !
���34  ��� 
	��	� �
������ 
  � ����
�� 
  ��� ��� �	����� �� ��*--4

CALL HpZDumpBitMap(��,������,�������[,0���"])

integer*2 ��,������(*),�������,0���"

!����"

�� �� ��� %< �	���� 
  ��� 
	��	� ��,���4  -� �	�� �� �� ��� ����� 
  . �
 �84

������ �� � ,�����
� 
����� ����� �
�������� ��� ��� ���4

������� �� � 
���!
�� ������� ������������ ��� 
��� ��� �
 �� ����
����4

0���" �� �� 
���
��
 
���!
�� ������� ������������ ���  ��
� !����  
� ��� �	����� �� ����
�� ���  
� $�L)���4  ��� �� �	
� �� 5 !���� ����� ��� � ,�����
� !����4

-  � ��� �� ���0 ��� �	���� !�

 �� ����
���� �� ��,���� ,���
4  ��� ���� �� ��� ��� ��� �	������
 �
� 5 �
 A0 !���� ��� ��' 2�
�� ����� ����� ���3 
  ���  ���� !
�� �� ��� 54

/
� �6���
�0 �  ��� ��� ��� �	  �� �
������ 
�
� 
�� .����� �	����0 �9>58'0 ��� 
	��	� !
	
� 


;

�;�"

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

'���	�� ��� 
	��	� 
  ���� �
	���� 	��� ��� �������
 ������ ��+	�����  
� ��,���� ,���
0 ��� 
	��	�
��,��� ��
	
� �� � �������
0 �
� � �������4

���� ��

 	��� ��� 
	��	� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� �'	  �� ��� !
�; �	  ��4  ���
����
�� 
���� ��� 	� �
 >= ����
����
� ���������� !���0 �	� ��� ��,����
� ������ ��+	����� !����
�	�� ��,���� ,���
 
� ��� 
   ��� �
 ���� �
 ��;� ��� !
��� ���� 
��� 785 ���������� �
��
4
����� 
��0 ��� !
�; �	  �� �	�� �� �� 
���� ..: !
��� 

��4

��� �
�
 $�L)� �'	 0 $�L)	��'	  ��0 ��� ���'�����4
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���� �
	���� �� 	�� 	
  
� ���	�����0 �
 �	�� � �	  �� �� ���� ��  �����  
����� �� 
���4  -� 	���
��� $�L ����� 
������� �
	�����0 �
 ���� �	�� ��,� ���� ������
�M�� �� ��

��� $�L)� �'	  !���
� �	  �� 
  �� 
���� ?5 !
��� 2.�5 ����������34

CALL HpZDumpBuffer(���,����,0	���
�[,�	����])

integer*2 ���,����(*),0	���
�,�	����

!����"

��� �� ��� %< �	���� 
  ��� 
��� ��,���4

���� ����� ��� ��� �	  �� �
 �� ����
����4

0	���
� ����� ��� ��� 
����� 
  ��� �	  �� �� !
���4

�	���� �� �� 
���
��
 ��������� !���� ����� ��� ��� ����
�� �
	����� �
 �� 	��� �
  
����
��� ����  
� ��������4  ��� ���� ��� �������� ���  



!��� ��������"

%
� &����� �������

5 )�����
 �
�,����
� ’ 00001  00031  16737’
. ����
 �
�,����
� ’000001 000037 040541’
7 $�6�������
  �
�,����
� ’  0001   001F   4161’
8 ��*-- ����
���� ’NulSoh Nul Us   A  a’
9 ��*-- =: ��������� �	���� ’    ..     ..     Aa’
: ��*-- $1 ,���
 ������������ ’    @A     @_     Aa’
� $�6�������
  ����� ’ 00 01  00 1F  41 61’
.844> �����,��  
�  	�	�� ������������
.9 ���� � �
��; 
��� �� 
�� ��� � ��� ��� �	��
.: ���� � �
��; 
��� ���!��� .5�!
�� ��
	��

-  �	����  �� �
� �	��
���0 �� �� �	
�� �
 9>�0 !���� ����
��� �� ������
0 
���
0 ��6����
����
0 ��� $1 ,���
 ��*--4

��� �
�
 $�L)��
0 $�L���
0 $�L$�6
0 $�L$�6�0 $�L�����$����0 $�L�����=:0 ���
$�L��������84
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���� ��

 ���	�� 	� �
 ����� ������ ��+	����� �
 �� ��� �  ��
� �� � �

�; �
�� ������ ���

���
��

� ��� ����
�� ������������4

CALL HpZFieldDefine(	�	��,��
����������
)

integer*2 	�	��,��
����������


!����"

	�	�� ����� ��� ���  
�� �
 �� ��� ���  ��
� �� ��
������ 
� 	���
������4

��
����������
 ����� ��� �!
 ���������� �
 �� ��� ��� ���� ����;� ��� ,���
 ������������  
�
���  ��
�4

<� �
 ����� ������ ��+	����� ��� �� ������� �� ��� �
	����4

/
� 	�	��  N .True.  ��� ��+	���� �� BEsc ] Esc & d ’x’C4

��� ��������� �
 �� 	���  
� ]6� �� ������ �� ��� ����� ���� 
  ��
����������
4  -�� ,�
	� ��
	
� ��
��
���  �
� ���  
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 @ A B C D E F G H I J K L M N O
��
  ������ x x x x x x x x
	����
��� x x x x x x x x
��,���� ,���
 x x x x x x x x
�
��;��� x x x x x x x x
��� ����������� x

-  � �
��; �� ������0 ��� ����������� ��
��� ������ ��+	���� �� �	�������� �
 ���� 
�
� ��� 
BEsc ]C �� �������4

/
� 	�	��  N .False.  ��� ��+	���� �� BEsc & d ’x’ Esc ’#’ Esc [C4

��� ����� ���� 
  ��
����������
  ��
���� ]6�0 �� ��������� ��
,� !��� ��� ������
� 
  � �
 ��� �
����
�
������������  
� ���	����  ��
�� �
 ������� ��� ����
�� 
  ��� ����������4

��� 
� � ���� 
  ��
����������
  �
���

� ��� ���
�� ������ ��+	���� ��� ��
	
� �� ��
���  �
� ���
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’6’ ����� �� �
�������� 
�
�  ��
�
’7’ ����� � �	����� 
�
�  ��
�
’8’ ����� �� �
����	����� 
�
�  ��
�

�6���
��"

CALL HpZFieldDefine(.True.,2h D) ! protected field, underlined
CALL HpZFieldDefine(.False.,2h B) ! unprotected field, inverse video
CALL HpZFieldDefine(.False.,2h7J) ! unprotected numeric only field, 

! in half intensity inverse video
CALL HpZFieldDefine(.True.,2h @) ! protected field, normal video
CALL HpZFieldDefine(.True.,2h ) ! protected field

��� 
	��	� 
  ��� �
	���� �� �
 ��� �	����� �
����
� �� ��� $�L 
	��	� �	  �� ���
���� �� � ���
�
��

 �
 $�L)� �'	 4  ��� ��6��	� 
����� 
  
	��	� �� ? ����������4
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������ 
  ��� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� �'	  �

���  �
� ����� ���4  ��� �	����� �	  �� �
����� �� ���� ����� �
 ��� ��������� 
  ��� �	  ��0 ��	�
B�������C ��� �	  ��4  ��� 
����� ���	���� �� ���  	����
� ��

 �� ��� ���� ��  
� �� /��H���� ��

4

CALL HpZFmpWrite(���,
��	�)
�
�
�" = HpZFmpWrite(���,
��	�)

integer*2 ���(*),
��	�,�
�
�",HpZFmpWrite

!����"

��� ����� ��� �� 
���  �
� )��; *
���

 '

�; 2)*'3 �� �6������ �� �� /��H���� ��

4


��	� ���	��� ��� ���
� �
��4

�
�
�" ���	��� ��� �	���� 
  ����� !������ �
 ���  �
� 
� � ������,� ���
� �
��4

'� 
�� ��� !���� �� ��� 
����0 �  ��� �	  �� �	�����
� ���� 
� �� 
�� ����0 � �
��; !�

 �� �	� ���

��� ����� ����4  ���� �� ����	�� ���  �
� !���� 
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	�� ��� ����� �
��;4

-  ��� �	  �� 
����� �� ;�
!� �
 �� 
��� ���� 870>�? �����0 ���  



!��� �
����	�� �


!� ������
���
� ����;���4  $�L/��H���� �	�� �� ���
���� �� 

����
P7 �� ���� ����"

IF (HpZFmpWrite(dcb,error)) THEN  
  
��	�<	�����
�  
ENDIF

��� �
�
 $�LH����%	0 $�L)� �'	 0 $�L���,0 $�L�����0 ��� $�LH�����
������4

��;.��	�=��1�� ��;
��D	�=��1��

����� 

����
P7  	����
�� �6����� ��� ��6� ���������  �
� ��� ���	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� -'	 4  ��� ��������� �� ���	���� �� ��� ����� ���� !��� � �
��; ��� �� ��� 
� � ����4
$�L1��;A�6�*��� ��  ���  �
� $�LD��A�6�*��� �� ���� �� �
�� �
� �
��	�� ��� ���������0 ����
��0 ��� ��������� �� ���

 ��� ��6� ��������� �� ��� ���	� �	  ��4

IF (HpZGetNextChar(��"��)) THEN �	<�"�����
�� ENDIF
IF (HpZPeekNextChar(��"��)) THEN �	<�"�����
�� ENDIF

integer*2 ��"��

!����"

��"�� �� � ,�����
� ���� �����,�� ��� ���������  �
� ��� �	  ��4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� ���������� ��,� �
����� ���� ������4  H��� ���� �������0 ����
 	����
� ���	��� � O. 2.true.  �� �
�� /�����A ��� 1����
3 ��� ��"�� �� ��� �
 �	

4

��� �
�
 $�LD��A�6����)��0 $�LD��A�6��
;��0 ��� $�L'��;�����-�	 4
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���� �������P7  	����
� �	�
�� � ������ ��������
�  
� ��� ��6� �
;�� �� ��� ���	� �	  �� �� ���� �� �
���
� ��

 �
 $�L)� -'	 4  �
  ��� ��� �
;��0 ���  	����
� �;��� 
������ �
��;� ��� ����4  ��� ���

  ��� �
;�� �� ���  ���� 
��	������ 
  � �
��;0 � ���0 � �
���0 
� ��� ��� 
  ��� ���	� �	  ��4

�
�
�" = HpZGetNextStrDsc(�����
�
������	�)

integer*2 �
�
�"
integer*4 �����
�
������	�

!����"

�
�
�" ���	��� ��� �	���� 
  ���������� �� ��� �
;��4

�����
�
������	� ���	��� ��� ���	 ���	��� ������ ��������
�4

��� ����
� 
  ���� �
	���� �� ����
�� �
 ���� ��� ���)�� ��

 ��� ��� ���� 
�������
�� ���
�4  �� ��
�
 B���)��C �� ���� ���	�
4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� � M��
�
����� ������ ��������
� ��� ���	��� � ,�
	� 
  M��
4  '���	�� ��� /�����A
�� �����
� 
  � ��������� ������ �
�� �
� �


! M��
�
����� �������0 �� �� ��� ��
���������
����
�����
��� �
 ����; ���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 ��� /�����A
������ ����
��� �
	����� !�

 ��� � �	����� ���
� !��� ���� ���
	���� ��� M��
�
����� �������4

��� �
�
 $�LD��A�6��
;��0 D��������0 ���)��0 ������)��0 $�L1����0 $�L)1����0 ���
$�LD��������)��4

��;.��	�=�
�D�#

���� �������P7  	����
� �
���� ��� ��6� �
;�� �� ��� ���	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� -'	  �
 ��� 
	��	� ������4  �
;��� ��� ��
������ �� ������ �
����0 �
��;�0 ����0 
� ��� ���

  ��� ���	� �	  ��4  %������ �
��;� ��� ���� ��� �;�����4

�
�
�" = HpZGetNextToken(�����
)

integer*2 �
�
�"
character*(*) �����


!����"

�
�
�" ���	��� ��� �	���� 
  ���������� �� ��� �
;��4

�����
 �� ��� ,�����
� �� !���� ��� �
;�� �� ���	����4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� �� ����� ������ ��� ���	��� � ,�
	� 
  M��
4  -� �� ��� ��
��������� ����
�����
��� �
 ����;
���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 /�����A �	����� ���
�� !�

 ���	
�4

��� �
�
 $�LD��A�6����)��0 $�L1����0 ��� $�L)1����4



�����, !����3,����!#��,,,,,�%�7'

��;.��	���% ��;.��	���% ��;.��	��)%
��;.��	���8 ��;.��	���8 ��;.��	��)8

����� 

����
P7  	����
�� �6����� � ������ 
� 	������� �	����  �
� ��� ���	� �	  �� �� ���� �� �
���
� ��

 �
 $�L)� -'	 4  ��� �	���� �� �
�,����� �
 ������ � P7 
� P9 ������� �� ��� ��� ������
�
	���� �	����4  ��� ���� 
  �
�,����
� �� �� ���� �� ��� ) 2������
30 � 2
���
30 
� ' 2������

	�
��� ����� �� � ' �	  �60 ���� 
���
3 �� ���  	����
� ����4

IF (HpZGetNumD2(����
�)) THEN �	<����
� ENDIF
IF (HpZGetNumO2(����
�)) THEN �	<����
� ENDIF
IF (HpZGetNumB2(����
�)) THEN �	<����
� ENDIF
IF (HpZGetNumD4(����
�)) THEN �	<����
� ENDIF
IF (HpZGetNumO4(����
�)) THEN �	<����
� ENDIF
IF (HpZGetNumB4(����
�)) THEN �	<����
� ENDIF

!����"

����
� ���	��� ��� �
�,����� �	����4  
)��
��� �� �������P7 !��� 	���� $�LD��A	�)70 $�LD��A	��70 
� $�LD��A	�'74
)��
��� �� �������P9 !��� 	���� $�LD��A	�)90 $�LD��A	��90 
� $�LD��A	�'94

��� �
	���� ���	��� ��	� �  � �	���� �� �
�  
	��4  -� ���� ���� ��� ��6� ��������� �,��
��
� �
 -�	 
�
	����� !�

 �� ���  ���� �
��
��; ���������  
	�� �� ��� �
�,����
� �������4  %������ �
��;� ���
�


!�� �� ��� �	���� �� !�

 �� � 
������ @ 
� O4  � ��� ���  ���� �
��
��; ��������� ��  
	��0
��� �
���	����� ��������� �� ��;�� �� ��� ��������
�4  A
 �
��;� ��� �� �������� �� ��� �	����

� ���!��� ��� ���� ��� ��� �	����4

��� �
�
 $�L1����0 $�LD��A�6��
;��0 ��� $�LD��A�6����)��4
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��;.��	��������

����  	����
� ���	��� � ������ ��������
�  
� � ������ 
� 	������� �	����0 ��������� �� ��� �	�����
�
����
� �� ��� ���	� �	  �� ��� ������ T	�� �� 
��  ���� �
���	����� � ��� �
����
� 
������ @�O
����4  %������ �
��;� ��� �;�����4  '
��;� � ��� ��� ���� 
�  ���� ����� ��������� ��� �	����4  -  �

�	���� �� �������0 � M��
 
����� �� ���	���� ��� ��� -�	  �
����� !�

 �
��� �� ���  ���� �
��
��;
���
�� !���� �� �������4

�
�
�" = HpZGetNumStrDsc(*��.��)

integer*2 �
�
�",HpZGetNumStrDsc
integer*4 *��.��


�
*��.�� = HpZGetNumStrDsc(*��.��)

integer*4 *��.��,HpZGetNumStrDsc

!����"

�
�
�" �� ��� 
����� 
  ��� ������ !��� $�LD��A	����)�� �� ���
���� �� �������P74  �
�
�"
�� �
�
 ���	���� �� ��� ����������4

*��.�� ���	��� ��� ������ ��������
� !��� $�LD��A	����)�� �� ���
���� �� �������P94
*��.�� �� �
�
 ���	���� �� ��� �� ��� '����������4

��� �
�
 $�LD��A	�)70 $�LD��A	�)90 $�LD��A	��70 $�LD��A	��90 ���4
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��;.��	��E

���� �
	���� �
�,���� ������ �
 �������
 ������������
�4  -� ���	��� ���� ��� ���	�
 �
�,����
� ���
�� �
�� �� �  	����
� 2�	�� �� )�����
�
-��3 ���� ������� � ��������� ������ �� ���  ���� ���������
��� ���	��� ��� ���	
� �� � 
� � ��� 'S ��� ��� � ���
�� ��������� ���� �� �� ���
�  
�� ����������
�� ���
� �  �
� �+	�
 �
 M��
4  ��� �
�,����
�  	����
� �� ������ �� �

�� !��� �� �������
� 
  ���
��M� 
  ��� ���	
�4  -� ��� ����
� ��� �
�,����
� 
  �	�� ������ !��� � �
����
� ���� ��� ������
�������P7 
� �������P9 ���	
�4

EXTERNAL �	�8
���	�              B�
����
 �	�8
���	� ������	�'
   : 
IF (HpZGetNumX(����
�,�	�8
���	�,��2
) THEN

logical HpZGetNumX

!����"

�	�8
���	� �� ��� �6�����
 �
�,����
�  	����
�4

����
� ���	��� ��� �
�,����
� ���	
�4  )��
��� �� �������P7 �  ��2
  N O.0 
����!��� ���
���
�� �������P94

��2
 ��������� ��� ��M� 
  ��� ���	
�4  -  ��2
  N O.0 ����
� �� �������P70 
����!��� ����
�
�� �������P94

��� �
�
 $�LD��A	�)70 $�LD��A	��70 $�LD��A	�'70 $�LD��A	�)90 $�LD��A	��90
��� $�LD��A	�'94
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��;.�����������

���	��� � ������ ��������
� �
 ��� �
���
� 
  ��� $�L ���	� �	  �� ���� ��� �
� ��� ���� �
��	���
�� ��� 
���� $�L ��

� �	�� �� $�LD��A�6�*��� 
� $�L1����4

�
�
�" = HpZGetRemStrDsc(*��.��)

integer*2 �
�
�",HpZGetRemStrDsc
integer*4 *��.��


�
*��.�� = HpZGetRemStrDsc(*��.��)

integer*4 *��.��,HpZGetRemStrDsc

!����"

�
�
�" �� ��� 
����� 
  ��� ������ !��� $�LD��������)�� �� ���
���� �� �������P74  �
�
�"
�� �
�
 ���	���� �� ��� ����������4

*��.�� ���	��� ��� ������ ��������
� !��� $�LD��������)�� �� ���
���� �� �������P94
*��.�� �� �
�
 ���	���� �� ��� �� ��� '����������4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� � M��
�
����� ������ ��������
� ��� ���	��� � ,�
	� 
  M��
4  '���	�� ��� /�����A
�� �����
� 
  � ��������� ������ �
�� �
� �


! M��
�
����� �������0 �� �� ��� ��
���������
����
�����
��� �
 ����; ���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 ��� /�����A
������ ����
��� �
	����� !�

 ��� � �	����� ���
� !��� ���� ���
	���� ��� M��
�
����� �������4

��� �
�
 $�L-'	 <�����)�� ��� $�LD��A�6��
;��4

��;��=�

���� �
	���� �
�,���� � �	���� �
 ��6�������
4  ��� 
	��	� 
����� !�

 �� . �
 8 �����0 �� ����� ���
�� ��� ��

4

CALL HpZHexc(�8���
,�����
)

integer*2 �8���
,�����


!����"

�8���
 �� ��� �	���� �
 �� �
�,����� �
 ��6�������
 ��� �� ��
��� �� ��� 
	��	� �	  �� ���
 ���� �� � ���
� $�L)� �'	  ��

4

�����
 �� ��� �	���� 
  ������ �
 ��
�	��S �	�� �� .0 70 
� 84

��� �
�
 $�L$�6
4
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����  	����
� ������ ��6�������
 ��*-- ��������  �
� ��� $�L ���	� �	  �� �� ���� �� � ���
� ��


�
 $�L)� -'	 4  ��� �
�,����
� ���������� !��� ��� �	  �� �� �6��	����0 ��� ��5  �	���� 
 
���������� ��� �
�,�����0 
� � ��������� 
���� ���� 5�=0 ��/0 
� ��  ��  
	��4  ��� �	����� �
����
�
�� ��� �	  �� �� ���� 	������4  ���� �
	���� ���
��� 
������ �
��;�0 ��� �
�� �
� �
	�� ���� �� ���
��5  
�������
�4

IF (HpZHexi(����
�[,��5])) THEN
  �	<����
�<�	���
ENDIF

integer*2 ����
�,��5
logical*2 HpZHexi

!����"

����
� �� ��� �	����  
	�� �� ��� ���	� �	  ��4

��5 �� ��� ��6��	� �	���� 
  ���������� �
 �
�,���4  ��5  ��� �� �� ��� ����� 
  .4490
!��� ��� �� �	
� ,�
	� �+	�
 �
 94

�6���
�"

���	�� ��� ���	� �	  �� ]Ibuf � �
������ ]Blarg, A0FE, F2BAAD�4

CALL HpZdefIbuf(Ibuf,19,0)      ! declare input buffer
 
Temp = HpZGetNextToken(DString) ! parse ’Blarg’ and consume
                                ! trailing commas
 
if ( HpZHexi(num,4) ) then      ! parse up to 4 hex characters
 :
 :                              ! code to handle parse failure
endif
 :                              ! in this example, the parse succeeds
 :                              ! with ’num’ = 0xA0FE (41214 decimal);
 :                              ! the leading blank is skipped, but
 :                              ! the trailing comma is NOT consumed
 
Temp = HpZGetNextToken(DString) ! consume the trailing comma
                                ! Temp will be 0
 
if ( HpZHexi(num,2) ) then      ! parse only 2 hex characters this
 :                              ! time
endif
 :                              ! ’num’ will be 0xF2 (242 decimal);
 :                              ! the leading blank is skipped
if ( HpZHexi(num,4) ) then      ! parse remaining 4 characters
 :
endif
 :                              ! ’num’ will be 0xBAAD (47789 decimal)

��� �
�
 $�L1����0 $�LD��A�6��
;��0 ��� $�LD��A�6�*���4
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���� �	��
	���� ��
��� ��� ��*-- ��6�������
 ������������
� 
  � �	���� ���
 ��� �	�����
�
����
� �� ��� 
	��	� �	  �� ���� !�� �� ���� �� � ���
� ��

 �
 $�L)� �'	 4  ��� 
	��	� �� 9
���������� !��� !��� 
������ M��
�4

CALL HpZHexo(�8��)

integer*2 �8��

�6���
��"  ’00A5’, ’FFFF’, ’8000’, ’0000’

��� �
�
 $�L$�6� ��� $�L)��
4

��;+)�"����!#

���� �������P7  	����
� ���	��� ��� �	���� 
  ����� ���������  �
� ��� �	����� �
����
� �
 ���
��� 
  ��� ���	� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� -'	 4

�	��� = HpZIBufRemain()

integer*2 �	���,HpZIBufRemain

��� �
�
 $�L-'	 <���4

��;+)�"�����

���� �	��
	���� ������ ��� �	����� ���	� �
����
� �
 ��� ����� 
  ��� ���	� �	  �� �� ���� �� � ���
�
��

 �
 $�L)� -'	 4  ����
��

�0 ��� �
����
� ��� �� ��� �
 � ,�
	� ������ �� �� ��� ��

��4

CALL HpZIBufReset([�	����	�])

integer*2 �	����	�

!����"

�	����	� �� �� 
���
��
 ��������� �
 ����� � ��� ��! �
����� �
����
�0 !���� 5 �+	�
� ���
����� 
  ��� �	  ��4

��;+)�"*��5

���� �������P7  	����
� ���	��� ��� �	����� ���� 
  ��� �� ��� ���	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� -'	 4  -� ��� �� 	��� �
 ��� �
! �	�� 
  ��� $�L ���	� �	  �� ��� ���� ������4

�	��� = HpZIBufUsed()

integer*2 �	���,HpZIBufUsed

��� �
�
 $�L-'	 ������4
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���	��� � ������ ��������
�  
� ��� �
���
� 
  ��� ���	� �	  �� 2�� �� ���� �� � ��

 �
 $�L)� -�	 3
���� ��� �
����� ���� ������ 
,��4  ���� �� 	�� 	
 �  �� �� ������� �
 
	��	� ��� �	  �� �
 ��� �	�����
�
����
� �� ���� 
  �� ���
� �������4

�
�
�" = HpZIBufUseStrDsc(*��.��)

integer*2 �
�
�",HpZIBufUseStrDsc
integer*4 *��.��


�

*��.�� = HpZIBufUseStrDsc(*��.��)

integer*4 *��.��,HpZIBufUseStrDsc

!����"

�
�
�" �� ��� 
����� 
  ��� ������ !��� $�L-'	 <�����)�� �� ���
���� �� �������P74  �
�
�"
�� �
�
 ���	���� �� ��� ����������4

*��.�� ���	��� ��� ������ ��������
� !��� $�L-'	 <�����)�� �� ���
���� �� �������P94
*��.�� �� �
�
 ���	���� �� ��� �� ��� '����������4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� � M��
�
����� ������ ��������
� ��� ���	��� � ,�
	� 
  M��
4  '���	�� ��� /�����A
�� �����
� 
  � ��������� ������ �
�� �
� �


! M��
�
����� �������0 �� �� ��� ��
���������
����
�����
��� �
 ����; ���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 ��� /�����A
������ ����
��� �
	����� !�

 ��� � �	����� ���
� !��� ���� ���
	���� ��� M��
�
����� �������4

��� �
�
 $�LD��������)��4



�%���,,,,,�����, !����3,����!#��

��;+#������/��#�

���� �
	���� ������� ��� ��,�� ���� ��  �
�� 
  ��� ���� ���� �� �	�����
� �� ��� �	  �� �� ���� �� �
���
� ��

 �
 $�L)� �'	 4

CALL HpZInsertAtFront(����
�,����"���)

integer*2 ����
�(*),����"���

!����"

����
� �� ��� ���� �
 �� �
���� ���
 ��� �	  �� ���,�
	�
� �� ���� �� $�L)� �'	 4

����"��� �� ��� �	���� 
  ���������� �
 �
��4

/
� �6���
�0 �	��
�� ���� ��� �	����� �
������ 
  ��� 
	��	� �	  �� �� BabcdefC4

call HpZInsertAtFront(2h* ,2)   ! stuff ’* ’ into output

��� �
������ !�

 �
! �� B* abcdefC ��� ��� 
	��	� �	  �� �
������ !�

 �� 	������ ���
�����
�4

��;���

���� �
	���� �
���� ��� ��������� �����  �
� � �	  �� �
 ��� �	����� �
����
� �� ��� 
	��	� �	  ��
�� ���� �� � ���
� ��

 �
 $�L)� �'	 4  	���
�  N 5 ��������� ���  ���� ���� �� ��� �	  ��4

CALL HpZmbt(����
�,	���
�,���
�)

integer*2 ����
�(*),	���
�,���
�

!����"

����
� �� � ���;�� ����� �
�������� ��� ����� �
 �� �
����4

	���
� �� ��� 
  ��� ���
 ��� �	  �� 2���,�
	�
� �� ���� �� $�L)� �'	 3  
� ���  ���� ����
�
 �� �
����4

���
� �� ��� �	���� 
  ����� �
 �
��4

��� �
�
 $�L�,�0 $�L�,�0 ��� $�L���4
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��;�����

����  	����
� ��
�,��� � �
����� �
 ��� 
�������� �������� 
�����
� ����� ��� �����
�4  ���
������ �
����� ��� �� ��,��4  -  ��� ������ ���	��� � ���
� �������0 �� �
�� �
 ���
 ��� $�L
�	  �� ��� ���� �
	���� ���� ��� �
������ ���
�����
�4  -  �
�0 ��� �
������ !�

 �� ����� T	�� �� � 
$�LH����%	 ��� ���� ��

��4  A
�� ���� $�L)� �'	  �	�� ��,� ���� ��

�� !��� � �	  �� ��

���� >7 ����� 

��4

�
�
�" = HpZMesss([��])

integer*2 �
�
�",��,HpZMesss

!����"

�
�
�" �� ��� �	���� 
  ����� �� ��� ������� ���	����  �
� ��� 
�������� ������0 �  ���4

�� �� �� 
���
��
 %< �	���� 	��� �
  
�� ��� �����
� �	���� �  ��� �
����� �� ��
B�<C 
� BEGC4

�6���
� ��
����"

ftn7x,q,s
      program hpzmessstest
      implicit none
 
      integer*2 ! variables
     > obuf(0:39),
     > temp
 
     integer*2 ! functions
     > HpZMesss
 
____________________________________________
 
      call HpZDefOBuf(Obuf)
      call HpZmvs(’TM ’)
      Temp = HpZmesss()
      if ( Temp.ne.0 ) then
        call HpZmvs(’ <=== time from HpZMesss call’)
        call HpZWriteLu(1)
      endif
      end

��� �
�
 $�L-�������/�
��0 $�LH����%	0 ��� �����4



�%��%,,,,,�����, !����3,����!#��

��;��(����!#2

���� �
	���� �
���� ������� !���
	� /�����A 
�������
��4  ���� �
	���� �
�� ��� ���� ����� ��
��� /�����A ��������� B�	  =  ��	�CS !���� �	  ��� ��	�  ��� �������4

CALL HpZMoveString(��	�,�	)

character*(*) ��	�,�	

!����"

��	� �� ��� B �
�C ������ ��������
�4

�	 �� ��� B�
C ������ ��������
�4

/�����A �
�� �
� �


! ��� B�	  =  ��	�C �
����	�� �  ��� ������� ��� ���	 ���	��� ������
��������
��0 �	�� �� ��� 
	��	�  �
� ���)��0 !���� ��� ���

� ���� -������P94  ���� �
	���� �
�

����
�� M��
�
����� �������4  ��� ���������
� ������ �� �
��; ������ �� ��� 	�	�
 ������4

���� �
	���� �
�� �
� �
 
,��
�� ����;���4  -� �
,��  �
� 

! �
 ����0 �
 ���� �
	 ��� ����
�  �

4

A
�� ���� ���� �
	���� �
�� A�� 	�� ��� $�L ����� 
������� ���	� 
� 
	��	� �	  ���4

��� �
�
 *
�*�� ��� D��������4

��;�(�

���� �
	���� �
���� ����������  �
� �� ������� �	  �� �
 ��� �	����� �
����
� �� ��� 
	��	� �����
�� ���� �� � ���
� ��

 �
 $�L)� �'	 4

CALL HpZmvc(����
�,����"��)

integer*2 ����
�(*),����"��

!����"

����
� �� ��� �	  �� �
 �� �
����4

����"�� �� ��� �	���� 
  ���������� �� ����
�4

/
� �� ���	� �	  �� 
  �  �����0 ��� 
	��	� 
����� !�

 �� �  �����4

��� �
�
 $�L�,�0 $�L���0 $�L���0 ��� $�L-�������/�
��4
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��;�(�

���� �
	���� �
���� � ������ �
 ��� �	����� �
����
� �� ��� 
	��	� ����� �� ���� �� � ���
� ��

 �

$�L)� �'	 4

   CALL HpZmvs(’string to move’)

�
   CALL HpZmvs(�����
<8������
)

!����"

string to move �� � 
�����
 ���� ������ �
 �
,�4

�����
<8������
 �� � ,�����
� ���
���� �� � ��������� ������ ���� �
������ ��� ������ �
 
�
,�4

/
� �� ���	� ������ 
  �  �����0 ��� 
	��	� 
����� !�

 �� �  �����4

A
�� ���� �� �� 
��� �  ������0 �
�� �� ���� ��� �����0 �
 	�� ������ �
���������
� �� 
�� ��

���
$�L�,�4

/
� �6���
�0

Str1 = ’String number 1’
Str2 = ’String number 2’

call HpZmvs(Str1)
call HpZmvs(Str2)

�� ��� ����
� �


call HpZmvs(Str1//Str2)

��� �
�
 $�L�,�K������0 $�L�,�K*
���

0 $�L�,�0 ��� $�L���4



�%��8,,,,,�����, !����3,����!#��

��;�(�S��#����

���� ��

 �
,�� ��� ������ ������ �� ��� 	��� �
 ��� �	����� �
����
� �� ��� 
	��	� �	  �� �� ���� ��
� ���
� ��

 �
 $�L)� �'	 4  �� ��� ������ �� �
����0 ��� 	������
�� ��������� 2
���
 .8>3 ��
����������� �
 ���� ���� ��� ��6� ��������� ��
	
� �� �
����� �� �	��������� .55 
���
 2�
�	

 755

���
34  ��� 	�������� �
���
� 
  ��� ��*-- ��������� ��� 2
���
 .5544.8>3 !�

 �� �
!���� ��� �

��� �
���

 �
���
� 2
���
 5448>30 ��� B��
���C 2
���
 .>>3 !�

 �� ��
�	��� �� ’_?’.

���� ��

 �� ,��� 	�� 	
 �
 �������� �
���

 ���������� ���� ����
� �� �����	
���� �� ��� ����
� 
�

���	��� �
���
���4

CALL HpZmvs_Control(�"��8������
) 

�

CALL HpZmvs_Control(’_M_[&dB Inverse _[&d@ Non-inverse _L’)

/
� �� ���	� ������ 
  �  �����0 ��� 
	��	� 
����� !�

 �� �� ��� ����� 
  ��7 �
 �4

_@ ==> Nul
_D ==> Eot
_H ==> Bs
_L ==> Ff
_P ==> Dle
_T ==> Dc4
_X ==> Can
_\ ==> Fs
_? ==> Del

_A ==> Soh
_E ==> Enq
_I ==> Tab
_M ==> Cr
_Q ==> Dc1
_U ==> Nak
_Y ==> Em
_] ==> Gs

_B ==> Stx
_F ==> Ack
_J ==> Lf
_N ==> So
_R ==> Dc2
_V ==> Syn
_Z ==> Sub
_^ ==> Rs

_C ==> Etx
_G ==> Bel
_K ==> Vt
_O ==> Si
_S ==> Dc3
_W ==> Etb
_[ ==> Esc
   ==> Us

��� �
�
 $�L�,�0 $�L�,�K������0 ��� $�L)� �'	 4
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��;�(�S������
���� ��

 �
,�� ��� ������ ������ �� ��� 	��� �
 ��� �	����� �
����
� �� ��� 
	��	� �	  �� �� ���� ��
� ���
� ��

 �
 $�L)� �'	 4  �� ��� ������ �� �
����0 ��� 	������
�� ��������� 2
���
 .8>3 ��
���
���� �� �� ������ ��������� 2
���
 8834  ���� ��

 �� 	�� 	
  
� ���������� ��� ������ ��+	�����
������ �
 �
���

 $1 �������
� ���� ��� ��  ��	
� �
 �����	
��� !��� ��� ����
�4  A
�� ���� ���
���������  



!��� �� 	������
�� �� �
� �6������0 ����� 
�� B C �� �����
���� �
 ������
	������
��4

CALL HpZmvs_Escape(�"��8������
)

�

CALL HpZmvs_Escape(’_&dB Inverse _&d@ Non-inverse’)

�� �6���
� ������ �
 ��� 
��" ���
�� 

�; 
  
�
�� 	�
�
��� ������
�	�� 
� ��,���� ,���

������� ��� �	��
� �
 
��� 790 �

	�� .7

��"

CALL HpZmvs_Escape(’_m_H_J_&dB_a24r12C’)

/
� �� ���	� ������ 
  �  �����0 ��� 
	��	� 
����� �� �  �����4

��� �
�
 $�L�,�0 $�L�,�K*
���

0 ��� $�L)� �'	 4

��;�(�S ��2�

���� �	��
	���� ������� 
���� ���������� �� � 8����8 ��������� ��

 	���� 
��� �������� 2����
��������� ��������3 �� ��� $1 7�96 �
������� ��������� ���4  �� �6���
� 
  �
����	����� ��� 
�����
B'C 	���� ��� 
���� ��������� ��� �� ��  



!�"

”&+
/&@
F&L

=
!���� ' �� �
����	���� 
 
���  



!��� ��������

-  �
	� �������
 �
�� �
� ����
�	�� ��� ��
,� ���������� �� � 
���� 
����� B'C0 �� �� �
� �����
� 
 
��
�	���� ��� 
���� ��������� ���4  ���� ������
��� �� �������� 
� �
�� �������
�0 ��� 
���
��
 
�
	��,��
��
� 
� 
�����4

�6���
� ��
���� �������"

call HpZDefOBuf(Obuf)       ! make it BIG, each char needs 26 bytes
call HpZStartLarge          ! must call at start of each “line” of
                            ! large letters (emits 18 bytes)
call HpZmvs_Large(’String’) ! emit large characters
call HpZEndLarge            ! must call to terminate line
                            ! (emits 5 bytes)
call HpZWriteLu(Crt)        ! flush the buffer
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��;	���(�

���� �
	���� �
,�� �� A%� ������ �
 ��� $�L 
	��	� �	  ��4  1��
� �
 ���� ��

0 ������
�M���
� ��

� �

$�LA
��	���� ��� $�L)� �'	  �	�� ��,� ���� ���	��4

CALL HpZNlsMvs(�����
����
�)

integer*2 �����
����
�

!����"

�����
����
� �� ��� ����6 �	���� 
  ��� ������ �
 �� �
,��4

H��� 	��� !��� $�LA
��	����0 ��� ����6 �	���� 
  ��� ������ �	�� �� �� ��� ����� 5 �
 �0 !����
�  �� ��� 
��� ������� �	���� �� ��� ����

�4

��� �
�
 $�LA
��	���� ��� $�L)� �'	 4

��;	��������

���� �
	���� ���� 	� ��� 
��;���  �
� A%� �
 $�L �
	�����4  -� �


!� ������ �
 ��� ������
��

�����
� �
�	
� ���� �� ��� 
	��	� 
  ��� D�A*�� ��
����4

CALL HpZNlsSubset(�	���
���
)

���� �
	���� ���
������ 
�
� � ���������� �	���� 
  ��� A%�  ���	��� �� ���� �� ���	��� ���� ���
�������� �� ��� ����

� ��� �	������  �
� 5 �
 �  !��� �
 �;����� ,�
	��4

��� �
�
 $�*��A
����	 ��� $�LA
��,�4

��;�)�"�����

���� �	��
	���� ������ ��� �	����� �
����
� �
 ��� ����� 
  ��� 
	��	� �	  �� �� ���� �� � ���
� ��


�
 $�L)� �'	 4  ����
��

�0 ��� �
����
� ��� �� ��� �
 ��� ,�
	� ������ �� �� ��� ��

��4

CALL HpZOBufReset([�	����	�])

integer*2 �	����	�

!����"

�	����	� �� �� 
���
��
 ��������� ���� ����� ��� ��� ��! �
����� �
����
�0 !���� 5 �+	�
� ���
����� 
  ��� �	  ��4
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���� �������P7  	����
� ���	��� ��� �	����� ���� 
  ��� �� ��� 
	��	� �	  �� �� ���� �� � ���
� ��


�
 $�L)� �'	 4

�	��� = HpZOBufUsed()

integer*2 �	���,HpZOBufUsed

��;�)�"*��������

���� �������P7  	����
� ���	��� ��� �	����� ���� 
  ��� �� ��� 
	��	� �	  �� �� ���� �� � ���
� ��


�
 $�L)� �'	 4

�
�
�" = HpZOBufUseStrDsc(*��.��)

integer*2 �
�
�",HpZOBufUseStrDsc
integer*4 *��.��


�
*��.�� = HpZOBufUseStrDsc(*��.��)

integer*4 *��.��,HpZOBufUseStrDsc

!����"

�
�
�" �� ��� 
����� 
  ��� ������ !��� $�L�'	 <�����)�� �� ���
���� �� �������P74
�
�
�"  �� �
�
 ���	���� �� ��� ����������4

*��.�� �� �� 
���
��
 ,�����
� ���� ���	��� ��� ���	 ���	��� ������ ��������
�  
� ���  �

��
�
���
� 
  ��� $�L 
	��	� �	  �� !��� $�L�'	 <�����)�� �� ���
���� �� �����
���P94  *��.�� �� �
�
 ���	���� �� ��� �� ��� '����������4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
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CALL HpZOctc(�8���
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���)

integer*2 �8���
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CALL HpZOctd(8���
)

integer*4 8���
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            0 � 00000000000
           –1 � 37777777777
          255 � 00000000377
        65535 � 00000177777
      8640000 � 00040753000
   2147483647 � 17777777777
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CALL HpZOcto(8���
)

integer*2 8���
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CALL HpZOctv(8���
)

integer*2 8���
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CALL HpZPadToCount(�������1�)

integer*2 �������1�
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CALL HpZPadToPosition(�	����	�)

integer*2 �	����	�

!����"
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call HpZsbt(2h *)
call HpZPadToPosition(6)
call HpZsbt(2h *)
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IF (HpZParse(�
����)) THEN 
  ����
 ����

�
� 
ENDIF

integer*2 �
����(15)
logical*2 HpZParse
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&SOURCE_FILE_NAME:1:40:2:200:1000,6  ::22 File=Fred:AT:AT T7::22
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1 02527B 000001B 000010B 000377B 000603B
2 &S 6 0 Fi T7
3 OU 0 0 le 2 blanks
4 RC 0 0 2 blanks 2 blanks
5 E_ 0 0 2 blanks 2 blanks
6 FI 0 0 2 blanks 2 blanks
7 LE 0 0 2 blanks 2 blanks
8 _N 0 0 2 blanks 2 blanks
9 AM 0 0 2 blanks 2 blanks
10 00001 0 0 Fr 0 scode
11 00040 0 00022 AT 00022 crn
12 00002 0 0 AT 0 type
13 00200 0 0 0 0 blks
14 01000 0 0 0 0 reclen
15 0 0 0 0 0 node#
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CALL HpZPlural(�	���)

integer*2 �	���
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ErrorCount = 0 ErrorCount = 1
call HpZdecv(ErrorCount) � ’0’ ’1’
call HpZmvs(’ Error’) � ’0 error’ ’1 error’
call HpZplural(ErrorCount) � ’0 errors’ ’1 error’
call HpZmvs(’ detected’) � ’0 errors detected’ ’1 error detected
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CALL HpZPrintPort(�	��<��,�������<��,0������
)

integer*2 �	��<��,�������<��,0������
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Ftn7x,l
      program HpCrt
      integer params(5),obuf(0:79)
      call rmpar(params)
      call HpZDefOBuf(Obuf)
      call HpZPrintPort(params(1),params(2),params(3))
      end

��� ���	
���� ����
�� �� ����
�� �
 ���  
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Status for LU 32:
Device Driver:    DDC01 Rev. 5.00    Driver type = 05
Interface Driver: ID800 Rev. 5.00
  Firmware:             Rev.  4.10
CN20: Primary Program:    PROMT (Enabled)
CN40: Secondary Program:        (Disabled)
CN17: 000000B No user defined terminator
CN22:  32767  Timeout = 327.39 seconds
CN30: 010132B Frame=8/1 No par. BRG1 9600 baud Port 2
CN31: 000000B
CN33: 000000B
CN34: 000002B ENQ/ACK Protocol
DV20: 000077B Character mode
 DVT Address: 44227B;  IFT Address: 47203B
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call HpZPushObuf(%
0$���)

integer*2 %
0$���(*)
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CALL HpZQandA(��,��	���,����,��
�
�",������,�
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integer*2 ��,����(*),��
�
�",������,�
�
�"
character*(*) ��	���
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$�L)� -�	 4  ���� �� 	�� 	
 �
 ���� �
����	��� �	�� �� ’File=Data::20’  ��� �� �������� � ���
��� ’File=’  �� ���
���M�� �
 �6����� ��� ’Data::20’  �
���
� 
  ��� ������4

CALL HpZReScan()

��� �
�
 $�L1���� ��� $�L-�	 �����4
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��;����#	������

���� �
	���� �
���� ��� �
��� �	����
 �+	�,�
���  
� ��� ��,�� ,�
	� �� ��� �	����� �
����
� ��
��� 
	��	� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� �'	 4

CALL HpZRomanNumeral(8���
,���
)

integer*2 8���
,���


!����"

8���
 �� ��� ,�
	� �
 �� 
	��	� �� �
��� �	����
�4

���
 �� �  
�� �
 �������� 	�������� 
� 

!������ 
	��	�4  -  ���
 �� 50 
	��	� !�

 �� 	��
�������S �  ���
 �� �
�M��
0 
	��	� !�

 �� 

!������4

	��� ��� �
��� �	����
 ������ �
�� �
� ��
,���  
� � M��
 
�  
� ������,� �	��
����4  ���� ���
��������
� �� 
������ �
 � ��6��	� ���	� ,�
	� 
  8===4  -  �
�	���� 
	����� ��� ����� . �
 8=== �� ������ �
 ���� �
	����0 �� !�

 ���� �� 
� �

$�L���,  
� ����
�� �� � ������
 �	����4

��� �����	� 
	��	� ������� �� . ��������� ��� ��� ��6��	� �� .: ����������  
� ��� ,�
	� 3888
(MMMDCCCLXXXVIII) 4

��� ,�
	�� 	��� ���"

I 1
V 5
X 10
L 50
C 100
D 500
M 1000

� 

!�� ,�
	� �	���� �
 ��� 
� � �	�������0 2 
� �6���
�0 �6 N =34  � �	���� �
 ��� ����� ���� 2 
�
�6���
�0 6�� N .734
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��;���

���� �
	���� ��
��� ��� 

!�� ���� 
  ��� ������ ,�
	� ���
 ��� �	����� �
����
� �� ���� �� � ���
�
��

 �
 $�L)� �'	 4

CALL HpZsbt(8���
)

integer*2 8���


!����"

8���
 �� ��� ,�����
� 
� �
������ !�
�� 

!�� ���� �� �
 �� ��
���4

��� 
	��	� 
����� �� 
�� ����4

�6���
�"

CALL HpZsbt(7)       ! Put an ASCII ’BELL’ in the output buffer.

��� �
�
 $�L�,�4

��;���!�)��#D�

���� �
	���� ��T	��� ��� �������
 �
����� �
 ��� 
	��	� �	  ��  
� ��� $�L �
	����� �
 B�����C
����
��� �
��;� �� 
�� ��

��� $�LH����%	0 $�L/��H����0 
� ��� 
  ��� 
���� �
	����� ����  
	��
��� 
	��	� �	  ��4  ��� $�L4

CALL HpZStripBlanks

��;*5���

���� �	��
	���� ��
��� ��� 	������� ������
 ������������
� 
  � �	���� �� ��� �	����� �
����
� ��
��� 
	��	� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� �'	 4

CALL HpZUdeco(�8���
)

integer*2 �8���


!����"

�8���
 �� ��� �	���� �
 �� ��
���4

��� 
	��	� !�

 �� : ���������� !��� !��� 
������ M��
� �� ��+	����4

�6���
��"  ’65536’, ’32768’, ’00005’, ’00000’

��� �
�
 $�L<���, ��� $�L)���4
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��;*5��(

���� �	��
	���� �
�,���� � �	���� ���
 	������� ������
 ������������
�0 �	��������� 
������
M��
�4  ��� �
�,����
� �� �
�� �
 ��� �	  �� �� ���� �� � ���
� ��

 �
 $�L)� �'	 4

CALL HpZUdecv(�8���
)

integer*2 �8���


��� 
	��	� 
����� !�

 �� �� ��� ����� 
  . �
 � �����4

��� �
�
 $�L)��
4

��;4�!���=���8

1�� 
�� �� �E�* .9 ��

  �
� ��� $�L ����� 
������� �	  ��4

call HpZWriteExec14

���� �
	���� !����� ��� �	����� �
������ 
  ��� $�L 
	��	� �	  �� �
 ��� ������ ��
���� ,�� ��
�E�* .9 ��

4  F	�� �� �� �� $�LH����%	 ��

0 ��� �	  �� �
������ ��� ����� �
 �
��� ��� �	  ��4

��;4�!�� *

���� �	��
	���� !����� ��� �	����� �
������ 
  ��� 
	��	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� �'	  �
 ��� %< ����� ���4  ��� �	����� �	  �� �
����� �� ���� ����� �
 ��� ��������� 
  ���
�	  ��4  ��� !���� �� �
�� !��� �� �E�* ��

 �
 ��� %< �	�� �� �� ��� ����� 5 �
 �84

CALL HpZWriteLu(��)

integer*2 ��

��� �
�
 $�LH����E%<0 $�L/��H����0 $�L)� �'	 0 $�L)��,0 $�L�����0 ���
$�LH�����
������4

��;4�!��E *

���� �	��
	���� !����� ��� �	����� �
������ 
  ��� 
	��	� �	  �� �� ���� �� � ���
� ��

 �

$�L)� �'	  �
 ��� %< ����� ���4  ��� �	����� �	  �� �
����� �� ���� ����� �
 ��� ��������� 
  ���
�	  ��4  ��� !���� �� �
�� !��� �� E%<�E ��

 �
 ��� %< ��� �� ������� ���� �84  ��� %<
��������� ��
	
� �� � �
	�
� !
�� �� ���  
�� �6������ �� E%<�E4

CALL HpZWriteXLu(��)

integer*2 ��

��� �
�
 $�L/��H����0 $�L)� �'	 0 ��� $�L)��,4
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��;4�!��
����!#2

���� �
	���� �
���� ��� �
������ 
  ��� $�L 
	��	� �	  �� �
 � ������4  ��� 
	��	� ������ !�

 ��
������ !��� �
��;�0 �� ���������4

�
�
�" = HpZWriteToString(�����
)

integer*2 �
�
�"
character*(*) �����


!����"

�
�
�" �� ��� �	���� 
  ����� �
,�� �
 �����
S �� !�

 �� ��� �����	� 
  ��� ������ 
�����
��� ��� 
��	���� 
����� 
  $�L 
	��	� �	  ��4

�����
 �� ��� ������ ���� �����,�� ��� �	����� �
������ 
  ��� $�L 
	��	� �	  ��4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� � M��
�
����� ������ ��������
� ��� ���	��� � ,�
	� 
  M��
4  '���	�� ��� /�����A
�� �����
� 
  � ��������� ������ �
�� �
� �


! M��
�
����� �������0 �� �� ��� ��
���������
����
�����
��� �
 ����; ���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 ��� /�����A
������ ����
��� �
	����� !�

 ��� � �	����� ���
� !��� ���� ���
	���� ��� M��
�
����� �������4

��� �
�
 $�LH����%<0 $�L/��H����0 $�L�'	 ���)��0 ��� $�L�����4

��;-����	�

���� �
	���� �� 	��� �
 ��; +	����
�� !���� ��� �
 �� ���!���� !��� � ��� 
� �
 ����
��� 
�
�4  ���
�	��
� ������� 
� ��� ��
��� 
��� � ��� ��� +	����
�4  ��� ���!�� �� ���� !��� E��-�0 !��� ���

����
��4  ��� 	��� ��� ���!�� ��� ��
��� !��� ��� 
  W� �� &� &� �� � �
 A
 A� ��X0 ��� 
����
������ ���� ������ !��� ��
�� ����������0 
� � �������� ���	�� �� ����
 4

IF (HpZYesOrNo(���,��	���,����)) THEN ���0
�<0��<�
� ENDIF

integer*2 ���,����
character*(*) ��	���
logical*2 HpZYesOrNo

���� = 2hNO B�
� �
����� ���0
� �	 %$F ���� �
 ��� ���
����
'

!����"

��� �� ��� %< �	���� 
  ��� 	����� �������
 2�� ��� ����� .447::34

��	��� �� ��� ��
��� ������  
� ��� 	���4
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���� ���	��� ��� 	����� ���!�� �
 ��� +	����
�0 �  ������� 2���� ��0 ��� 	��� ��� �
� ���
���	��34  '� ������� ���� �� 
�� ��� ��

0 �
	 ��� �
���

 ��� ����
� ���� 
��	�� !���
��� 	��� ����� 
�
� � �������� ���	��4

������
 ,�
	� ���	
���� ����
� �  	��� 
     
� ����    ���� �������� ���	�� 
�
�

2hYE  	����
� ���	��� .true.
 

2hNO  	����
� ���	��� .false.

�������� �
�� ��� 	��� ��  
���� �
 ���� � ��� 
� �
 ����
���S
  	����
� !�

 �� .true.  
� .false.  ���
�����
�

-� �

 �����0 ���� �
������ ������ 7�&� 
� 7�A� � ��� ��� ��

 �
��
����0 �,�� �  ���
	��� ����� � 

!������ ���!��4  ��� +	����
� �� �������� �  ��� ���� ����� 
	�4

����!�# )
 �
� ���� � �
������  
� ��� ���� ��������� ����	�� �� �� �
����� �� ���
$�L&����A
 ��

4  /
� �6���
�0 �
 �
� �
 ���  



!���"

if (HpZYesOrNo(Crt,’prompt’,2hYE) then

�
 ��;� �� 
�,�
	� �
 ��� 	��� !��� ��� �� �	
�� ���0 ��� ��
��� ������ ��� �
����� ������
��+	����� �
 ����
�� ��� �� �	
� ���!�� �� ��,���� ,���
4  ��� �	��
� ��� ���� �� �
����
��� ���;

� ��� �� �	
� �
 �� !�

 �� 
,��!������ �  ��� 	��� �
�� �
� !��� ��� �� �	
� ,�
	�4  /
� �6���
�"

ians = 2hYE
if (HpZYesOrNo(crt,’OK? ^[&dBY ^[&d@^[D^[D’,ians) ...

��� ��
,� ��
��� ������ �� ���� ���� �� B� I Q ��� _ � ' & ����� ��� _ � aC �
 ����
�� ��� & ��
��,���� ,���
0  



!�� �� B��� ) ��� )C �
 �	� ��� �	��
� 	���� ��� &4

A
�� ���� ���� �
	���� �
�� A�� 	�� ��� $�L ����� 
������� ���	� 
� 
	��	� �	  ���4

��� �
�
 $�LG���� ��� $�*������*���4
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�!#������

���� �
	���� �	�
�� � ������ ��������
� ���� ��������� � ������� �	������� 
  ��� ������ ���� ��
������ �
 ��4  %������ ��� ����
��� �
��;� ��� �
� ���
	��� �� ��� 
	��	� ������ ��������
�4

��1
�����
 = MinStrDsc(�����
)

integer*4 ��1
�����
,MinStrDsc
character*(*) �����


!����"

��1
�����
 ���	��� ��� ���	 ���	��� ������ ��������
�4

�����
 �� ��� ���	� ������4

-� �� �
����
�  
� �
 ���������� �
 �� ��������� �� ��� ���	� �	  ��0 ������ ����	�� �� !�� ����� �

����� !��� 
� ����	�� �

 ��� �
;��� ��,� �
����� ���� ������4  H��� ���� �������0 ����  	����
�
�	�
�� � M��
�
����� ������ ��������
� ��� ���	��� � ,�
	� 
  M��
4  '���	�� ��� /�����A
�� �����
� 
  � ��������� ������ �
�� �
� �


! M��
�
����� �������0 �� �� ��� ��
���������
����
�����
��� �
 ����; ���  	����
� ���	�� �
 ���� �	�� �����4  -  ���� �� �
� �
��0 ��� /�����A
������ ����
��� �
	����� !�

 ��� � �	����� ���
� !��� ���� ���
	���� ��� M��
�
����� �������4

��� �
�
 ���)��4


��)!����

���� �	��
	���� �
���� ��� %�' 
  ��� ��������� !
�� �
 � ��� ��� 2� ���;�� ����� 
  ����34  H���
��������� ���� ��
,� 87 I�����0 �
	 �	�� 	�� ������,� �	�����0 �� ����� �� �
 	������� �������
���� ���� �� /�����A 
� ��� $1 .5554

CALL PutBitMap(�
0���,������,���
5)

integer*2 �
0���,�����(*),������

!����"

�
0��� �� ��� !
�� !�
�� %�' �� �
 �� �
���� ���
 ��� ��� ���4

������ �� ����� 
  	� �
 �9I ���� 295=� !
���34

���
5 �� ��� ��� �	���� �
 �� �
�����S !���� 5 �� ��� ��' 
  ���  ���� !
�� 
  ������(

��� �
�
 ���'�����0 ����'�����0 �������'�����0 ��� D��'�����4
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��)3��

���� �
	���� !����� � ���� ���
 � ���;�� ����� 
  �����4  ��� 
� ��
�� ���� 
  ���  ���� !
�� 
  �����
�� ���� �	���� 54  ��� ����� ��� �� 	� �
 87I !
���0 �
 ��� ���� ����6 ��� ��  �
� 5 �
 �:0:8:4
��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �
 	������� ������� ���� ����
�� /�����A4

CALL PutByte(�
0���
,�����,���
5)

integer*2 �
0���
,�����(*),���
5

!����"

�
0���
 �� ��� ,�
	� 
  ��� ���� �
 �� ��
��� ���
 �����4  ��� ,�
	� �� �
������� �� ��� 

!
���� 
  �
0���
S ��� ���� ���� �� ���
���4

����� �� ��� ����� �
 �� �
�� ���4

���
5 �� ��� ����6 ���
 ����� ���������� ��� ���� �
 �� �
����� !���� ���� 5 �� ��� 
� � ����

  ���  ���� !
�� 
  �����4

��� �
�
 D��'���4


���!�!�

���� �
	���� !����� � ����� 2��� ����3 ���
 � ���;�� ����� 
  ������4  ��� 
� ��
�� �!
 ���� 
  ���  ����
!
�� 
  ����� �� ����� �	���� 54  ��� ����6 �� 
������ �
 .� ����0 !���� 
����� ��� 
����� 
  ��� �����
�
 ?I !
���4  )���� ��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �

	������� ������� ���� ���� �� /�����A4

CALL = PutDibit(�0	���8���
,�����,���
5)

integer*2 �0	���8���
,�����(*),���
5

!����"

�0	���8���
 �� ��� ,�
	� 
  ��� ����� �
 �� ��
��� ���
 �����4  ��� ,�
	� �� �
������� �� ��� 

!��
7 ���� 
  �0	���8���
S 	���� ���� ��� �	

4

����� �� ��� ����� �
 �� �
�� ���4

���
5 �� ��� ����6 ���
 ��� ����� ���������� ��� ����� �
 �� !������ !���� ����� �	���� 5 ��
��� 
� ��
�� �!
 ���� 
  ���  ���� !
�� 
  �����4

��� �
�
 D��)����4
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��	!����

���� �
	���� !����� � ����
� 29 ����3 ���
 � ���;�� ����� 
  ����
��4  ��� 
� ��
��  
	� ���� 
  ���
 ���� !
�� 
  ����� �� ����
� �	���� 54  ��� ����6 �� 
������ �
 .� ����0 !���� 
����� ��� 
����� 
  ���
����� �
 .�I !
���4  A���
� ��������� ��
,� 870>�> 


; 
�;� ������,� �	����� ����	�� ����� �� �

	������� ������� ���� ���� �� /�����A 
� ��� $1 .5554

CALL PutNibble(�
0�����
,�����,���
5)

integer*2 �
0�����
,�����(*),���
5

!����"

�
0�����
 �� ��� ,�
	� 
  ��� ����
� �
 �� ��
��� ���
 �����4  ��� ,�
	� �� �
������� �� ��� 

!�
�� 9 ���� 
  �
0�����
S ��� 	���� .7 ���� ��� �	

4

����� �� ��� ����� ���� !�
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